CSIR - NATIONAL METALLURGICAL LABORATORY
(Council of Scientific & Industrial Research)
Burmamines, Jamshedpur-831007

No.2-NML{183)2025 E-I Date:11-07-2025
NOTICE
Ref: CSIR-NML Advt. No. 02 /2025.

The Written Exam for the posts of JSA (G/F&A/S&P) has been conducted on
11th of July, 2025. The Question booklets and Answer keys thereto of the said
exam are attached herewith for information of the candidates.

Representations, if any, from the candidates who appeared in the
aforementioned exam, should be e-mailed to recruitment?2025@admn.nml.in |,
from their registered e-mail Id (as mentioned in the application from), with the
subject ‘Representation-Written exam’, on or before 13th of July, 2025. Any
representation received after the given date shall not be entertained
whatsoever.

The candidate must write his/her name and Application No. in the
representation.

sd/-
Administrative Officer



1.

SET:A

JSAPAPER 1 -5ET 1

APTE, | FETETATE A Avell el o |00 Rl 8w genere @ A A e we gl i 150 R 2
ol e i S ol o sl o e )
The speed of the train traveling from Nagpur to Allahabad is [00 km/he when traveling from Allahabad to Nagpur, its
speed is 130 km/he. Find the average speed during the whole journey.

A 123 feA e, KM/HR

B. 75 Fauma. KMHR

C. 135 frdifan, KM/HR

D120 s fra KM/HR

AT HF-3TFAT FATHT F BT U 7w § e 5y wwen w4 & 10 o aw fww T0% o, 5wl Fam % 15 e
e fem 60% = =i diwd w25 sl @ s dfa 80% an 36wl & wd e f i o wn ani?
Students of three different classes appeared in the common examination. the pass average of 10 students of the first
class was 7070, the pass average of 13 students of the second class was 6004, and the pass average of 23 students of the third
class was B0%s, what will be the average pass rate of all students of the three classes?

A T4

B. 75%

C. 69%

D.72%

B0 memal =1 wlvoy 42 8w 5 ofw gemd = & awef £ 85 demedi wnosiom 45 8w # 5 gl sl g
i
The average of 80 numbers is 42 when 3 more numbers are included, the average of 83 numbers becomes 43. find the
average of 5 numbers.

AR

B. 89

C.o3

D 98

4, afe wrg w16 24 4 300 & st 2, 9 8 and 3 A Feed & amfi?

5.

1T a sum doubles in 16 vears, how much will it be in 8 vears?
A 112 o times
B. 113 " times
C. 114 7 times
D. 134  times

12, 13, 18 =it 20 &Fm F1 260 § 901 OF S0 ST S S5 4 S A
What is the least number of soldiers that ean be drawn up in troops of 12, 13, 18 and 20 soldiers and also in form ofa
solid square?
A G0
B. 400
C. 1600
D. 2500
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6. v HEE 1 60% 91 wEF 7 o A e # | 5% wes s 7.5% oefE = fm T g fow w f ool fe
a2 o et = w90 F At S0% gz g T S i S w6 R, S0 A WA A R 6w g o A
50% == wmdft e 8 g we % T R
In an institute, 60% of the students are bovs and the rest are girls. further. 13% of the bovs and 7.3% of the girls are getting
a fee waiver. if the number of those getting a fee waiver 18 W. find the total number of students getting 30% concessions
ifiLis given that 30% of those not getting a fee waiver are eligible to get half fee concession?
A 360
B 280
C. 320
0. 330

T fifmigiefinrm i s prffa wd s dom s mma | 53 1994 50 =68 i fmm 20 53
i e # At 1994 =i 1995 6 qeedifn 7 8% wa Fra=iw B | w9, 1996 =1 <5 $i wafm fime
i 7
The rate of increase of the price of sugar is observed 1o be twa percent more than the inflation rate expressed in a percentage,
the price of supar. on January 1. 2014 is Rs. 20 per kg. the inflation rates of the vears 2004 and 20113 are expected to be
B% each. the expected price of sugar on January 1, 2016 would be
A RS. 23.60
B.RS. 2450
C.RS. 24.20
D_RS. 24.60

8, wmamemantlAs . wwan |2 FEEram e ?
What is the sum of the first 12 terms of an arithmetic progression 1.3, 3.......
A 67
B.45
C 144
D. %

9. M A®m23=BF TN =Cw06%TA:B (-
If25efa=73% ol b=0bofc.thena:b:cis
A2:3:3
B.3:4:3
Cod4:5:0
D.G:g:10

10, v %imm gy Fev 3 i ge § | e ot fiemer 36 wfex g2 o of 7% s e ) 5 o g e &, 91w
frrsm 3 gy il ot = w3 i
A dishonest milk man mixed | litre of water for every 3 litres of milk and thus made up 36 litres of milk, ifhe now adds
15 litres of milk to mixture, find the ratio of milk and water in the new mixture:
A 12:5
1403
il
9:-

[ Y R w
= 12
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11. 2 et apwan awt e w4 25% s5ehien & 50 6 wliet s @ g 969 3 40% stewres 21 8f @ 8 & #1110

FATZT e TR A O ST R A S0 s T 3 s e B A i s T vl w87
A vessel of capacity 2 litre has 23% alcohol and another vessel of capacit 6 litre had 40% aleohol, the total Tiguid of 8
litre was poured out in a vessel of capacity 10 litre and thus the rest part of the vessel was filled with the water, what
is the new concentration of mixture ?

A 20%

B. 49%

C.31%

D. 1%

12, v remgt | fime % 550 sfer off i 7w st # ofe o 7w 45 e # 33 Rrmniter i 7 7 =9l & 9 a1t =7 ST

=7 77
Atrain covers a distance of 350 metres in | minute, whereas a bus covers a distance of 33 kms in 43 minutes. The ratio
of their speeds is;
A 4:3
B.3:3
£.3:4
B.5:3

13, vs gammn >0t Wit W e qed 4 30% wfaw e s w @ siw Bl 10% gz 3 R A s e

4
A shopheeper marks his goods 30% above his cost price but allows a discount of 10% at the time of sale, His gain is:
A 21%
B. 20%
G 18%
D. 17

14, = g 1 Hiwm 920 = # uF ww w0 A g 9 e o e g fem 742,90 w5 w1 e A ) 9w el g i
= 15% # a1 gedi gz 3w 7
An article is listed at Rs, 920, A customer pays Rs, 742,90 for it afier getting two successive discounts, 1T the rate of first
discount is [5%, the rate of 2nd discount is:
A 3y
B. 5%
G 8%
D 12%

15, = = 31 200 w7 51 § oF fomest g@a #) e 51 SEH w1 9ue w & e g e e S 8 6w s

afererreft w10 frdtiaer si || fedt/aer i nf & qrr 8 71 6 e & am =96 s 3 7w 87
A thiel is noticed by a policeman from a distance of 200 metres the thief starts running and the policeman chases
him, The thiefand the policeman run at the rate of 10 kmvhr and 11 knvhr respectively, What is the distance between
them after 6 minutes?

A 100 vz meter

B. 190 drex meter

C. 200 wizx meter

D. 150 drr meter
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16, sz A w3992 910 R 5 3 Tz w3 sl e B w5 e e ) o s A, B sl C o a2 1 slhaes
14 579z W % wd £, 01 svhe degen C W1 0 g e W A e e w87
Computer a takes 3 minutes to process an input while computer b takes 3 minutes. [f computers a, b and ¢ can process an
average of 14 inputs in one hour, how many minutes does computer ¢ alone 1ake to process one input ?
A 4 fmr minutes
B. & e minutes

C. 10 fme minutes
0. 12 %= minutes

17. ot A s B fasrr ok s 5 T 8 o st 31 a3 A5 sl arefens s & 90 Svreren 4 =7 B &, 1 =

3 i & g B | sk s g0 s 3 g A e B i ?
Two workers a and b working together completed a job in 3 days. Ifa had worked twice as efficlently as he actually did.
the work weuld have been completed in 3 days. To complete the job alone, a would require?

A 515 Fedays

B. 6114 = days

C. 7112 T days

D.83/4 fm days

1 8. = wwesi @ =1 3 o A etk TR i w88 DT o o § ol O e, U i I U S I R o TR

st & =7
(me man ot two women or three bovs can do a piece of work in 88 days. One man, one woman and one bov will do it
in?

A 44 e days

B. 24 &= days

C. 48 = days

D. 20 = days

19. ALLAHABAD 7= % sz =it W fir #f & =yt B = o 77
In how many different ways can the letters of the word ALLAHABAD be arranged?
A 3780
B. 1490
C. 7560
D.2520

20, Awrr F 35 Fran w5 v, T i 614 vl Ben 2, = v i e O B ww F A9 ma ey fiem
A B o Fimm 695 vy ufa frm # R o 1 767 wod wfy Fen o @ @ dsmmn o | 8% sy safei frem ) R
4 B W o =Ee qEer 1 o (e o) @
35 kg of type a sandal powder, which costs Rs. 614 per K. was mixed with a certain amount of type b sandal powder, which
costs Rs, 693 per kg, Then the mixtuce was sold at the rate of Rs, 767 per kg and [8% profit was carned, What was the
amount (in kg) of type b sandal powder in the mixture?
A 2= KG
B. 28 wwm KG
C.32FHmKG
D 36%m KG
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21, v A ¥ vy A1 s dr R, vk 12 ¥ e i gen L6 W g w15 S apaen @ st a9d 3 o 3 @At
Faer saarer & forermen =nfiea?
A gold smith has two qualities of gold, one of 12 carats and another ol 16 carats purity. In what proportion should

he mix both to make an ornament of 13 carats purity 7
A1l

bed I

]
A
o
|

C.
D.

L]

22, v firm vy # A i oo srpem 3 0 2 8 af ww Py o 8 250 s e e e g A e o w6 g @)

A & 1 Y w § o A (o §) e 8T
An alloy contains copper and tin in the ratio 3 : 2, 172350 gm of copper is added to this alloy then copper in it
becomes double the quantity of tin in it What is the amount (in gm) of tn in the alloy?

A 250

B 750

G 1000

D 500

23w st wwet v s § e @ aee A 1S ude R 1/ et e i awdl = 203 sy R are S
T FEae w A e !
Rahul and Bhanti are pariners in a business, Rahul contributes 1/4th capital for 15 months and bharti received 23 of

profit. For how long Bharti money was used.
A 8 i months

B0 = months
C. 1] = months
0. 17 a8 months

24 e, e i At o o orEE 29 B aee 3 172 T, swma 1/3 fe s i g afie T e £ e
ST A
Rahul, Arun and Sumit started a business, Rahul invested 1/2 part, Arun 1/3 part and rest of the capital was invested
by Sumit. The ratio of their profits will be 7
A3l

V. amEmXimYFmnmamm |l 12t mrayaam 2 309k X3 8 wn F fim o = Fem
e, @t Y 7 = %1 Fam e e o T e
The ratio of investments of two partners x and v 15 11 ¢ |2 and the ratio of their profit is 2 - 3. if x invested the money for 8 months,
then the time for which y invested the money is 7
A 8§ 55 months
B. 9 «# months
C. 10 =% months
D. 11 w# months
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26, wr i gown wdia 0 g e Frn B B see sl R anft of sitfive w0 @ % @ g wen B ol s o0 e g 24 B

ot s aw e o wr 30° 5w e &, @ o fe e wogE?
A trew breaks and falls 1o the ground such that its upper part is still partially artached o s stem. At what height did it
break. if the original height of the tree was 24 meter and it makes an angle of 30° with the ground?

A 12 meter

B 8 meter

G 9 meter

D. 7 meter

27. v Fifim wwofin o snbnfiE w0 @ 3 wn 3 & 9wl s o vw o o e A w st | 80 s i ol det
st # warst ot w1 0% ® ot ofin =2

On a certain sum of money, the difference between the compound interest for a vear pavable half vearly. and the simple
imterest for a vear is Rs, 180, [f the rate of interest in both the cases is 10%, then the sum is=7

A Rs, 60000 s

B. Rs. 72000 5w

C. Rs. 62000 s
D. Rs, 54000 s

28, af Forft Tafemm il w0 5% ufi ok o S0a 2 ot o Tom wegte sara sf e sar ok ol o s 20 59 R, A o =

2

1 the difference between the compound interest and simple interest on a certain sum at the rate of 3% per annum for
2 vears is Rs. 20, then the sum is =17

A Rs. 2000 sy

B. Rs. 4000

C. Rs. 6000 7

D_Rs. 8000

20, st sity e 37w e 723 % o A R 9 6 7 aE T g a A 503w A 39 s o et @l
The ages of Samina and Subana aee in the ratio of 7+ 3 respectively. ARer 6 years, the ratio of their ages will be 52 3.
What is the difference in their ages?

A 63 years
B. 8 9f years
C. 10t vears

D. 12 = years

30, 3 b s X ot amg Y o ey wrg 3 off o ot s 8 2 f sy Y of s o et B s s 2L X 8 1 2 ad et

A G E e R
X's age 3 vears ago was three times the present age of v, At present 2's age is twice the age of v, Also zis 12 vears
viunger than x. What is the present age of 27

A 15 o vears

B. 24 9 years

C. 12 7 years

D18 7 years

31 v et o) o el g 72 42 A P e g w7
How many rotations will the hour hand of a elock complete in 72 hours?
A3
B 6
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C.9
D.12

32, 14 sz X 9 et & st & el =1 wwt & Tow 63 & 9 fred e sefra o s nfi?
How many metres of carpet 63 em wide will be required to cover the floor of a room 14 metres by @ metres 7
A 183 bz metres

B. 200z metres
G210 d=r metres
D220 $iz METERS

33, uf & i o ol o sepma 2 0 3 A e o s w37
The ratio of the circumterences of two circles is 2 3, What is the ratio of their areas ?
A3
B.4:9
C.9:4
B35

34, v e 1 G | &t wgn ot et @ A swen swe 22 0 G Sy e # g g e w27

The area of a cirele is increased by 22 sq. Cm if its radius is increased by | em. [he priginal radius of the circle is ;
A 3w em

B. 4 #frem
C. 8wy em
D. 6 em

35, %1 o5 vw & Fx T A S-S0 SN T4 W A w8 G e el 3 dter ol 10 Fem B A s A
sifrepm st it = 27
Two bows are running on two diTerent circular paths with same centre. 17 their radii are 5 m and 10 m. the
maximuim possible distance between them is :
A5 d=M
B 10dmM

C. 5% M
D. 20 s M

36, 6 siten et s 4 ot A3 o 35 | ofien 25 8 o mend e o B seem ol s w s daee e 37
Acistern 6m long and 4 m wide contains water up o a depth of 1 m 23 em. The total area of the wet surface is:
A 49 M?
B. 50 # /M
C. 53.5 s /M’
D. 553 M’

37, srafes s 2 i avst uw e aren & wverm F ol 6 e of g S o & ow deemen 8 0 s B B s o e
60 5t B 30 Bz 8 ot =1 o feaen wg smem?

Water flows out through a circular pipe whose internal diameter is 2 em. at the rate of & metres per second into a ¢vlindrical
tank. the radius of whose base is 60 cm. By how much will the level of water rise in 30 minuges ?
A 2 M

B. 3= M

Page 7 0f 21



38.

40,

41.

42,

43,

C. 44m M
D 5#mM

o e w52 @ oo 400wt 29 ikt B geeh drard 2 i B aft v © e @ g | dit g @ A
(}.5 mr &, o o = oww B

The dimensions of an open hox are 32 cm = 40 cm = 28 em. 1t thickness is 2 em. [f | ewem of metal used in the box
weight 0.5 gm, then the weight of the box §s :

A 6.832 = KG
B 7376 W KG
C. 7.76 & KG

D836 faan KRG

. 1 31 awell den g e & T st a oene 8 3w e 4 |8 S5 S 8, 1 3 I A o) qF 6w B -

A two-digit number is such that the product of the digits is 8. When I8 is added to the number, then the digits are
reversed. The number is:

ATE

B.24

C.42

D. &l

21 AT AT W S A A AT T E S A W 3eE o W e w f e ge wen @ | 8 @ & wen
w1 @7
Atwo-digit number is 7 times the sum of its two digits, The number that is formed by reversing its digits is 18 less than
the original number. What is the number?

A4

B. 52

C.62

D.m

T2 gt ¢ Fawd giad wm § 4 afg s g oam § 10 & w5 aa &7
A number whose fifth part increase by 4 is egual 1o its fourth part diminished by 10, 15
A 240
B 260
C.270
D. 280

5% wad B g 4, 6, 8, 12 i 16 4 fawtss w0 m oot fafa g im 2 smm 2 = 7
The least number which when divided by 4, 6. 8, 12 and 16 leaves remainder of 2 in each ease is =7
A 46
B.48
C. 30
D.56

7 sensdl 12906 +in 14818 = == wymdes (HCF) 478 81 2= srem ammaed (LOM ) = 2
The HCF of two number 12906 and [4818 is 478, Their LCM s ¥

A 400086

B_ 200043
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C. 600129
D. 800172

44,12, 15, |8 o 27 & % weiw & i e wew w4 o s w a2
The largest 4-digit number exactly divisible by each of 12, 13, 1§ and 27 is?
A 9690
B. 9720
C. 9930
D. 9960

45, sifammy Feet Franfdat & afts | 001 s sie 910 e go oo Faefon o = ot 3 e wes FaardT ot s s 9
The maximum number of students among swhom 1001 pens and 910 pencils can be distributed in such a way that each
student gets the same number of pens and same number of pencils is =7

A 0]
B 910
C. 1001
D. 1911

46, 0O01+0.015HL00115=

A 0173

B. 0.00173
C.0.0175
D. 0.000175

47. 2% 2994 + 14.5= 172, 2994 + 1 45=7
12994+ 14.5= 172, then 29.94 + | 45="7
A 0172
B.L72
C.17.2
D. 172

48. 1.5X 125X 05=

A 09575
B. 09275
C.0.9375
D. 0.9755

49, v &= F v AwE F few 798w o s 8 S, wE o o 2024 5% o F e g e e

ST 4t
A canteen requires 798 bananas for a week. Total how many bananas did it require for the months of January, February
and March 20247

A 10277

B 10374

C. 10480

D 103586
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S0, ufz 5 93z «fn 8 i & Fom 145785 #0241 15 732 ok 24 =5 1 dmm w 2017
The cost of 3 pendants and 8 chains is Rs, 143785, What would be the cost of 13 pendants and 24 chains 7
A Rs 325285wm
B. Rs. 439355 #n
C.Rs. 495825 vm
D.Rs. 437335 smu

S1. o Brban Pl s o) 3ud i e an 25% 8 e ot daeer 20% =y =00 s 3 af ag) w1 anm-ge 15% su
Forear smen B 1 ) v el ifeem e o P e g e e e o8 et 3 s o e e sifere e Y
A dealer gains 20% by selling an article at 23% diseount on its marked price. |F the cost price of the article is decreased by
15%, how much discount pereentage should he now given on the ssme marked price so as o earn the same percentage of
profit as betore!
A 35%
B.37.75%
C.36.25%
D.32.50%

52, 120 58 300 % o= fas o =7 27

How many perfect squares lie between 120 and 3007
AS

Bom
98— o

533, 0.1-0.01-0.101-0.001 =

A 0012
B.-0.0112
C.-0.02
D.-0.12

54, 33 % we gz v-ard B b A e g2 % i R 2ep feen qersh g s oo s A 15 S vl #

et 2t w321 o) e ey w7
{ne-fourth of a herd of camels was seen in the forest, Twice the square root of the herd had gone to mountains and the
remaining |3 camels were seen on the bank of a river. Find the total number of camels ?

A 32

B .34

C.35

D36

55. ofe 3 9y ufgf § 2 s s ow T 2 B 0wl svass 80 | B O 3 a3 T 4 dod s ol e
F AT A
3 pumps ., working 8 hours a day, can empty a tank in 2 days. How many hours a day must 4 pumps work to empty the
tank in | day ?
Ag
B 10
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56,

37,

58.

59.

o

=

A 3t B 400 e & witer w0l w0 5 Bt o Aty com & 2ft aed aft o s 54 B @ BEer am o S| s R
e -
Aand B run a 3 km race on a round course of 400 m. Tf their speed are in the ratio 3 : 4. the number of times. the winner
passes the other is

Al

B.2

C.3

D.5

mrdt 12,000 v 77 ow feem [2% = 4 120 o8 v Fem sl & sfw om0 |5% = 8 125 593 o e et &) i
T = AfeE i 1360 v B g 12% w5 0 1 20 2 @ R e s 27
Sakshi invests a part of Rs. 12,000 in 12% stock at Rs. 120 and the remainder in 13% stock at Rs. 123, 1f his total
dividend per annum is Rs. 1360, how much does he invest in 12% stock at Rs. 1207

A Rs. 4000

B. Rs. 4500

G Rs. 5500

0. Rs. 6000

uw wfm 3 13200 w3 & & o g o 14% srs & @) o O Preprern & i 100 02 % 90 5 110 503 @ fem
A B A | 5% =7 FmyT A d 38 R emy o af @6 T
A person has deposited Rs. 13200 in a bank which pavs 14% interest. He withdraws the money and invests in Rs. 100
stock at Rs. 110 which pays a dividend of 15%. How much does he gain or lose 7

A Loses Rs. 48 #f

B. Gains Rs. 48 &m

C. Loses Rs, 13277

D. Gains Rs. 132 am

wE Wt 1950 56 e O v uEiaitEm oo s | od & g e 2200 s G dw E ) afE s e 109 ofy af 2, 5
Al

A man buys a watch for Rs, 1950 in cash and sells it for Rs. 2200 at a credit of 1 vear, If the rate of imerest is 10% per
annum, the man;

A Gains Rs. 35 &m

B. Gains Rs, 50 #m

(. Loses Rs, 30 #f

D. Gains Rs. 30 =

60, we = w1 10.5% # g2 35 % am 716 53 § o= w & 6.5% 7 g2 4wl &, &1 20 R w93 1 o amom

An article was sold for Rs, 716 after offering a discount of 10.3%, I a discount of 6.5% is given, the for how much (in
Rs.) should it be sold?

A 732

B. 756

C. 748

D.675
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61, afs 6,000 s sifiey yeg aref on 2ef dam oF e 6t 5,520 e § A od A Zae ¥ sk g w4 T aref g

i B
If & dining table with marked price Rs. 6,000 was sold to a customer for Rs. 5,320, then the rate of discount  allowed on
the marked price of the table is:

A Ty

B. 3%

C. 8%

0. 6%

62. 20242875184
A 36
B.38
C.42
D 46

63, 13.35.57,79,911.7
A 1110
B. 1112
C. 1113
D 1315

A, FrefeliEs SEEET @ SeaaE Hiay i AT SaE W v (64-68) F I diy
Study the following information and answer the questions (64-68) based on the information.
gi= sfm POQ.R.S #it T 8 v wesier ferend B, us marit firers) B ot v 67l Pl B P oofle S sifsfon sl 8 afte Fsedi o
e ot v ot ol B i oy afien arrs o opsiter S dert ) o Pl S b feet T oofr 3 QL R 5o B o am 9t s
feerdt % aiw 7 & & Faemdt

There are five persons POR.S and T. One is fooiball player. One is chess plaver and one is hockey plaver.
P and 5 are unmarried ladies and do not participate in any game. None of the ladies plays chess or football.
There is a married couple in which is T is the husband. Q) is the brother of R and is neither a chess player
nor a hockey plaver.
64, wealter Raand @l 27

Whao is the football plaver?

Ene =
T EO T

65, Fft ey #7427
Whao is the hockey player?
A P

B. 0
C. R
DS
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66, mia Reerd & 87
Wha is the chess player?
A. P

o0 m
- =0

67, T i aeh % 87
Who is the wile of T?
AP

B.
C.
D

w wm o

08, i afemi # -
The three ladies are
A POR
B. Q.R,S
C. hQ.8
0. PR S

(9, v ffaw == am g, COMPUTER =t RFUVOQNPC o s #1 =it ==  MEDICINE = 35 ey s}
I a certain code language, COMPUTER. 1s written as RFUNVONPC, How is MEDICINE writien in the same code?

A EQIDEIFM

B. EQIDIEFM

C. MFEDJIOE

0. MFEIDIOE

70. GLADIOLUS 3t # wes w0 47 stuslt avimen e % aomet sn 8 sfoento By mn ¥ oft sois s oo
wwet o saant # st e e R w9 swr | B e e A?
Each vowel of the GLADIOLUS word is substituted with the next letier of the English alphabetical series and each
consonant is substituted with the letters preceding il How many vowels will be present in the new arrangement”?
A One
B. @ Two
C. #F Three
D. =7 w7 No Vowel

1. v abdn ey § 160 grem 81 a0 avem 91 W w0 m o R, ol s aree oA e w0 70 aree e &, s 120
ared i #| afe | § 6 aw &, A Faee ane i £7
A Parking lot contains 160 Vehicles. Each Vehicle is either a car or a truck, and each vehicle is either red or green. 70
vehicles are red, and 120 vehicles are cars, If there are |8 green frucks, how many red cars are there?
A sS4
B. 50
C. 48
D 45
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T2, o ot site garn st wu Aferd) wmeef B, " S e & Rt 32 o) A A Al o oinh 4 e dd 22
Pointing to Gopi. Nalini savs. "T am the daughter of the only son of his grandfather." How Nalini is related to Gopi?
A wfrd Niece
B. & Daughter
C. 7w Sister
D. Fafis =7 Fem = s Cannol be determined

TLASBo st A Boifmt A#Bo s A Bfiem A By s A, Bft it d ofr A @ B wd

B AL B oard &) Freferforr & & o o di T e ML O o oeft 27
A'S B means A is the father of B: A# B means A is the sister of B; A * B means A is the daughter of B and A @ B means
A isthe brother of B. Which of the following indicates that M is the wife of ()7

AQISR#TaM

BOISRET#M

C.OSR*THM

DQ$R@T*M

T4, Fa & afieen o ofw g s o ol 3 e, "ol ST o See ot B el o B8 ocft B R F afien mefi @ fa
s afafine #7
Pointing to the woman in the picture, Rajiv said, "Her mother has only one grandchild whose mother is my wife."

How is the woman in the picture related to Rajiv?
A == Cousin

B. w=h Wife
. w7 sister
D. =z wmwrm Data Insufficient

75, e a1 g #) fy svge o wea #13fS T w ) A A | sy R
Deepak is brother of Ravi, Reena is sister of Atul, Ravi is son of Reent. How is Deepak related to Reena ?
A Son
B. & Brother
C. wmNephew
D. fmr Father

T6. 366 T8 AT vF TEE F TE FOFAE T T S T HE -
Phe total number of digits used in numbering the pages of a book having 366 pages is
A T2
B. 990
C. 1098
D 1305

77, vw o 3 Faet are w91 g B, 309 30w med B fee A e e 48 e we R, & aee T e w9 e
Fee?
A student got twice as many sums wrong as he got right, If he attempted 48 sums in all. how many did he solve
correctly?
A2

B.16
C.18

D.24
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T8, we sl 8 8 e sl o I A S0 gwen srERel g sl g 6 sl i

Select a figure from amongst the Answer Fioures which will continue the series established by the four Problem

Figures,
Problem Figure
‘| £ i
A ® ©€ 0
Anawer Figure
ENEIENEdEx
L ] i ] Ll &
Al
B.2
C.3
D.4

79, 3w srFfai § § v A S ) S Sl g i e ) )
Select a figure from amongst the Answer Figures which will continue the series established by the four Problem

Figures,
Problem Figure
R IEL *
cl & | [ ]
#l = |+ o
A " c 7
Answer Figure
L[] L3 L] & [
1] [ 1:- 0 a
__! 3 'E_'

DO me
L Lk ol = =

BO, a0 syrefrai 8 8 vs sl o1 =9 w0 9 gty wyen smeliedt g 2l duen 51 9l winfiy

Select a figure from amongst the Answer Figures which will continue the same series as established by the five Problem
Figures,

8 1. 3w STl 0 @ v W S S O @0 SRR 5 Sy SEen 1w i)

Select a figure from amongst the Answer Figures which will continug the same series as established by the five Problem
Figures,
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Problem Figure

oome

d el | —

B2, = Fawet & @ g% v wvey fo ol vive & e avelt e o drgaow e S R am

Figure out {rom amongsl the four alternatives as to how the patiern would appear when the (ransparen sheet is folded at
the dotted line.

Transparent Sheel

g;

Response Figures

L L

i O 8 &

DomE
e

33,mﬁmﬁﬁaﬁwwﬁmmﬁrﬁzﬁﬁﬁmhmmﬁﬁﬁmmmﬁmﬁwl

Figure out from amongst the four alternatives as to how the patiern would appear when the transparent sheet is folded at
the dotted line.

Transparant Shaet
ﬂ'_Blm&FWE!-
PIBIE B
""" 1 2 3 4
A

B.2

.3

0.4
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84, aw sl 4 8 aw v smEe B ol ot ot Ry arel e g w e R S
Figure out from amongst the four alternatives as to how the partern would appear when the transparent sheet is folded at
the dotted line.

Transparent Sheet

Response Figures

FEE

oo me

I
2
3
1

83, o sngfa =7 o1 sl (£) F 9ot w9 @ aw s e ged 2

Chonse a figure which would most closely resemble the unfolded form of figure (7).

Paper Cutting Procsss
A /N
x Y F

Answear Figunes

AbAA

@ 2

|
.
3
1

oo

86, Pt smpfrdt § & oft smgfn v S, o om0 e i w5 Rl wes w st B g g et 7
#rft 1

Amaongst the following figures, find the correct ane. if'it is known that the total number of dots on opposite faces of
the cube shown is always 7.

] ®
[}
af®
-
-

=

1
2
3
4

oo m

87, mw 0@  ww wew W A, B, C, D, E & F s sifem # o0 0 =1 6 7w A i 57 o s 21 di St
T T o S R

The six faces of o dice have been marked with alphabets A, B, C. DL E and F respectively. This dice is rolled down three
times. The three positions are shown as:
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A 1 i p =t
Find the opposite side of A
AC

B.D
C.E
D.F

88, v w A by ¢ s d # srme werm w attemsd w0 A e man @ e s a3 i e w8 s e g
s b, A e T

lnadice a b. ¢ and d are written on the adjacent faces. in a clockwise oeder and e and £ at the top and bottom. When ¢ is
at the top, what will be at the bottom?

e
d
a
Ay
B b
C.c
0. Data imsufficient

89, w we= 1 6 it - 7, =, Wi, W, e el Tt - F e ) A e et e
Aevlinder is painted in 6 colours - Green, Blue, Yellow, Violet, Red and Orange, Three positions are shown below:

@""im

iRt E R ke R

What 15 the color 1 the emptv space?
A e Blue

B. w1 Green

. amit Vioket

D. e Yellow
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et Fam e et (90)-94 ) % zem 37 % Fony mferm 0 sqvgE svemE
Study the Table carefully 1o answer the [ollowing questions (90-94) given below:
i e e 0 e 0 e A A 1

Number of animals in the grassland of four different countries in five different vears

&y Country

i Ferm ST e st =
Year South Africa China Sri Lanka England

Tiger | Lion | Bear | Tiger | Lion | Bear | Tiger | Lion | Bear | Tiger | Lion | Bear

1930 | 145 | 156 |250 |320 |346 |436 | 280 |468 |255 |423 |342 |234

1995 (134 | 165 |354 (445 | 256 (342 | 354 |354 (343 | 368 (136 | 345

2000 | 120 | 135 | 324 | 383 | 325 | 454 | 433 | 345 | 345 | 354 | 267 | 456

2005 | 110 | 134 | 285 (466 (475 | 322 | 343 (324 | 346 | 562 | 235 | 367

2010 | 160 [ 224 1264 (411 | 535 | 334 (535 |532 |4533 |349 345 (314

0, 727 & sirera = 5 daE1 6 w7 s @ e
What was the average number of tigers in the grassland of Sri Lanka over all the vear together?
A 386
B. 389
C. 369
D. 276

1. =4 2005 & etz & ww = G2 96 ST et # W st 1993 T =figor ankEE & Wi A B O A s T
aff= Fagerar e

What was the difference between the 1otal number of lions and bear in the grassland of England in the
year 2005 and the number of tigers in the grassland of South Africa in the year 19957

A 597

B. 558

C.am?

D 668

Q2. w0 1990 5 < % s F fwe § e g wen, wh an § e 5 aw  dEe § a3 e e e
ufirer 47
The total number of animals together in grassland of China in the year 1990 was approximately what
percent of total number of bears in the grassland of Sri Lanka over all the years together”

AL 44

B. 36

C. 41

D. 51

93. aftad 2010 # =ita % g % fer & g s o s 8 8 35 sl sl & o a @98 2000 3 % aw S
o} Feet Fem !
IF 35 percent of the total number of animals in the grassland of China in the year 2010 died due to an
epidemic. how many animals remained in the grassland of China in the vear 20107

A, 976
B. 932
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C. 986
D. 962

94, =d 2000 # = =il & g A # G0 g o @) dig-stard R B w7

What was three-fourth of the total number of lions in the grassland of all the four countries in the vear
2000 together?

A. B4B
B, 568
C. 804
D, 824

P sreu 51 s soegs S ol 9 oo et (O5-98) & aer e
Study the following arrangement carefully and answer the questions (95-98) given below:

1 9250242625837 4 5283512314146 83739

95, afz s sxaea # # wdt gu % T Ry, @ Fefofen § 8 F 9 om dw srEen F an o 4 gwet 5T
IF all the even digits are deleted from the above arrangement. which of the following will be seventh
from the lefl end of the arrangement?
A9

B.5
c. 1
D. 7

06, Trw =pmen | o8 e 2 8 Fars 2wt o s o o fer ol 87
How many 2 are there in the above arrangement cach of which is immediately preceded as well as
immediately followed by an odd digit?

90w

MNone
One
Two
Three

97, TR ==e | 0E A S R, A T ¥ A e v o R e v A 5w s el

How many 5 are there in the above arrangement, each of which is immediately preceded by a digit
which has a numerical value of more than five?

A, Mone
B. One
C. Two
3. Three

O8. T STt # e B # I 5 T A st e et @ w87
Which of the following is eight to the right of the nineteenth digit from the right end of the above
arrangement?

Al

B.
C.
D

=] Ld o Lh

I
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00, skEs:i2a R®wi5a T®RTa Dwla Sxda = 6wgmNF 9§ venim = G awa RESIDENT

1 F A I w e s e e
IfEreplacedby 2. R by 5. T by 7. D by 3. 8 by 4. 1 by 6 and N by 9 then how is RESIDENT written if
its letters are reversed?

70326425

T9236425

52463927

54263927

Cops

100, fom e Firred # & = wen Sfaw w1 Freaferfim g § v fas (7) % v o a0 o B
Select the number from among the given options that can replace the question mark (7) in the following

series,
16, 33, 100, 401, 7
AL 1235
B. Bb4
C. 158%
D. 2006

LESE S k]

Page 21 of 21



JSA PAPER I- SET-1 Answer Key

SET A

Q.NO ANS Q.NO ANS
1 D 51 C
2 D 52 C
3 C 53 A
4 A 54 D
5 A 55 D
b D 56 B
7 & 57 A
8 C 58 A
9 D 59 B
10 B 60 C
11 A b1 C
12 C 62 A
13 D 63 C
14 B b4 B
15 A b5 C
16 B bb D
17 C 67 C
18 C 68 D
19 4 69 B
20 B 70 D
21 A 71 C
22 D 72 @
23 B 73 D
24 B 74 B
25 D 75 A
26 B 76 B
27 B I/ B
28 D 78 B
29 B 79 D
30 D 80 C
41 B 81 A
32 B 82 C
33 B 83 B
34 A 84 C
35 C 85 A
36 A 8b A
3f B 87 C
38 A 88 A
39 B 89 C
40 A S0 B
41 D 91 D
47 C 92 D
43 A 93 D
44 B 94 C
45 A 95 D
46 C 96 C
47 C 97 B
48 C 98 C
49 B 99 B
50 D 100 D




SEl: B

JSA PAPER 1 -5ET 2

UF T ZEE A T IE @ e # e w0 e andt oft st w9 8 0§ g wen w1 3l a i g S 24 F
ot wite 7w w307 1 w00 e g, 6w G e wgm?
A tree breaks and falls 1o the ground sueh that its upper part is still partially attached to its stem, At what height did it
break, if the original height of the tree was 24 meter and it makes an angle of 307 with the ground?

A 12 meter

B 8§ meter

C. 9 meter

D. 7 meter

vy i aemfer o andenfe e 8 S v o & sy s ity o ok 3 omar s % ot w st B0 s i o 9
weE W e A 10V @ ot =7

On a certain sum of money, the difference between the compound interest for a vear pavable hall vearly, and the simple
interest fora vearis Rs, [, If the rate of interest in both the cases is 0%, then the sum is ="

A Rs. 60000 7

B. Rs. 72000 wat

C. Rs. 62000 s

D. Rs. 34000 79w

fifEfiffm i m i fnal s shoymeam s dam sm 20 7@ &, drofer =
If the difference between the compound interest and simple interest on a certain sum at the rate of 3% per annum for
2 vears is Rs, 20, then the sumis =17

A Rs. 2000

B. Rs, 4000 7z

C. Rs. 6000 w7

D. Rs. 8000 s

w5 g s 703 5 e 6 R 3% 6 7 aw I 9w s 503 F At T sy § e i)
The ages of Saming and Subana are in the ratio of 7 : 3 respectively. After 6 years, the ratio of their ages will be 5 : 3.
What is the difference in their ages?

A Gl years

B. 8 years

C. 10 7 years

D. 12 7 years

3 et X ot wrg Y i o wrg 6 f g ol A A Z v Y e & o e s Z, X H 1 2 e
B Z i wdum sy w27
X's age 3 veurs ago was three times the present age of v, At present 2's age is twice the age of y. Also zis 12 vears
vounger than x. What is the present age of 27
A 15 % years
B. 24 7 years
C. 127 vears
D. 18 = years
g gl £ o et gf 72 42 4 B Swec g el
How many eotations will the hour hand of a ¢lock complete in 72 hours?
A3

B.6
Page 1 of 20



C.9
D12
7. 145 X Qo 5 & w9 F 29 T 63 T 92 Feae i e A s

How many metres of carpet 63 em wide will be required to cover the floor of a room 14 metees by @ metres 7
A 183 e metres

B. 200 f= metres
C. 210 = metres
0. 220 %@ METERS

8. afs & g1 o ofvfoa a7 399 2 0 3 8 A 3 SEel 5 S e
The ratio of the circumferences of two circles is 2 : 3. What is the ratio of their areas 7
A
B.4:9
C.G:4
D.3s

Q, owan & G | o 3w & T e s 22 T g w8 3 e e mEl
The area of a cirele is increased by 22 sq. Cm if its radivs is increased by 1 em. The original radivs of the circle is ;
A udem
B. 4 &ftem
C. 8 em
D. 6#fiem

. s maEmmg - s m iR R e |0 dz 8, s
safigran diarfam i wm 27

Two boys are running on two different circubar paths with same centre, If their radii are 3 m and 10 m, the
maximum possible distance between them is

A 5 M

B l0d=M

C.l57mM
D20 %= M

11. 6 sz ww s 4 oz s s 22600 | dfizg 23 dit o wead oo 9T 21 36 il S0 1 e aee 5 27
A eistern 6m long and 4 m wide comains water up 1o a depth of 1 m 25 em, The total area of the wet surface is;
A 495
B. 50 #'/M°
C. 53.5 /M
D. 55 #M*

12. srivier zam 2 Gl o wF g TE9 o Aves @ 0E 6 diec 9i deE w9 3 o s g b e 8, fewe sman i e
) #it 1 30 frre © ol =7 T e ww sy

Water flows oul through a circular pipe whose intemal dismeter is 2 em. at the rate of & metres per second into a cvlindrical
tank, the radivg ol whose base is 60 eon, By how mueh will the evel of water rise in 30 minutes 7
A 2dm M

B. idm M
. 44 M
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13,

17.

18.

D. 5= M

U e W e 52 A o 40 e« 29 wt # g wmen 2wt it s § weem S | g, e o oA
0.5 am ¥, 71 9 =1 a9 8

The dimensions of an open hox are 32 cm < 40 em * 29 ¢m. It thickness is 2 em. IF | cuem of metal used in the box
weight 0.5 gm, then the weight of the box is

A 6832 Fem KG
B. 7.576 &m KG
C. 776 & KG
0. 8.36 fem KG

. i A g v T R 6w e 8 R o we w8 s e R 6w e W # A A -

A twoedigit number s such that the product of the digits is 8. When 18 is added 1o the number, then the digits are
reversed, The number is;

A

B.24

C. 42

D. 8l

. B S AT e W S A F AW 0T O B 36 A5 R 3ee W W HE ST R = e e 9 1§ Ry d) A deEyn

w1 EY
A two-digit number is 7 times the sum al'its two digits, The number that is [ormed by reversing its digits is 18 less than
the original number. What is the number?
A 42
B.52
G. 62
D72

. wET ¥4 § Faws iwa v i 4 1 ghe 3ew 9 aer 8 10 s % e 2?

A number whose fifth part increase by 4 is equal to its fourth part diminished by 10, is ;
A 240
B. 260
C.270
D. 280

e wad ot den Pt 4, 6, Bl 12 s 16 8 Frnfae s vz ol fnfa g 9w Zaam 2 =7
The least number which when divided by 4.6, 8, 12 and 16 leaves remainder of 2 in each case 15="2
A 46
B. 4%
.50
D. 56

ar s 12906 s 14818 =1 = wovrsers (HCF) 478 % w7 srm ] (LCM ) = 27
The HCF of two number 12906 and 4818 15 478, Their LCM 157

A 400086

B. 200043

C. 600129

D. 800172
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19,12, 15, 18 527 4 4 g &) b Rireg vl d) 4 30 duay) wlief) 27
The largest 4-digit number exactly divisible by each of 12, 13, 18 and 27 is?
A OpSD
B. 9720
C. 9930
0. 9960

20, sfiyem e ot & afm 1001 Fent aiw 910 e 0 gom e o e § B oeas famdi =0 o den 0

ey i e e
The maximum number of students among whom 1001 pens and 910 pencils can be distributed in such a way that esch
student gets the same number of pens and same number of pencilsis="7

4 g

B. 910

C. 1001

D. 1911

21, 0.001+0.015340.0011%=

A DTS

B. 0.00175
C.0.0175
D. 0.000175

22, 32004 +145=172,7 2994 = 1 45="7
IF2994 + 14.5= 172, then 2994 = | 453=7
A0172
B.1.72
C.172
D.172

23, 15X 125X 05=
A 09575
B. 09275
C.0.9375
D. 0.9755

24, v F w0 vF aww F T TO8 S 4 v A aad, st s e 2024 F wfa # e g e a R
A canteen requires 798 bananas for a week. Total how many bananas did it require for the months of January, February
and March 20247
A 10277
B 10374
C. 10480
D. 10586

25, afd 5 22 s B 51 6 fiem 145785 oo 240 |5 022 i 24 =m0 off dg o Aeft?
The vost of 3 pendants and 8 chains is Rs. 145783, What would be the cost of 15 pendants and 24 chains ?
A Rs. 325285 +m
B. Rs. 439355 #m
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C.Rs. 495825 sqm
D Rs. 437355 suu
26, o Tk Rt ww w1 3E st e W 25% F @z v aee 20% e s s #) At awg e 15% w0
P =Tl B A 3 v el o e o faeee i s dA enfen w38 vee o ae 2 A i afar aw e
A dealer gains 20% by selling an article ar 23% discount on its marked price. If the cost price of the article is decreased by

15%:, how much discount pereentage should ke now given on the same marked price so as to earn the same percentage of
profit as before?

A 35%

B. 37.75%
C.36.25%
D. 32.50%

27, 120 5% 300 F +fra fam gt 27
How many perfect squares lig between 120 and 3007
5

oome
g =]

28, 0.1-0.01-0.101-0.001 =

A 012
B. 00112
C. 4002
D.0.12

29, 351 % uF gz w1 gw-wart e we F q@n o g F e s e e aend o e e st |5 S uE ad
T 5 ) Sl i e w aan )
One-fourth of a berd of camels was seen in the forest. Twice the square root of the herd had gone to mountains and the
remaining 13 camels were seen on the bank of a river. Find the total number of camels
A2
B. 34
C.35
D. 36

30, 1fz 3 9y ofafm 8 b2 = w2 vs I 0 2 T g wrdft s wea £ A | B I ae 5w 3§ T 4 di S oiais B i

] FAT 27
3 pumps . working 8 hours a day, can empty atank in 2 days. How many hours a day must 4 pumps work to emply the
tank in 1 day ?

A9

B 10

C. 11

D.12

31, A st B 400 sfree % et w7 w3 Bl 8t 2hs oma ) afr ol af s 5:4 R, o Fasr g ge = e i
HIAT P
Aand B run & 5 km race on a round course of 400 m. [f their speed are in the ratio 5 : 4. the number of times, the winner
passes the other is

Al
B.2
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[ ]

C.
D.

32, medt 12,000 w7 71 o femm 12% =0k 0 1 20 597 m FEw w0t # si o | 5% wiw 4 125 571 = fam s 81 9

T T A e 1360 77 f @ aw 12% =0 120 759 = G e a2t
Sakshi invests a part of Rs. 12,000 in 12% stoek at Rs. |20 and the remainder in 13% stock at Rs, 125, If his total
dividend per annum is Rs, 1360, how much does he invest in 12% stock at Rs. 1207

A Rs. 4000

B. Rs. 4500

C. Rs. 5500

D Rs. 6000

MommaEme |32 i s EEia 4 e s e g s 100 s s 5w g 110 v = =

L TR 2 0 e Bt B 1 1 | i e
A person has deposited Rs, 13200 in a bank which pavs 14% interest. He withdraws the money and invests in Rs. 100
stock at Rs. 110 which pays a dividend of 13%. How much does he gain or lose ¥

A Loses Rs. 4876

B. Gains Rs, 48 =m

C. Loses Rs, 132+%

D. Gains Rs. 132 v

34, v sl 1950 w03 % & o 95 wlean @ ol 3w | oad & gear 2200 o) § 5 gl e w 10% e i 2, @
EIECN
Aman buys a watch for Rs. 1930 in cash and sells it for Rs. 2200 at a credit of | vear. If the rate of interest is 10% per
annum. the man:
A Gains Rs, 35 =m
B. Gains Rs. 50 =
C. Loses Rs. 30 #
D. Gains Rs. 30 =

35, vwae H 10.5% gz F F g T16 73 5 sy afy 6.5% Faz & it B, o 38 B e w5 an smen ?
An article was sold for Rs. 716 afier offering & diseount of 10.3%. [a discount of 6.3% is given, the for how  much (in
Rs. ) should it be sold?
A T3
B. 756
C. 748
D. 675

36. afz 6.000 w3 sifikn gea a1l uk rsin Tue we ores w1 5520 wed G i vl A See sl g w8 e g

LIR eI
If 2 dining table with marked price Rs, 6,000 was sold to a customer for Rs. 3,520, then the rate of diseount  allowed on
the marked price of the table is:

A T

B. 5%

C 8%

D. 6%
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37. 224,287 52,84
A 36
B. 3%
C.42
D 46

38, 13.35.57.79.911.7

ATTI0
B 1112
C. 1113
D. 1315

Frerferiian s w1 o it ST s o s wEt (39-43) F 3 i

Study the following information and answer the questions (39-43) based on the information.
= sl PQLR.S it T % v gber Forerd] 2, e syt firemrs) @ 3 v ¥l Pt B0 P oty S sefernfion wfiesnd B 5l Fsadi ot
e W A ST #) g o wieen s @ gt A6 w1 ovw e am R S T ol 3 QL R #owE # s oam T at wwiw
fiammdl & s 7 7 F gt 7
There are five persons POLR.S and T. One is toothall player, One is chess player and one is hockey player,
P and 8 are unmarried ladies and do not participate in any game. None of the ladies plays chess or tootball.

There is a married couple in which is T is the husband. €} is the brother of R and is neither a chess player
nor a hockey plaver.
39, e fest w27
Who is the football plaver?
AP
B. Q
C. R
DD
4, 7 T F 22
Wha is the hockey player?
AP
B.

weomo

C.
D.
41,z figerd = 27

Whao is the chess player?
A

e B A

B.
C.
D

42, TH==h7m#?

Whao is the wile of 17
A P

B. Q
Page 7 of 20



C. R
D 8
43, i ofiend -
The three ladies are
A, PO.R
. QLRSS

B
C. Q.S
D RRS

44, v Mg #12 won 6, COMPUTER =1 RFUVQNPC Temn s 21 3+t #12 § MEDICINE =1 3 feran smom?
I a certain code language, COMPUTER is written as RFUVONPC, How is MEDICINE written in the same code?

A EOIDEIFM

B. EOIDIEFM

C. MFEDIJOE

D. MFEJDIOE

45, GLADIOLUS v & o =% 1 =il avTen e & w0 sai @ gfaeatn B m @ it oes e 5 o6
TR & S A e ) T s § R e g e
Each vowel of the GLADIOLUS word is substituted with the next letter of the English alphabetical series and each
consonant is substituted with the letters preceding it. How many vowels will be present in the new arrangement”
A v One
B. #Two
C. i Three
D. = = 3 No Vowel

A6, e wore 8 160 gres 8) wdis srew o W s e B, oli wedhe ares oA e A B0 B 70 ave e B ade 120

gy = # gty | 8 e o B At e ene it 6D
A Parking lot containg 160 Vehicles. Each Vehicle Is either a car or a truck, and each vehicle is either red or green. 70
vehicles are red, and 120 vehicles are cars, [ there are 18 green trucks, how many red cars are there?

A 54

B. 50

C. 48

D. 45

47, et ol site g st o sl et B, " ud ar S gl A2 R A A" ARl el & s sy 39
Pointing to Gopi, Nalini says, "1 am the daughter of the only son of his grandfather," How Nalini is related to Gopi?
A wird Niece
B. & Daughter
C. ama Sister
D. fufis = fem =1 79 Cannot be determined

4B ASBR B A BR ML A#Bm i3 A BRa L A*Bo it A, BRFA2 5 A @ Bw o4
2 A, B wrd B Frstfrfins & & @ o s g & B M, Q o e 22

A 'S B means A is the father of B: A# B means A is the sister of B; A * B means A is the daughter of B and A (@ B means
A is the brother of B. Which of the following indicates that M is the wife of Q7
AQSRET@M
BQSR@T#M
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CQSR*T#M
D.QSR@T*M

49, fam ﬁnﬁﬁnaﬁraﬂtmmﬁﬁqrﬁfﬁﬁﬂm. B i e o o A e e M R e R | e

TH w77
Pointing to the woman in the picture, Rajiv said. "Her mother has only one grandehild whose mother is my wife,"
How is the woman in the picture refated to Rajiv?

A = Cousin

B. == Wife

. a2 sister

D. 2= wwiy Data Insufficient

S0, v o o ard B T seges o) wes B S Sz R A e B s ey 7
Deepak is brother of Ravi. Reena is sister of Atul. Ravi is son of Reena. How is Deepak related to Reena !
A = Son
B. wd Brother
. wtrMephew
D. far Father

51, 366 T arell vF qra & T F1 FHIE F0 0 W S A B e - B
The total number of digits used in numbering the pages of a book having 366 pages is
A 732
B. 990
C. 109%
D. 1305

52, w3 Pt ganer wel e Rk, wadl A anres e w e s ad w48 g e Be, o) el T g wdl v
ferm?
A student got twice as many sums wrong as he got right, If he attempted 48 sums in all. how many did he solve
correetly?
A2
B 16
C. 18
D.24

53, T wreRrEl 8 8 v sl s T w1 A S0 s sl g sl g § sl i

Select a figure from amongst the Answer Figures which will continue the series established by the four Problem

Figures,

Problem Figure

A sl
A [] [+ (=]
Answer Figure

g £ 2 bl
|| 2 [] L] &

Al

B.2

g

D.4
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54,z ATFERE 7 U SFT T T T A G AT STF I G TN T H AT wA
Select a figure from amongst the Answer Figures which will continue the series established by the four Problem

Fizures,
Problem Fi
+[ C |® -
Cl & |» -
& |+ j=|
[ L] g L]
Amswer Figure
= ] # ]
(4] L4 - =] EJ
A . d -
] a ] [ [
Al
B.2
B3
D.5

55, a0 sl § # v S 99 w6 9 O S s et g £ )
Select a figure from amongst the Answer Figures which will continue the same series a5 established by the five Problem
Figures,

Problem Figure

56, T sArETiE] § 9 wE A === w6 g wgen A g el dwen w5 w )

Select a figure from amongst the Answer Figures which will continue the same series as established by the five Problem
Figures,

Problam Figure

-
=

OOmE
e ad o=
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57. = Tasredt & 4 e van wrege B sl ofre £ Rieg st n v svg ge Bed S R oy

Figure out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at
the dotled line..

58. = Faskedt & 41 A% a1 ergw o6 aeae vl = famg el v o g e e Fad

Figure out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at
the dotted line.

Transparent Sheel

&

Response Figures
E._.. i! ;—--@ ..... @
@ L LR
1 2 3 4
Al
B.2
C.3
0.4

39. = Fwedi 8 @ e wor e i e vt s e e o o i e

Figure out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at
the dotted line.

Transparent Shest

Response Figures

OO
L led P o=
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6. =2 sl = o) sl (L) & we e 8 e Hives Rl o) @
Choose a figure which would most closely resemble the unfolded form of figure ().
Paper Cutting Process

AN
M:wﬂFuuru

AALA

Domts
dn et b —

01, et gt § @ @60 S T e, 371 9% T 5 6 a0 T 9 F ST S W e 1 w en w7
T 1

Amongst the following figures, find the correct one, if' it is known that the total number of dots on opposite faces of
the cube shenwn 15 always 7.

7

1 Fd 3 Bl

-
-
L
O]
L

OOm e
ot =

=

62, ww wi F gn wem v wen A, B CL DL E sine Fostsre sifien 8 gn oo o oty o i o it v s ) oft ot
o T guE O &

The six faces of'a dice have been marked with alphabets A, B, C. D. E and F respectively, This dice is rolled down threg
times, The three positions are shown as:

A T T I
Find the opposite side of A
AC
B.D
C.E
D.F

f3. th O # a, b, ¢ o d w5 s sEw W alinEd w9 5 fean man # oA e o f w0 @ ol e e w2 @ cow
e B, A7 A =

Ina dice a, b, ¢ and d are written on the adjacent faces, in a clockwise order and e and [ at the top and bottom. When ¢ is
at the top, what will be at the bottom?
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i d
Aa
B h
C.c
D. Data insufficient

v, v e w7 G 0 - B, Arem, viten, S, e sl At - F o o & A e fefrt zad g &
A exlinder is painted in 6 eolours - Green, Blue, Yellow, Violet, Red and Orange, Three positions are shown below:

oo
3

&=
1

W v e b7

What 1s the colour in the empty spaca?

A Hwn Blue
B w1 Green
C. 4w Violet
0. e Yellow

O

2

A few o welt (63-69) & zan @ & Fory enfeor a eavgen stor #:

Study the Table carefully to answer the following questions (65-69) given below:

R e e e e SR A e o 1 e M B e e A e 0 1

Number of animals in the grassland of four different countries in five different vears

#n Country
t P &= e EE
Year South Africa China Sri Lanka England
Tiger | Lion | Bear | Tiger | Lion | Bear | Tiger | Lion | Bear | Tiger | Lion | Bear

1990 | 145 156 | 250 (320 |[346 |436 | 280 |468 | 255 | 423 342 | 234
1995 | 134 163 334 | 445 256 542 | 354 334 | 343 368 136 345
2000 | 120 133 324 383 325 454 | 433 345 345 | 354 | 267 456
2005 | 110 184 | 285 | 466 | 475 322 343 324 | 546 | 562 | 235 567
2010 | 180 | 224 264 | 411 535 334 | 535 532 453 346 345 324

63, T T e % o % S S A A e e e

What was the average number of tigers in the grassland of Sri Lanka over all the vear together?

A 386
B. 389
C. 369
D.27
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60, 7% 2005 & 3z 5 9 F fA3W 4 30 AR sl Fo3 den AT 1995 § afier s * e F e e fi o=
e T S ar?
What was the difference between the total number of lions and bear in the grassland of England in the
vear 2003 and the number of tigers in the grassland of South Africa in the year 19937
A su7
B. 358

C. 677
D. 668

67. =8 1990 & < & arg & o & aEai f g g, et o § e oA § de # st o e g s e T
w47
The total number of animals together in grassland of China in the year 1990 was approximately what
percent of total number of bears in the grassland of Sri Lanka over all the vears together?
A 44
B. 36
C. 4
D. 51

68, = ad 2010 & =9 % w5 e & 5 T w6 5 35 gl e F wwew e, a1 et 2010 § 55 F g F fww
4 Fem e =Y
If 35 percent of the total number of animals in the grassland of China in the vear 2010 died due to an
epidemic, how many animals remained in the grassland of China in the year 20107
A. 876
B. 952
C. 986
D, 962

69, =4 2000 & = ¥ & = i S & 90 o 5 g w7 d-ard e fin a?
What was three-fourth o the wotal number of lions in the grassland of all the Tour countries in the year
2000 together?
A, 848
B. B0B
C. 804
D, 824

Fiatias = 1 AT AEa & A A e (70-73) F s
Study the following arrangement carefully and answer the questions (70-73) given below:
1 9 2592426258574 5283512314146 83739

70, = 3w srea @ 9 o um s v Fooamd, @ Fefien O 0 ww m s s F a en g g =
If all the even digits are deleted from the above arrangement. which of the following will be seventh

from the left end of the arrangement?
ALY

B. S5
.
D.7
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TN, o s H 00 Pt 2 8 Faade i st i i e o Py 3 27
How many 2 are there in the above arrangement each of which is immediately preceded as well as
immediately followed by an odd digit?

Mone

One

Two

Three

cowms»

72, o sEen G e 5 8 et 8 e ¥ i e v o R P s o S 8 s 27

How many 5 are there in the above arrangement, each of which is immediately preceded by a digit
which has a numerical value of more than five?

AL None
B. One
C. Two
. Three

T3, Frwa sraen & a1l 8F & 3= 5% % 2 # weal 2o Fofafies § 8 s 20
Which of the following is eight to the right of the nineteenth digit from the right end of the above

arrangement”

-
o

3

o0w>
=] Lk

74, sRE®F2Za,RusSaT®TaD®EIa SHF4a, 196070 N & 9 @ sfenfim & G swa RESIDENT
] 3w A w1 g w1 fieg g o smom?
IFE replaced by 2. R by 5. Thy 7, Dby 3, 8 by 4, by 6 and N by 9 then how is RESIDENT written if
its letters are reversed?
A. TO9326425
B. 79236425
C. 352463927
D. 54263927

75, Faoom Frsedt & o an e S 5 Peafefisn duren 9 5w Fee () % o s asft B
Select the number from among the given options that can replace the question mark (7) in the following

series,
16, 33, 100, 401, 7
A 1233
B. 804
C. 138%
D. 2006

T6. AT # geerars = are e £ty 100 S # s g § aenE e s aw ety |50 Rl g
ot v % A o i sl ofa g i
The speed of the train traveling from Nagpur to Allahabad is 100 kmv/hr when traveling from Allahabad to Nagpur, its
speed is 130t kmi/hr. Find the average speed during the whole journey.
A 123 fedume. KMHR
B. 75 Bdifma. KM/HR
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C. 133 frdtjge, KM/HR
D. 120 & afve KM/HR

T7. it sorerm=sren wenil % ST uw @ wien 3 miver g geel w0 o o e T0% @, 5wl we & | S e w
e s G0% @ i Al wan & 25 v w o it BO% an A s & wdt gt f sfem awomn wit?
Students of three different classes appeared in the conumon examination. the pass average of 10 students of the first
class was T0%. the pass averape of 135 students of the second class was 60%%. and the pass average of 25 students of the third
class was 809, what will be the averape pass rate of all students of the three classes?
A T4%
B. 73%
C. 69%
D. 72%

T8, B0 simansil =1 st 42 B wr 5 ofw st &g i el 2w 85 dnsdl w aitem 45 8w B9 5 densil @ slae g

i)
The average of 80 numbers is 42 when 3 more numbees are included, the average of 83 numbers becomes 43. find the
average of 5 numbers.

A g2

B 89

C. 93

0. vy

79, w16 = i wph € e 2, @ 8 i i we e £ ai?
If a sum doubles in 16 vears, how much will it be in § vears?
A 112 o times
B. 13 times
C. 114 757 times
D. 134 w1 times

80. 12, 15, 18 5t 20 @l £ gladl & aun v e snwn srawgs 2 AF 6 dean s 37
Wheat is the least number of soldiers that can be drawn up in troops of 12, 13, 18 and 20 soldiers and also in form of a
solid square?
A 600
B 400
C. 1600
0. 2500

81,  mEuwmE 60% 7= weE & o A el 8w | 3% A wi 7.5% wfn w dw g im o fat de
g gz o A 1w 90 B A 50% &2 9w e Ee e a0 g, N 9w wwnn s e dw e 9 e
Frel 50% B st Fre 4 g2 0 w8
In an instituee. 60% of the students are bovs and the rest are girls. further. 15% of the bovs and 7.5% of the girls are petting
a fee waiver, if the number of those getting a fee waiver is W, find the total number of students getting 30% concessions
if it is given that 30% of those not getting a fee waiver are eligible to get half fee concession?
A 360
B. 280
C.320
D.330
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82, ol o e i il o) e ufor 8 s el 0@ A e sfaw ad ad B0 | s, 1994 5 60 e 20
) ufe Rt 3 1994 s 1995 o qrefify o 8% ot smfe &) | svafl, 1996 st et & s e
=1 Filt 7
The rate of increase of the price of sugar is observed to be two percent mone than the inflation rate expressed ina percentage,
the price of sugar, on January 1, 2014 is Rs. 20 per kg. the inflation rates of the vears 2014 and 2015 are expected to he
K% ench. the expected price of sugar on January 1, 2016 would be
A RS. 23.60
B. RS. 24.50
C.RS.24.20
D.RS. 24.60

83, v g Anfi 1,35, wwgm 12 R mam o g 7
What i the sum of the first 12 terms of an arithmetic progression 1,3, 5.......
A 67
B. 45
G144
D. &4

B4 ok Am23=B= T3%=Cs 060 aA:DB C2-
If 23 ofa=75% of b= b ofc thena:b: cis
A2:3:3
B.3:4:3
C.4:5:6
D.9:8:10

BS. v e uaret 7w 3 eften g | et o fremme 36 wften ga wm Faan afe sw s aord |5 st g fismm 2, At
Fysr & e oty oef) s s g i
A dishonest milk man mixed 1 Tirre of water for every 3 litres of milk and thus made up 36 litres of milk. ifhe now adds
5 litres of milk to mixture, find the ratio of milk and water in the new mixture;
A12:3
B 14:3
Gop:2
0.9:4

86. 2 witay awen qrE v e # 250 swewres B ol 6 s e e g wi d 40% sewmee ) ol @ 8 e A 10
it ape Aret i grerE ad o I ae e E o e B A T s s afeene e 27
A vessel of capacity 2 litre has 23% alcohal and another vessel of capacity 6 litre had 40% alcohal, the total Tiguid of &
litre was poured out in a vessel of capacity 10 litre and thus the rest part of the vessel was filled with the water, what
is the new concentration of mixture 7
A 200
B. 49%
C.31%
D.71%

87. ww st | fomz @ 550 ther #1 gff 7w Tl © oi o w45 fime 8 33 i 6 2 o w0 & & wE afn e
7 77

A triin covers a distance of 330 metres in | minute, whereas a bus covers a distanee of 23 kms in 45 minutes. The ratio
of their speeds is!
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A4
B.3:
C.3:
D.5:

PO S ¥ i

88, wF gwET A e W e qeg 8 30% sttaw g e s # ofn Bl ® ams 0% fr gz a B o st feem ama

B
A shopkeeper marks his goods 30% above his cost price but allows a discount of 10% at the time of sale. His gain is:
A 2%
B. 20%
C. 18%
D 17%

89, = =wg i o 920 773 B v T oA A g7 W F6 % @ g o 742,90 w7 w1 e s 3af wwf ge i
0 | 5% A e gz o) g 87
An article is listed at Rs. 920, A customer pays Rs. 742.90 for it after getting two successive discounts, If the rate of first
discount is 15%, the rate of 2nd discount is:
A 3%
B. 5%
C. 8%
D.12%

90, = = 1 200 sz 5 gft @ v gferi] a2 qfem =1 SEw R aee w2 s gfmd s G wm f) s ol

gierae w1 () Pt/ of 1] Rt/ 1 i o am 2 91 6 B 9 3 o 5w e
A thief is noticed by a policeman from a distance of 200 metres the thief starts running and the policeman chases
him. The thief and the policeman run at the rate of 10 km/hr and 11 kovhr respectively. What is the distance between
them after 6 minutes?

A 100 Frzx meter

B. 190 ez meter

C. 200 vz nwler

D 150 rzr meter

91, smzr A w1 v SRR Wi o § 3 T e 8 wats otz B w5 e e B af s AL B el C ooz i s
14 gz ity s o B, o1 skt sheagen C o) o g2 vt s 8 et for wnnnd 87
Computer a takes 3 minutes to process an input while compurer b takes 3 minutes. [F computers a. b and ¢ can process an
average of 14 inputs in one hour. how many minutes does computer ¢ alone take (o process one input 7
A4 T minutes
B. 6 e minutes
C. 10 fre minutes
D. 12 #=e minutes

92, & wt=rl A st B Treera uk sk 3 T 0 g vt 81 afe A sool) areaferss s & dip spareran @ s e e, ot &M
3 o f oo o e e w g w0 R A = e B e ?
Two workers a and b working together completed a job in 3 days. [fa had worked twice as efficient]y as he actually did,
the work would have been completed in 3 davs. To complete the job alone, 8 would reguire?
A S |/5 f days
B 614 fEdays
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C. 7112 fedays
D.83/4 Fmdays

93, ww i w1 3l A £ e Tedl w88 R T o e E o e wed), o sl ol o men wm o R

it & =072
One man or two woemen o threg bovs can do a pigce of work in 88 davs. One man. one woman and ome bey will do it
in?

A 44 = days

B. 24 &= days

C. 48 7= days

D. 20 fA days

94, ALLAHABAD == % st =1 Bt fafirs =i & syafiam e o o 27
In how many different wavs can the letters of the word ALLAHABAD be arranged?
A 3780
B. 1890
C. 7560
D. 2520

Q5, A R % 35 Frw 557 wesy, Toerh e 6 ) 4 = whn fen 2, = o Ml v § B s % w9 Tasy oAy T
dn B & Fims 695 v ufs e 2 B i 5 767 w9 ofn fran o 3w S mn s | 8% s afia R mn) fgse
4 B W & g9 TEEr o g (Teemmg §) = af?
33 kg of type a sandal powder, which costs Rs. 614 per ke, was mixed with a certain amount of type b sandal powder, which
costs Rs. 693 per kg, Then the mixtore was sold af the rate of Rs. 767 per kg and [8% profit was earned, What was the
amount (in kg) ol type b sandal powder in the mixture?
A 24 Fm KG
B 28 m KG
C. 32 mKG
D 36&m KG

96, ww T oy & wwn w7 w2, v 12 e ol gEm 16 S a1 5 e wpen w a an % T o A
o e & foremn =ten?
A gold smith has two qualities of gold, one of 12 carats and another of 16 carats purity. In what proportion should
he mix both to make an ornament of 15 carats purity 7
Al
B.2:3
C.3:2
D.3:1

Q7. v fivs g § aten oW f= %1 s 3 0 22 afe gs e o 8 250 amm aten foemn s &t e i B o @ S A

AT # 1 w8 R o () S a2
An allow containg copper and tin in the ratio 3 : 2. 1F230 pm of copper is added to this alloy then copper in it
becomes double the quantity of tin in it What is the amount (in gm) of tin in the alloy?

A 250

B. 750

C. 1000

D. 500
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O8. o sl i v sagarg 3 ense 8 e 3 15wl F R 104 el serd s st @ 213 e T aned & S
A e amy e Rl
Rahul and Bharti are partners in a business, Rahul contributes 1/4th capital for 15 months and bharti received 23 of

profit. For how long Bharti money was used.
A R wf months

B. 10 =¥ months
C. 1] % months
D. 17 w# months

Q0. qrer, v sty offiva o vk soEwr A e g 3 172 fea, smn 3 173 Fer ot osht gl 3 B @ amow
i wn Ei?
Rahul, Arun and Sumit started a business. Rabwl invested 1/2 part, Arun 13 part and rest of the capital was invested
by Sumit. The ratio of their profits will be ?

1008y gt X sl Y & Fw s s 1] 0 128 ol aod o s s 200 3 Boal X3 8 wdiS & for g9 @ Fom
Fran, A1 Y 3w w0 B fea wdi & T faen?
The ratio of investmens of twe partners < and v §5 11 12 and the ratio of thelr profit s 22 30F & invested the money for 8 months,

then the time for which v invested the money is 7
A # i months

B. ¢ w# months
. 10 w57 months
0. 1| = months

g ook
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JSA PAPER I- 5ET-2 Answer Key

SETB

Q.NO ANS Q.NO ANS
1 B 51 B
2 B 52 B
3 D 53 B
4 B 54 D
5 D 55 C
b B 56 A
7 B 57 C
8 B 58 B
9 A 59 C
10 C 60 A
11 A b1 A
12 B 62 C
13 A 63 A
14 B b4 C
15 A b5 B
16 D bb D
17 C 67 D
18 A 68 D
19 B 69 £
20 A 70 D
21 C 71 C
22 C 72 B
23 & 73 C
24 B 74 B
25 D 75 D
26 C 76 D
27 C I/ D
28 A 78 C
29 D 79 A
30 D 80 A
41 B 81 D
32 A 82 C
33 A 83 C
34 B 84 D
35 C 85 B
36 & 8b A
3f A 87 C
38 C 88 D
39 B 89 B
40 C S0 A
41 D 91 B
47 C 92 C
43 D 93 C
44 B 94 C
45 D 95 B
46 C 96 A
47 C 97 D
48 D 98 B
49 B 99 B
50 A 100 D




SE] §6

JSA PAPER 1 -5ET 3

1. afz 6,000 = sifem g Al v =afm ave v s w1 5,520 v & w=h o a1 29 % i qew WA 7 A ge
Ca L
IFa dining table with marked price Rs. 6,000 was sold to 4 customer for Rs. 5,320, then the rate of discount  allowed on
the marked price of the table is:
A T
B. 5%
C. 8%
0. 6%

2, LU L i
A 36
B. 38
C-42
0. 46

3. 13, 35,37, 79,911,7
A 1110
B.1112
C. 1113
D.1315

FreAfaiias awwnT w1 Hega FifEn o I F aaan @ usEl (4-8) F 33 i
Study the following information and answer the questions (4-8) based on the information.
o= =t POLR.S 5 T 3 v wzaia Faord &, v vois Fawrdl 2 ofv o o) fgamdt 1 P oin S sefenivs whvemd # off st oft
= # WP e Sl # Fr ot nfeen s w g A9 A f) o faenien S 2 fad 1ol 2 Q. R woard 2 sl aw 3 & e
figendi & i 7 i dent el &
There are five persons PO.R.S and T. One is football plaver. One is chess plaver and one is hockey plaver.
Pand 5 are unmarried ladies and do not participate in any game. None of the ladies plays chess or football.
There is a married couple in which is T is the husband. Q is the brother of R and is neither a chess player
nor a hockey plaver.
4, pefie Raemdt 59 27
Whao is the football player?
AP
B. 0
C. R
oD
5. & faemd a2
Who is the hockey player?
A,
B.
.
D,

(7T~ W R -
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6, i faendl o A7
Wha is the chess player?
A P

o0 m
- =0

7. T o oeh % 87
Who is the wile of T?
AP

B.
C.
D

w wm o

8, @ afeem ¥ -
The three ladies are
A PQR
B. O.R. S8
C. RQ.S
| o

9. s faigm w72 wm 5. COMPUTER, &t RFUVOQNPC feren = 81 =+ #12 §# MEDICINE #1 &3 feren smom?
In a certain code language, COMPUTER is written as RFEUNQNPC, How is MEDICINE written in the same code?

A EQIDEIFM

B. EQIDIEFM

C. MFEDJIOE

D. MFEIDJOE

10, GLADIOLUS w15 = S %7 1 35 aare §e F 3 sm0 8 veentyd fr m 8 s w@ =86 w5 a0
TeR & il 4 Wit fe v 8 98 s § R w e AT
Each vowel of the GLADIOLUS word is substituted with the next letter of the English alphabetical series and each
consonant is substituted with the letters preceding it. How many vowels will be present in the new arrangement?
A One
B. @Two
. @ Three
D % =03 No Vowel

11, vw ofn w6 160 7 #) v s a1 of =2 W 2% B, of weirs = av at over an w # 70 A o B i 120
e W R AR 1§ few L A e e = 2D

A Parking lot contains 160 Vehicles. Each Vehicle is either a car or a truck. and each vehicle is either red or green. 70
vehicles are red. and 120 vehicles are cars. [fthere are 18 green trucks. how many red cars are there?

A 54

B. 50

C. 4%

D.45
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12, sivdh ot sime gor st o aferd) weefl B, "H ik aren @ gaeli 42 o A A" e o ik & e e 37
Pointing to Gopi. Nalini savs. "T am the daughter of the only son of his grandfather." How Nalini is related to Gopi?
A wfrd Niece
B. & Daughter
C. 7w Sister
D. Fafis =7 Fem = s Cannol be determined

I3 ASBeisnid A Bofmt A4 Bt A B o A*Bo it A Bfradhdoir A @ Berard

B AL B oard &) Freferforr & & o o di T e ML O o oeft 27
A'S B means A is the father of B: A# B means A is the sister of B; A * B means A is the daughter of B and A @ B means
A isthe brother of B. Which of the following indicates that M is the wife of ()7

AQISR#TaM

BOISRET#M

C.OSR*THM

DQ$R@T*M

14, foasr & wfiren oy ofie gamm st ou ot 3 e, e o a0 Smer o dr ® fead oF 38 oeh 8" T d sfien ool @ fa
s afafine #7
Pointing to the woman in the picture, Rajiv said, "Her mother has only one grandchild whose mother is my wife."

How is the woman in the picture related to Rajiv?
A == Cousin

B. w=h Wife
. w7 sister
D. =z wmwrm Data Insufficient

15, e o = wid 81 fy segen 1w 81 905 w0 w0 2 o w0 d @ ey )
Deepak is brother of Ravi, Reena is sister of Atul, Ravi is son of Reent. How is Deepak related to Reena ?
A Son
B. & Brother
C. wmNephew
D. fmr Father

16. 366 T8 =Tel vF TaE F TE FOFHE w1 0 S 5 W -
Phe total number of digits used in numbering the pages of a book having 366 pages is
A T2
B. 990
C. 1098
D 1305

17. v o 7 famt waner w0 wa forn, @ S aanes e o0 T st 3es a5 48 ware we e, @ ae T want w9

e ?
A student got twice as many sums wrong as he got right, If he attempted 48 sums in all. how many did he solve
correctly?
A2
B. 16
C.18
D.24
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1 8. aom siepfit 8 8 o sovpldy o =59 8 o =m0 ey el g s s o airl) )

Select a figure from amongst the Answer Fioures which will continue the series established by the four Problem

Figures.
Problem Figure
i R B
A [ ] [+] [
Anawer Figure
SNENENEAES
L ] i ] Ll &
Al
B.2
C.3
D.4

19. s srfaall & & v sFfa &1 997 3 =1 =0 A0 SR g e e F A
Select a figure from amongst the Answer Figures which will continue the series established by the four Problem

Figures,
Problem Figure
+] c [® -
C| & |= -
# = |+ jul
[) " c 3
Answer Figure
[] 0 - = [
4] * : =) =]
__! [ E_' [

DO me
L Lk ol = =

200, g syl § 8 v s s =m w1 o0 qt e sl g safi doen 5 ad wefl

Select a figure from amongst the Answer Figures which will continue the same series as established by the five Problem
Figures,
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21, 3 srgrl 4 8 v syl o e w0 o gty e srelet o el den e ol

Select a figure from amongst the Answer Figures which will continue the same series as established by the five Problem
Figures,

Problem Figure

OO me
L L ] =

22, = et # & aw v e, B e wfe S Feg el e dngs w A S R am

Figure out from amongst the four alternatives as (o how the pattern would appear when the transparent sheet is folded at
the dotted line.

Transparent Shest

e b e
4] | Eq '™ [
7 [ M ol R
1 2 3 i

Al

B.2

G-

0.4

23, = Tt 4 2 aw v ey 3 el w7 fag et e A e S fnd am

Figure out from amongst the four alternatives as (o how the pattern would sppear when the transparent sheet is folded at
the dotled line.

Transparent Sheet

(s

Reaponse Figures

BIBLED

=)
4

ComE
o ad P =
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24, aw Faesi 4 8w v enEe B ol ot ot Ry arel T wdrgd w e S R S

Figure out from amongst the four alternatives as to how the partern would appear when the transparent sheet is folded at
the dotted line.

Transparent Sheet
Response Figures

_ | @ |

oy F A

oo me

I
2
3
1

25, aw sngfa w4 o1 st (£) F 9ot w9 @ aw i e g 2
Chonse a figure which would most closely resemble the unfolded form of figure (7).
Paper Cutting Procsss

AN
A

AbAA

@ 2

|
.
3
1

oo

20, Frefefas soefod 8 & ot smpfy v Aifi, 2R o o fe e oo aw & fel s o gt 6 o g e 7
#rft 1

Amaongst the following figures, find the correct ane. if'it is known that the total number of dots on opposite faces of
the cube shown is always 7.

] ®
[}
af®
-
-

SESE-=
e

27, ww 0@ Fww wewm woEm A, B, C, D, E & F s sifem o 30 o =1 6 7w A i S o s f) di St
T T o S R

The six faces of o dice have been marked with alphabets A, B, C. DL E and F respectively. This dice is rolled down three
times. The three positions are shown as:
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A 1 i p =t
Find the opposite side of A
AC

B.D
C.E
D.F

28, v w A by ¢ s d #osree werm w attersd w0 A e man @ aw e s w3 hs e o 8 s e g
s b, A e T

lnadice a b. ¢ and d are written on the adjacent faces. in a clockwise oeder and e and £ at the top and bottom. When ¢ is
at the top, what will be at the bottom?

e
d
a
Ay
B b
C.c
0. Data imsufficient

29, u we 6 @i - 7, Hte, W, W, e el Tt - e ) A e et wn
Aevlinder is painted in 6 colours - Green, Blue, Yellow, Violet, Red and Orange, Three positions are shown below:

@""im

iRt E R ke R

What 15 the colour 1 the empty space?
A Blue

B. w1 Green

. amit Vioket

D. e Yellow
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wft o st (300-34) % TS o T Aifern) w1 SOEE SR
Study the Table carefully to answer the following questions (30-34) given below:
e STET-STE W9l W - aTe B o e i Aer F s o e
MNumber of animals in the yrassland of four different countries in five different vears

#n Country

i o T oo Press e
Year South Africa China Sri Lanka England

Tiger | Lion | Bear | Tiger | Lion | Bear | Tiger | Lion | Bear | Tiger | Lion | Bear

1950 | 145 156 | 250 | 320 | 346 (436 | 280 | 468 | 235 | 423 (342 | 234

1995 | 134 | 165 | 354 |[445 | 256 |5342 | 334 |354 |[343 | 368 (136 | 345

2000 | 120 135 (324 | 383 | 325 (434 | 433 | 345 | 345 | 354 | 267 | 456

2005 | 110 |'184 | 285 |466 | 473 | 322 343 | 324 | 5346 | 5362 |235 | 367

2010 | 160 | 224 (264 | 411 | 535 | 334 | 535 (532 453 |34% 345 | 324

30, 74 & sfter F 9w EE A A i e R R

What was the average number of tigers in the grassland of Sri Lanka over all the vear together?
A 386
B. 389
C. 369
D.27%

31, w2005 6 gz & w3 w4 3930 si west 1 5 e siwad 1995 § o snfe % am & fgm o a6 6 e
s Fpen e a?
What was the difference between the total number of lions and bear in the grassland of England in the

vear 2005 and the number of tigers in the grassland of South Africa in the year 19957
A 597
B. 558
C.677
D. 665

32, w1990 @ i % e & A5 § e e ae, @l a9 g e A e e P e e e
i 7
The total numiber of animals together in grassland of China in the year 1990 was approximately what
percent of total number of bears in the grassland of Sri Lanka over all the vears together?
A 44

B. 36
C. 41
D. 3l

¥

-

3. gfad 2010 = = % o o S € g et o goen § 8 35 afim genedt & s oo e, @ wd 2010 9 99 F am e
i o S
IF 35 percent of the total number of animals in the grassland of China in the vear 2010 died due to an
epidemic, how many animals remained in the grassland of China in the vear 20107
A, 976
B. 952
(. Y986
. 962
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34, =i 2000 & = 331  ave & dE 6 90 g wen = ae-aran e e a?

What was three-fourth of the total number of lions in the grassland ol all the four countries in the year
2000 together?

A, BIB
B. 868
C. BO4
[, 824

Frefefige sme F1 oS o # AR A R (3538 F e
Study the following arrangement carefully and answer the questions (35-38) given below:

1 9 2592426258574 5283512314146 83739

35, aft aviie s § 0wl gn st wn Booaml, o) Fefafias © 9 o e s & and o O gl dm T

IF all the even digits are deleted from the above arrangement, which of the following will be seventh
from the left end of the arrangement?
A9

B. 5
c.
D.7

36, T ey it 3 Fet 2 # forrs dim el i Fi e s s 87

How many 2 are there in the above arrangement each of which is immediately preceded as well as
immediately followed by an odd digit?

A

MNone

B. One
G
D. Three

Two

37, T Fawy § w6 R 5 8 e F 2 T v o § P e o 5 st R

How many 3 are there in the above arrangement. each of which is immediately preceded by a digit
which has a numerical value of more than five?

=

MNoneg
One
Two
Three

38, T s F i g6 8 e o AR Y sveal s Fefaiea § 9 e 87
Which of the following is eight to the right of the nineteenth digit from the right end of the above
arrangement”’

oo wp

2

L

ot ERTH
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39, skEs2a ReusSaTwlaD®ila Ssda ls6aqn N9 ofnim w1 G aw s RESIDENT

Fr 3 w7 F 9 5% Few o frar swon?
IfE replaced by 2. R by 5. Thy 7, D by 3. 8 by 4. | by 6 and N by 9 then how is RESIDENT written if
its letters are reversed?

TY3Z6425

TH236423

52463927

54263927

ooR=

40, fou o el & 8 e we i = Frferfim smen § we fag (7) % v o o a3
Select the number from among the given options that can replace the guestion mark (7) in the following

SETIES,
16, 33, 100, 401, 7
A, 1235
B. 804
C. 1588
. 2006

41, s & wemmerars =y e red o iy 100 Rt & ot samrem & S A s mn e afy 150 fefiien B
<t e 5 e e i it i s i
The speed of the train traveling from Nagpur to Allshabad s 100 km/hr when traveling from Allahabad 1o Nagpur, its
speed is |50 km/'hr, Find the average speed during the whole journey,
A 123feraa. KM/HR
B. 75 Bjue. KMHR
C. 135 frdfna, KMITIR

D. 120 & fre KM/HR

42, ot srem—srem st & or v o witen # i ) aelt wen & 10 et w1 ora shew 70% @, gult wan |5 e
T st 60 wr st dwed Fa & 25 ol @ e wtag B0% a9 S & it e 1 sE o w1 Ee ]
Students of three different classes appeared in the common examination. the pass average of 10 students of the first
class was T(Fa. the pass average of 13 students of the second class was 60%. and the pass average of 23 students of the third
class was B0%s, what will be the average pass rate of all students of the three classes?
A T4%
B. 75%
C.69%
D. 72%

A3, B0 st =7 wdtem 42 3 s 5 sl deed o ) oardt F o 85 et g st 45 7 s 5 e st e

i)
The average of 80 numbers is 42, when 5 more numbers are included, the average of 835 numbers becomes 43. find the
average of 5 numbers.

A g2

B. 89

C.93

D. 98
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44, ofywrd gsofn 16 = Horh 4w 2, 8 ad 8 gw P @ e
If a sum doubles in 16 vears, how much will it be in 8 vears?

A N2 mrtimes
B 113 A times
C. 114 =0 times

D. 134 0 times

45. 12, 15, 18 5 20 & & Tz © 791 v 1R A s 2= S 7 gen w7
What is the least number of soldiers that can be draswn up in toops of 12, 15, 18 and 20 soldiers and alse in form of a
solid square?
A 900
B 400
C. 1600
0. 2500

46.  vEEemE T 60% T e # ol A e # | 3% aew o 7.5% wfn w5 fe O g e e v ek e
T gz o A # we 90§ 7 0% T 9 T == A g He w6, W6 A5 a6 w e o S e T T
ardl 50% a1 3 $ro § F2 9 F 99 77
In an institute, 0% of the students are bovs and the rest are girls. further. 13% of the bovs and 7.5% of the girls are getting
a fee waiver, if the number of those getting a fee waiver is %0, find the total number of students getting 30% concessions
ifitis given that 30% of those not getting a fee waiver are ¢ligible to get half fee concession?
A 360
B. 280
C.320
D.330

47, i i o F i 6 w afeew o i a9 vhw s w0 | . 1994 55 3 o 20
iy fermr @A 1994 wdw 1995 i ity o 8% wmr S i 2 | swd, 1996 =1 = & anfan £
w1 B 7
The rate of increase of the price of sugar is observed to be two percent more than the inflation rate expressed in a percentage.
the price of sugar. on January |, 2014 is Rs. 20 per kg, the inflation rates of the vears 2014 and 2013 are expected to be
8% each. the expected price of sugar on January 1, 2016 would be
A RS.23.60
B. RS. 2450
C. RS, 24.20
D.RS. 24.60

A8, wwaur At ) 35, wouag |2 s e 7
What is the sum of the first 12 terms of an arithmetic progression 1.3 3.
A 67
B.45
G144
D. 46

49, s A= 2 3i=B=73%=Cw0b6=sA: B C#—
25 ofe=T3% of b=0060of c.thena:b:cis
A2:3:3
B.3:4:3
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C.4:56
0.9:8:10

S50). ue s gy 3 v 3 wfer gu A | e e e 36 S g = o af o o e 15 e e e ®, a1
fipser 31 7 sty anft & s Fifa
A dishonest milk man mixed | litre of water for every 3 litres of milk and thus made up 36 litres of milk. ifhe now adds
15 litres of milk to mixture. find the ratio of milk and water in the new mixture;
A3
B.14:3
C.7:2
D.o9:4

51, 2 et swen ardt vss i # 25% saenee B ofle 6 eltar gwen arct gt i 3 40% wewtea B af o 8 el 1 10

HTZT ap e W B STerE WS W Iy ww o gw e & feerr s s e wen 87
A vessel of capacity 2 litre has 23% aleohol and another vessel of capacity 6 litre had 40% aleohal. the total liguid of §
litre was poured out in a vessel of capacity 10 litre and thus the rest part of the vessel was filled with the water, what
is the new concentration of mixture 7

A 9%

B. 49%

G.31%

D. 71%

52, wwwmEr | fomz @ 550 e # g 7w F § o o w45 fee A 33 e 6 50 T w5 B A wwe afn e
= 77
A train covers a distance of 330 metres in | minute, whereas a bus covers a distance of 33 kms in 43 minutes. The ratio

of their speeds is:
A 43

L lad
FETN S H

53. uF gFFER 20 O @ e e i 30% sfas ge sifes s 8 ol Rk & e 10% R g @R A s e g

CH
A shopheeper marks his goods 30% abave his cost price but allows a discount of 10% at the time of sale, His gain is;
A 2%
B. 20%
C. 8%
0. 1 7%

34w A 1 e 920 FE B OF W AT S P2 9 WA o A2 0 g, 742,90 s e w f) A e g2

= 5% s d gl m A 8?
An article is listed at Rs. 920, A customer pays Rs. 742.90 for it after getting two successive discounts, [T the rate of first
discount is 15%, the rate of 2nd discount is;
A 3%
B. 5%
C 8%
D.12%
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55, v dr ot 200 dve 3 it & v il o B) qfere o e S s B s gl sawn den s B G il
el g 10 Resit/etr afte 11 Readtisra o o @ smrit # a1 6 e % o o o o ot s 2
A thief is noticed by a policeman from a distance of 200 metres the thief starts running and the policeman chases
him., The thief and the policeman run at the rate of 10 km/hrand 11 km/hr respectively, What is the distance between

them after & minutes?
A 100 drer meter

B. 190 o meter
C. 200 frer meter
O 130 =T meter

56. gz A v w92 TR FE 6 3 Tiez o # aele g B w3 e ow B ol see A, B osii C o d i sl
14 g9z i 37 e A, w1 sk sz C F1 o g wEe w i R e w30
Computer  takes 3 minutes o process an input while compater b takes 3 minutes. If computers a. b and ¢ can progess an
average of 14 inputs in one hour, how many minutes does computer ¢ alone take 1o process one input 7
A 4 F minutes
B 6 fm minutes

C. 10 fme minutes
0. 12 ##e minutes

3T, g et A iR B T v w5 A 8 g e fals A 3 o At ame @ S Ferem 8 F i g, a1 Fm
3 & o g T S e o e, A F e R e
Two workers a and b working together completed 2 job in 5 days. 1f a had worked twice as efficiently as he actually did.
the work would have been completed in 3 days. To complete the job alone, a would reguire?
A 515 P days
B.o LM f=days
C. 7112 e days
D. 8 3/4 f days

S8, vz st an 3t afhi o I oo el e m o 88 BE i 5 ve T S v s, v sihe sk ouE was 9w e = R

o ® =}
Ome man or two women or three bovs can do a piece of work in 88 davs. One man, one woman and one boy will do it
in?

A 44 7= days

B. 24 %= days

C. 48 & days

D20 &= days

59. ALLAHABAD e & sl o1 G fafimr ot & ssfiam Ton o v 87
In how many different ways can the letters of the word ALLAHABAD be arranged?
A 3780
B 18%
C. 7560
D. 2520
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B0, A w35 B g arase, Firel) s 614 2@ ofy Be B, ) o Bifim aen 3 B s & e g & ar Remn g

i B A Fima 693 v ata B ®1 fr a1 767 s afh San & 2o s =0 m ofw 1 8% s safe Fee ) R
i B on % = wrae #i am (R i) =5 66
35 kg of tvpe a sandal powder, which costs Rs, 614 per kg, was mixed with a certain amount of tvpe b sandal powder, which
costs Rs. 693 per kg. Then the mixture was sold at the rate of Rs. 767 per kg and 18% profil was earned, What was the
amount (in kg) of type b sandal powder in the mixture?

A 24 e, KG

B. 28 ®mw KG

C. 32 & KG

D.36Fm KG

6. = gam s o At w2, v |2 Fe e silogmn 16 S s 1S e g s s A & fe o A
ferr s # foverren =i ?
A gold smith has two qualities of gold. one of |2 carats and another of |6 carats purity. In what proportion should
he mix both to make an ornament of 13 carats purity 7
Al:3
B.2:
C.
D.

s
J
-
i
l

rd el

02, o faw avg & arn o for 7 sqam 3 0 2 1 ofs g few o & 250 o v feern s sl v e o s 8 A

o & A Ty mgﬁfmﬁmﬂ'r{mff}ﬁmﬁﬁ?
An allov contains copper and tin in the ratio 3 : 2. 11 250 gm of copper is added to this alloy then copper in it
becomes double the quantity of tin in it. What is the amount (in gm) of tin in the alloy?

A 250

B 750

C. 1000

D. 500

63, wEe Sl Sl T srEaE e # g 4 |5 aeE & fae |04 dat e s w0 203 e T an &

T T wo A R e
Rahul and Bharti are partners it a business, Rahul contributes 1/4th capital for 15 months and bharti received 243 of
profit, For how long Bharti money was used,

A 8 = months

B 1 w5 months

C. 11 =t months

D17 = months

64 e, s i afie A ok e e e ge 3 102 T, s 3 13 feem i ol afim 3 Faw A 3 e
Sy Em?
Rahul, Arun and Sumit started a business, Rahul invested 1/2 part, Arun 1/3 part and rest of the capital was invested
by Sumit. The ratio of their profits will be ?
A2:¥
B.3:
i 3.

14
6
D.3:248

Fudt Ll b
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65, @ el X oMY & B o arqme 11 2 12 Refe i oy s 20 3 B el X3 B ol & foro v P
Faway, o1 Y e = Pl fomer w3 oo faen 7

The ratio of investments of twe partners % and v 5 10 12 and the ratio of their profit is 2 31 < invested the money for 8 months,
then the time for which v invested the money is 7
A 8 w7 months

B ¢ =m months
C. 10 == months
0. 11 == months

O6. T T gz FHE T 36 0 e # e s e and ft st e A T d s e B 9t Ty A g e 24 @6
ot ¥ 7= T F 'y 30° F1 w0 = R, 7 G S w !
A tree breaks and falls o the ground such that its upper part is still partially artached to its stem. At what height did it
break, if the original height of the tree was 24 meter and it makes an angle of 307 with the ground?
A 12 meter
B. 8 meter
C. 9 meter
D. 7 meter

67. v Fifim arfi o b =0 0 v ol ey s oy v ok 3 omanon s e o s 180 s B ofy 9
wrEt A s o 0% B m oof =2
On a certain sum of money, the difference between the compound interest for a vear pavable half vearly, and the simple
interest for & vear is Rs, 180, If the rate of interest in both the cases is 10%, then the sum is="?
A Rs. 60000 o
B. Rs. 72000 s

C. Rs, 62000 v
0. Bs. 54000 =

68, afe Rt ffi ofit w0 5% ufi @ fir =@ 2 2 & fore =l sare si aaron s 3 e 1 sia 20 s 8, of =
?
I the difference between the compound interest and simple interest on a certain sum at the rate of 3% per annum for
2 vears is Rs. 20, then the sum is =17
A Rs. 2000
B. Rs. 4000 7

C. Rs. 6000 ww
D Rs. 8000 wm,

69, s sftv seEm F1 g w723 F s B 3 6 o wm S s s 503 A A R w f w s R
I ages of Samina and Suhana are i the ratio of 72 3 respectively, After 6 years, the ratio of theirages will be 50 5,
What is the difference in their ages?

A = years
B. 8= years
G 10 #f vears

D12 i years

T0. 3 =f ey X oft 3 Y o arfer savg & o o off o 8 2 ot sy Y o sy @ o B s smma Z, X 8 12 o g
) Z 8 s vy = 27
X's age 3 vears ago was three times the present age of v. At present 2's age is twice the age of v. Alsoz is 12 vears
vounger than x. What is the present age of 27
Page 15 of 21



A 157 years
B. 24 #f years
C. 12wt vears
D. 18 =d years

T, v wdt oy ot arefl g€ T2 92 3 Bl s g waf)?
How many rotations will the hour hand of a clock complete in 72 hours?
A3
B.é
C.9
D12

T2, 14 sirz X 9 sfrzz % =it & & =1 @ o fom 63 6 <13 Bt offz el i sommasan avfi?
How many metres of carpet 63 em wide will be required to cover the floor of a room 14 metres by 9 metres 7
A 183 i metres

B. 200 & metres
G210 f=r metres
D220 5= METERS

73, afs 3t 5t 1 ufelie =7 smga 2 0 3 3 @ o w0 s A
The ratio of the circumferences of two circles is 2 ; 3. What is the matio of their areas 7
A 2:3
B 4:9
G4
D35

T4, v g w1 G | et wgn & & & g s 22 3w S S ) e e e a?
The area of a civele 15 increased by 22 s, Cm i its radius is increased by | em. The oviginal radius of the cirele is ;
A Jafrem
B. 4#irem
C. & miem
0. 6 wfrem

T3, ergh v & S 19t 1 srem-srem gaen o) o dg o 8 9 el B S dter sity |0 ot B A o e o
Two boys are running on two different circular paths with same centre. If their radii are 3 m and 10 m. the
maximum possible distance between them is :

A5 M
B. 10 e M
C.i3daM
0. 20 %= M

76y, b viren v 31 4 =iz =g v B A | e 25 G o T o O B TR T S e S w2

A cistern 6m long and 4 m wide contains water up 1o a depth of 1 m 25 em. The total area of the wet surface is:
A 49 4\’

B. 50 % M°
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C. 535 d° M-
0. 55 4°/M°

77, svaieE w2 Gt T O SRR TR O W 4 On 6 dite oft ek o w @ v a0 aem #, Fros amem o frem

60 #ft 1 30 Fome | it 1 v e wm Ay
Water flows out through a eircular pipe whose internal dismeter is 2 em. at the rate of 6 metres per second into 8 evfindrical
tank, the radius of whose base is 60 cm, By how mueh will the level of water rise in 30 minutes ?

A M

B. 3w M

C. 4 M

D. 5 9m M

T8, e s v w w52 G < 40 G« 29 3 B el dvrd 2 G B ofd vy F e o ng ) R, B A e
0.5 uy 2, 4 afw @ e B

The dimensions of an open box are 32 cm = 40 cm = 2% em. [t thickness is 2 em. If | cwem of metal used in the box
weight 0.5 am, then the weight of the box is

A 6.832 fFm KG
B. 7376 fen KG
C. 7,76 f&m KOG
D. 8.36 farm KOG

79, &t sif el woey gw weme & Foe oiw o1 aeeer 8 B o w18 wisy s B, At s ge w8 Aw e B -
A two-digit number is such that the product of the digits is 8. When 18 is added to the number, then the digits are
reversed. The number is:

AR
B.24

C. 42
D. 81

80, = stw vl dvwm s A o F gpr | T o R o ot 9 geied ® A e gt e g vn w18 s i aw sy

7 #7
A two-dagit number is 7 times the sum of its two digits. The number that is formed by reversing its digits is 18 fess than
the original number. What 15 the number?

A4

B.52

C.62

D.72

8 1. = dhvr B Farad atwd s i 4 o afy awk H8 wm 3 10 o owadt % e 37
A number whose fifth part increase by 4 is equal to its fourth part diminished by 10, is ;
A 240
B. 260
C.270
D280
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B2, =2 gad id deen P 4, 6,08, 12 e 16 8 Faurfi 3 g oee e B fw 2 a9 B =7
The least number which when divided by 4, 6. 8. 12 and 16 leaves remainder of 2 in each case s ="
A 46
B. 4%
C. 50
D. 56

83. = twenadl 12906 »f (4818 = zemm wameds (HCF) 478 # w7 g qumsed (LCM) =0 27
The HCF of two number 12906 and 14818 is 478, Their LCM &5 7
A 400086
B. 200043
C. 600129
D. 800172

84, 12, 150 |8 it 27 & i welter & e Fviren g weft 4 sidfiva el w-ef) 27
The largest 4-digit number exactly divisible by each of 12, 12, 18 and 27 is7
A DA
B. 0720
C. 9930
D. 9960

85, sifumay Fran i & sfm 1001 et i 910 b w0 gew fafm B e § B oss fnd = gum den i

e i i e
The maximum number of students among whom 101 pens and 910 pencils can be disiributed in such a way that each
student gets the same number of pens and same number of pencils is=7

A G

B. 910

C. 1001

D. 1911

86. 0.001+0.01540.00115=

A 0175

B. 0.00175
C.0.0175
D.0.000175

87.52994 + 145=172,M29.94 = 1.45="
IF2994 -+ 145=172, then 20.94 = 1.45=1
A01T72
B.1.72
C.172
D.172

B8, 15X 125X 05=
A_05575
B. 09275
C. 09375
D. 0.9755

Page 1B of 21



89, v BAa w) ok anre & B 798 F B strasnan B arall, wesl Shoard 2024 % wfd & fae g P B
ST o7
A canteen requires 798 bananas for a week. Total how many bananas did it require for the months of January, February
and March 20247
A 10277
B 10374
C. 10480
D 10386

Q). afg 5tz =i § Fff & From 145785 v 2 15 iz afw 24 < & S = doft?
The cost of 5 pendants and § chains is Rs. 143785, What would be the cost of 13 pendants and 24 chains 7
A Rs. 325285 7w
B. Rs, 439355 s,
C. Rs. 495825 wyu
D.Rs. 437355 =m
91. u T ot aw i 3w wifa gea W 25% $i gz w wem 20% wma siTEa Fe i ak e a are-e 5% a0
o = & 1 1 i@ 3 sife wew e w2 3 aife afe 3 gee & oo & e s wfeem ww A
A dealer gains 20% by selling an article at 23% discount on its marked price. 1f the cost price of the article is decreased by
15%. how much discount percentage should he now given on the same marked price so as to earn the same percentage of
profit as before?
A 35%
B.37.75%
C.36.25%
D.32.50%

92, 120 ¥iw 300 % s s ot = 87
How many perfeet squares lie between 120 and 3007
As
B.o
C.7
D8

93, 0.1-0.01-0.101-0.001 =
A 0012
B 400112
C.-0.02
D 4.12

Od, 37 % vww 5z w1 vF-ard B we § A T g F iy 0 2 e gerEl 9w ma o s i 15 frvw o
freiie e o) S o1 e wwn A
One-fourth of a herd of camels was seen in the forest, Twice the square root of the herd had gone to mouniaing and the
remaining 13 camels were seen on the bank of a river, Find the total number of camels ?
A 32
B. 34
C.35
D.36
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O5, ofy 3 au ufafe & 92 5w wik ow e 2 RED 8 wrel) w0 g B 1 B A 3 amel s B T 4 g e fie Rl a2
T ] 2 T
3 pumps , working 8 hours a day, can empty a tank in 2 davs. How many hours a day must 4 pumps work to empty the
tank in | day ?
Ag
B 10
GC.11
D.12

96. A #fw B 400 iz % siter w5 w0 5 et o1 drg a8y 3w o 0 aem 54 R, & R g W w A w e

=T 7=
Aand B run a5 km race on a round course of 300 m, IF their speed are in the ratio 5 © 4, the number of times, the winner
passes the other is

Al

B.2

C.3

D.5

97, wnadt 12,000 s = we femm 12% &= 01 120 w7 w Fram 7l 2 500 3m 15% &w 6 125 73w Few w8 af
T o vtk wraie 1360 77 & af a7 1 2% w0 4 120 v = fan Fem s 22

Sakshi invests a part of Re. 12,000 in 12% stock at Rs. 120 and the remainder in 13% stock at Rs, 125, 1f his total
dividend per annum is Rs. 1360, how much does he invest in 12% stock at Rs. 1207

A Rs. 4000

B. Rs. 4500

C. Rs. 5500

D. Rs. 6000

O, mw =fw 7 13200 57 5= F 7o B & 1 14% a3 3 #1397 & Peem # ol 100 =% F 90w g 110 58 = fEm

e & @1 |1 5% = i S #1 36 Fen e an il e 87
A person has deposited Re, 13200 in a bank which pays 14% interest. He withdraws the money and invests in Rs. 100
stock at Rs, 110 which pavs a dividend of 13%, How much does he gain or lose ?

A Loses Rs. 4875

B. Gains Rs. 48=m

C. Loses Rs. 13275

D. Gains Rs, 132 =m

99, v sl 19350 w2 w9 & o o) wdiaan @ il o | oA & gww o 2200 73 8 & g # Al e 10% sl A 2, &
EICE N
Aman buys a watch for Rs. 1930 in cash and sells it for Rs. 2200 at a credit of | vear, If the rate of interest is 10% per
annum, the man:

A Gains Rs, 33 =m
B. Gains Rs. 30 =m
C. Loses Re. 30 7
D. Gains Rs, 30 &y
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100. v iy %1 10.5% 91 92 23 % 4w 716 3l § Fn v 9 6.5% o1 g2 41 vt B, it ¢ Py sl & Sy o 7
An article was sold for Rs. 716 after offering a diseount of 10.5%. [fa discount of 6.5% is iven. the for how much (in
Rs,) should it be sold?

A 732
B. 756
C. 748
D. 675

LELE LS 1)
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JSA PAPER I- 5ET-3 Answer Key

SET U

Q.NO ANS Q.NO ANS
1 € 51 A
2 A 52 C
3 C 53 D
4 B 54 B
5 C 55 A
b D 56 B
7 & 57 C
8 D 58 C
9 B 59 C
10 D 60 B
11 C b1 A
12 C 62 D
13 D 63 B
14 B b4 B
15 A b5 D
16 B bb B
17 B 67 B
18 B 68 D
19 D 69 B
20 & 70 D
21 A 71 B
22 C 72 B
23 B 73 B
24 C 74 A
25 A 75 C
26 A 76 A
27 C I/ B
28 A 78 A
29 C 79 B
30 B 80 A
41 D 81 D
32 D 82 C
33 D 83 A
34 C 84 B
35 D 85 A
36 & 8b C
3f B 87 C
38 C 88 C
39 B 89 B
40 D S0 D
41 D 91 C
47 D 92 C
43 C 93 A
44 A 94 D
45 A 95 D
46 D 96 B
47 C 97 A
48 C 98 A
49 D 99 B
50 B 100 C




]

SET:D

JSA-PAPER 1 - SET 4

s T Pt = w0t e st e W 25% # g w ae 20% s st Fw 9k w5 9 arm-aea 15% 5w
e = ® A 39 i S i qeg W R gt g2 S e Wi 38 owe & e A e = afaee am

A dealer gains 20% by selling an article at 23% discount on its marked price. 17 the eost price of the anticle is decreased by
13%, how much discount percentage should he now given on the same marked price so as to eamn the same percentage of
profit as before?

A 35%

B. 37.75%

C.36.25%

D.32.50%

120 3w 300 ¥ +fi= B gt =7 #7
How many perfiect squares lie between 120 and 3007
5

OOm
o)

(0.1-0.01-0.101-0.001 =

A QD12
B 00112
C.0.02
D.-0.12

32 FUF YT T OF-A W S 5 A T e A e o w e m e AR i | SR E
e 47 ) St S e =
Ohe-fourth of a berd of camels was seen in the forest, Twice the square root of the herd had gone to mountains and the
remaining |5 camels were seen on the bank of a river. Find the total number of camels 7

A3z

B. 34

C.35

D. 36

afz 3 ag ufgfe 8 92 =w s v 5 w0 2 5O et s wen F A | R B el e F T 4 dai e ofaRe e
FIH FAAT E ]

3 pumps , working § hours a day, can empty & tank in 2 days. How many hours a day must 4 pumps work to empty the
tank in | day 7

A9

B.10

C.n

D.12

A 3t B 400 sfrer & diter wd w0 5 Bl o dvs e 8 afe ol afi e anqur 514 R, @ Redtar g e @ ol R
SR

A and B run a 5 km race on a round course of 400 m. [f their speed are in the ratio 3 ; 4, the number of times, the winner

passes the other is

Al
B.2
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[ ]

C.
D.

7. amr 12,000 s w7 ow e 12% = 0 120 75w Faw #t # sl o 15% &% 9 125 s o e w6 ) af

T T A e 1360 77 f @ aw 12% =0 120 759 = G e a2t
Sakshi invests a part of Rs. 12,000 in 12% stoek at Rs. |20 and the remainder in 13% stock at Rs, 125, If his total
dividend per annum is Rs, 1360, how much does he invest in 12% stock at Rs. 1207

A Rs. 4000

B. Rs. 4500

C. Rs. 5500

D Rs. 6000

B, w==fw 3 13200 =3 &= § o e € @ | 4% =37 207 1 9% 50 Feme & i 100 7@ S 9mr & 110 728 = fEm

L TR 2 0 e Bt B 1 1 | i e
A person has deposited Rs, 13200 in a bank which pavs 14% interest. He withdraws the money and invests in Rs. 100
stock at Rs. 110 which pays a dividend of 13%. How much does he gain or lose ¥

A Loses Rs. 4876

B. Gains Rs, 48 =m

C. Loses Rs, 132+%

D. Gains Rs. 132 v

Q. v sl 1950 w03 59w @ o ggf) e @ ol | oad & g o 2200 o § A o gl s w 10% e i 2, @
EIECN
Aman buys a watch for Rs. 1930 in cash and sells it for Rs. 2200 at a credit of | vear. If the rate of interest is 10% per
annum. the man:
A Gains Rs, 35 =m
B. Gains Rs. 50 =
C. Loses Rs. 30 #
D. Gains Rs. 30 =

10, vs 55 31 10.5% 1 gz 35 % o 716 w03 & sy mam afz 6.5% 3 gz ff st R, 5t 38 B 3 3t 3 smom 2
An article was sold for Rs. 716 afier offering & diseount of 10.3%. 17 a discount of 6.3% is given, the for how  much (in
Rs. ) should it be sold?
A T3
B. 756
C. 748
D. 675

11. =f% 6.000 = sifiea g areh o wrefm Fam uw o w1 5,520 o # &:f of 0 e & offe gy w0 A = A g

& 7T 37 2
If a dining table with marked price Rs, 6,000 was sold to a customer for Rs. 3520, then the rate of discount  allowed on
the marked price of the table is:

A T

B. 3%

C. 8%

D. 6%
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12, 22,24,28.7,52. 84
A 36
B. 3%
C.42
D 46

13.. 13,3557, 79.911.?

A TTID
B 1112
C. 1113
D. 1315

Ve e armrnnd) @ sy Fifi st s} & savam oo wsdt (14-1 8) % 3en d@ifam

Study the following information and answer the questions ([ 4-18) based on the information,
gi= w@tw PQ,R,S s T ¥ v Fesiim Taendl 2, v wie faendt # aif v 7790 figemd 1 P ofty S sifemnfen sfvemd # off o oft
we B e ot 8 0 ot ofeen s @ weeter A9 e 8wk et e f e T of 2 Q, R @ owig & oficaw 7 d wiwi
frgemdt & sdte 7 ol Froemdt
I'here are five persons POUR.S and 1. One is football player. One is chess player and one is hockey plaver.
P and 5 are unmarried ladies and do not participate in any game. None of the ladies plays chess or football.
There is a married couple in which is T is the husband. Q is the brother of R and is neither a chess player
nor a hockey plaver.

14, T faemst 79 27
Whao is the football player?
AP
B Q
C. R
D, D
15, @ T ol 27
Whao is the hockey player?
AP
B. Q
C. R
D8
16. s faerd =m 2

Whao is the chess plaver?

oNnZm e
— = o W

17. TH=hsm#?

Who is the wile of T7
A: P

B. Q
Page 3 of 20



C. R
D 8
18, ¥ ot & -
The three ladies are
A, PO.R
. QLRSS

B
C. Q.S
D RRS

19, w= Fias 2w i, COMPUTER &1 RFUVONPC Temn s 21 3l 2 § MEDICINE =1 % fera som?
I a certain code language, COMPUTER is written as RFUVONPC, How is MEDICINE written in the same code?

A EOIDEIFM

B. EOIDIEFM

C. MFEDIJOE

D. MFEJDIOE

20. GLADIOLUS w7 % g =57 &1 =350 avmie g 5 se sat @ giaeatm G man @ s gci = 5 a0+
TR & S A e ) T s § R e g e
Each vowel of the GLADIOLUS word is substituted with the next letter of the English alphabetical series and each
consonant is substituted with the letters preceding it. How many vowels will be present in the new arrangement”
A v One
B. #Two
C. i Three
D. = = 3 No Vowel

21. v bl voe 8 160 wrea 8 o v o 6 mra wee B, alv wdie amee an ol e an g 8 70 s ere B, e 120

gy = # gty | 8 e o B At e ene it 6D
A Parking lot containg 160 Vehicles. Each Vehicle Is either a car or a truck, and each vehicle is either red or green. 70
vehicles are red, and 120 vehicles are cars, [ there are 18 green trucks, how many red cars are there?

A 54

B. 50

C. 48

D. 45

22, wivdh o st g e el et B, " ik qrn S gl A R AR A" ARt i) & s e 37
Pointing to Gopi, Nalini says, "1 am the daughter of the only son of his grandfather," How Nalini is related to Gopi?
A wird Niece
B. & Daughter
C. ama Sister
D. fufis = fem =1 79 Cannot be determined

23.ASBH udB A BaRmi A#Br it A BRamt A*Bmaudb A, BATA2 4 A @ Bw o
2 A, B w owrd B Rrefaiias & 4 = o gae 2w 2 fe ML, Q &1 g=it 27
A 'S B means A is the father of B: A# B means A is the sister of B; A * B means A is the daughter of B and A (@ B means
A is the brother of B. Which of the following indicates that M is the wife of Q7
AQSRET@M
BQSR@T#M
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CQSR*T#M
D.QSR@T*M

24, = ﬁ’nﬁﬁnaﬁraﬂtmmﬁﬁqrﬁfﬁﬁﬂm. B i e o o A e e M R e R | e

TH w77
Pointing to the woman in the picture, Rajiv said. "Her mother has only one grandehild whose mother is my wife,"
How is the woman in the picture refated to Rajiv?

A = Cousin

B. == Wife

. a2 sister

D. 2= wwiy Data Insufficient

25, v o o ard B D segen o) wee B B R A e B 8 s ey 87
Deepak is brother of Ravi. Reena is sister of Atul. Ravi is son of Reena. How is Deepak related to Reena !
A = Son
B. wd Brother
. wtrMephew
D. far Father

26. 306 T ATl vF gE & T A AHIR FE 0 W S ] B e - B
The total number of digits used in numbering the pages of a book having 366 pages is
A 732
B. 990
C. 109%
D. 1305

27, w3 Pt ganer wel we Fbu, wod A ares e Ee e s sd w48 g e Be, o el T g wdl v
ferm?
A student got twice as many sums wrong as he got right, If he attempted 48 sums in all. how many did he solve
correetly?
A2
B 16
C. 18
D.24

28, T sl 8 8 o sl s e S A S e sl g sl g § sl i

Select a figure from amongst the Answer Figures which will continue the series established by the four Problem

Figures,

Problem Figure

A sl
A [] [+ (=]
Answer Figure

g £ 2 bl
|| 2 [] L] &

Al

B.2

g

D.4
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29w syrefiel 4 & v s sk S e d s e ssfadt g sy e el wief
Select a figure from amongst the Answer Figures which will continue the series established by the four Problem

Figures,

Problem Figure

= G L w
C|l + = .
) & - =]
a L] 4 i

Answer Figune

® | = w | @ ]
Q . 1l (=] o

EIHEHHE
] L] [ 7

Al

B.2

C.3

D5

30, m syrEfEE 8 @ s Sl S R FOwi ey S g St S i wE
Select a fipure from amongst the Answer Figures which will continue the same series as established by the five Problem
Figures.

31, T ArERRET § # U AT TG F G W S g et e 5w )
Select a figure from amongst the Answer Figures which will continue the same series as established by the five Problem
Figures,

Froblem Figure
N
A n c o E
AMWFm__
TEAN
1 2 3 4 B
Al
B.2
C.3
D4
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32, = Peedi § 4 = v wge Br areaff ofte & Rrsg ameft e ac 53w ed S Raad B

Figure out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at
the dotted line.

Trarsparen! Sheet

bk i e :

A | ILAH @i [7]
L 1...- L 2. _1, ..»t.
A

B.2

a3

D4

33, =n Fgedi 8 4 g v wmee B sl vive 9 Ry e o wodgs we e A R @)

Figure out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at
the dotted line.

Transparent Sheet

34. = ot # § aw wa e v afte it e e s o e S e T

Figure out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at
the dotled line.

Transparent Sheet
Response Figures
<ER<EE=B
IR
1 2 3 4

Al

B.2

C.3

D.4
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35, aw swfa 57 o st (2) o &9 @ ged s e e o

Choose a figure which would most closely resemble the unfolded form of figure (7).
Paper Culting Procoss

XY
G

AALA

oome
e

3y, Freferfia srsft @ @ we st wm fifae, o 9w g @ i oo F Bew s w Rt 5w s i 7
TR

Amongst the following figures. find the correct one, if it is known that the total number of dots on oppusite faces of
the cube shown is always 7.

"a s ™
= #la - . ) I
- =
& = - & & al®

1 Z 3 4

Oome
[

37. vsud F ge el wamm: AL B CL DL E s F s st 8 om0 od =1 di ap = & sw g s 8) # fafl
Fulenideii £t b

The six faces of a dice have been marked with alphabets A, B, C, D. E and F respectively, This dice is rolled down three
times. The three posilions are shown as:

A w0 R e g

Find the opposite side of A
AC

B.D
C.E
D.F
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38, wrardl H a, b, ¢ o d # g wendt ax afioneed w0 B o B oo e o o w2 N2 R w3 oy ¢ gl
w0 R, Y A e @ 7
In a dice a. b, ¢ and d are written on the adjacent faces, in a clockwise order and e and [at the top and bottom. When ¢ is
at the top, what will be at the bottom?
a

d
a

Aa
B b
Ce
D. Data insufficient

39, v W= 6 T - A, e, de, L S S At - F oo 1A e et = g
A cvlinder is painted in 6 colours - Green, Blue, Yellow, Violet, Red and Orange, Three positions are shown belaw:

Orangs
i)
Yallow
= 1) 6=
1 2 3
IR P 8 Em A7
What 15 the colour in the empty spaca?
A Frr Blue
B. w1 Green
. it Violet
0. e Yellow

fra Fow e wsd (140-144) % 3w 34 & Foyw ofesm = weEs swmT =0
Study the Table carefully to answer the following questions (40-44) given below:

i -5 TS © S - 2 S e o Bl O S & g

MNumber of animals in the grassland of four different countries in five different vears

40 Country

i SFar St == i =5
Year South Affica China Sri Lanka England

Tiger | Lion | Bear | Tiger | Lion | Bear | Tiger | Lion | Bear | Tiger | Lion | Bear

1990 (145 | 156 | 250 |320 |346 (436 | 280 |468 |255 |423 (3427 | 234

1995 | 134 | 165 | 354 |[445 |25 | 542 | 354 | 354 |[343 | 368 | 136 | 345

2000 | 120 |'135 (324 | 383 | 325 | 454 |433 345 | 345 | 354 (267 | 450

2005 | 110 | 184 | 285 | 466 |475 | 322 | 343 (324 | 346 | 562 | 235 | 367

2010 | 160 | 224 | 264 | 411 | 335 | 534 | 535 532 453 |349 (345 | 324

40, gz sdter ¥ S Sl S A i sitea den e 6

What was the average number of tigers in the grassland of Sri Lanka over all the year together?
A 386
B. 389
Page 9 of 20



C. 369
D. 276

41. & 2005 & 52 i arg & Sar 3 967 0wl B dun il 1995 8 afion snfien  oura & few 8§ and ) e

it o s ar?
What was the difference between the total number of lions and bear in the grassland of England in the
year 2005 and the number of tigers in the grassland of South Africa in the year 19957

A 597

B. 558

C.677

D. 668

42, i 1990 & < % s ¥ S St ) s e, e A 5 ot T % S s o) e e e e
ECHER R
The total number of animals together in grassland of China in the year 1990 was approximately what
percent of total number of bears in the grassland of Sri Lanka over all the vears together?

A 44
B. 56
C. 41
n. 51

43, afyaf 2000 # = % @ % Frw o gt s F1owen 6 & 35l semdt & wwo wom, e 2000 5 9 s # e
1 ot wes w7
If 35 percent of the total number of animals in the grassland of China in the yvear 2010 died due to an
epidemic. how many animals remained in the grassland of China in the vear 20107

A, 976
B. 952
C. 986
0. 962

44, =4 2000 & = =90 F A F dee § 99 A a5 w1 dR-hng fear feem w?
What was three-fourth of the total number of lions in the grassland of all the four countries in the vear
2000 together?

A, B4E
B, 868
C. 804
D, 824

Frferfias staeyt 1 e Fo &R A B oe g (145-148) % 3 &
Study the following arrangement carefully and answer the questions (143-148) given below:
1 9 2592426258574 5283512314146 8373%09

45, =0 I s # @ Wi e s w0 A, J el § @ S w0 s e & A, S 6@ e g
IF all the even digils are deleted from the above arrangement. which of the following will be seventh
from the left end of the arrangememt?
ALY

B. 3
Page 10 of 20



C. 1
D.7
46, aviw syaen § 0 e 2 8 Rk A o dh I am v fan o )
How many 2 are there in the above arrangement each of which is immediately preceded as well as
immediately followed by an odd digit?
MNone
One
Two
Three

oo

47, v smaen i 08 e 5 A e @ uees & d e s s R e e am 5 8 s 27
How many 5 are there in the above arrangement, each of which is immediately preceded by a digit
which has a numerical value of more than five?
A, None
B. One
C. Two
3. Three

48, T ST ¥ i B H IEE 3 & w8 el s it 8 s 8
Which of the following is eight to the right of the nineteenth digit from the right end of the above
arrangement?
Al
B.
e,
D.

g8}

S B P ]

49, skEsiZa R:5aTwRTa D=:3a, Ss43, 15640 N = 94 wfrniis = fmn s @1 RESIDENT

I 3R A 3w ey s ?
IFE replaced by 2. R by 5. T by 7. D by 3. S by 4. 1 by 6 and N by 9 then how is RESIDENT written if
its letters are reversed?

TR326425

T9236425

52463927

54263927

oo

S0, Fae o P 2 o o duer gl o0 Faafafise duen o on Fg (7) % s g s gsdl 81
Select the number from among the given options that can replace the question mark (7) in the following

SETIEs,
16, 33, 100, 401, 7
A, 1233
B, 804
C. |388
D. 2006

S1. 7vTe & gemerms vt aret g & ot 100 fefiam # st s @ TR A s e gt 150 i ¥
Tt A= F 2 e i sl A e i)
The speed of the train traveling from Nagpur to Allahabad is 100 km/hr when traveling from Allahabad 10 Nagpur, its

speed is 150 kmv'he. Find the average speed during the whole journey.
Page 11 of 20



A 125 A ma. KM/HR
B. 75 e fus, KM/HR
C. 135 fesing, KM/HR
D. 120 & zr KM/HR

52, dftw srerm-srem st & ovs v wien @ mbEe g awelt e & 10 onit a ww shen 0% o, gud wen & |5 e
e aftaa 60% @ o drad e % 25 el @ we sl 80% an @ wanadt & el w1 sfiea i gz Eeft?
Students of three different classes appeared in the commeon examination. the pass average of 10 students of the first
class was T0%, the pass average of 13 students of the second class was 608%, and the pass average of 23 students of the third
class was B{F%s. what will be the average pass rate of all students of the three classes!
A T4%
B. 75%
C. 69%
D. 72%

|
Lad

. BO wvmms i = st 42 ¥ 9= 3 i weEn = 4 9 Foag 85 gened o siE 45w a0 S et = s g

i)
Thi average of 80 numbers is 42, when 3 more numbers gre included, the average of 85 numbers becomes 43, find the
average of 3 numbers.

A 82

B. 89

C. 93

0. 9%

54, afs wd gafin 16 i 8 gl @ aef B, @ 8wl i g Pl @) smeft?
If & sum doubles in 16 vears, how mach will it be in § vears?
A 112 Frtimes
B. 113 o times
C. 114 77 times
D. 134w times

55,12, 15, |8 =i 20 & o7 gwizar & 71 0 S S S S A 5w 6w
What is the least number of soldiers that can be drawn up in troops of 12, 15, 18 and 20 soldiers and also in form of a
solid sguare?
A 500
B. 400
C. 1600
D._ 2500

56, oFaeam # 60% o9 weE F b el il # e | 5% agt ot 7.5% saiet 51 fe e e ol bl e
5 gz a A 1 aen 90 & @ 50% g2 v T o i I 5 w0 8, W 9% 50 7w 2 i fm A g T e
aret 50% == et 9 4 g2 g F T A
In an institute, 60% of the students are bovs and the rest are girls. further, 15% of the bovs and 7.3% of the girls are getting
a fee waiver, if the number of those getting a fee waiver is 90, find the total number of students getting 30% concessions
if it is given that 30% of those not getting a fee waiver are eligible to get half fee concession?
A 360
B 280
G.320
D.330
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5T, i o e A A o an ufterm 5 s quedify o0 8 2 o sl g ol B | aaedl, 1994 0 9 o e 20
) ufe Rt 3 1994 s 1995 o qrefify o 8% ot smfe &) | svafl, 1996 st et & s e
= wft

The rate of increase of the price of sugar is observed to be twio percent mone than the inflation rate expressed ina pereentage.
the price of sugar, on Janwary 1, 2004 15 Rs. 20 per kg, the inflation rates of the vears 2014 and 2013 are expected to he
K% ench. the expected price of sugar on January 1, 2016 would be

A RS, 23.60

B. RS. 24.50

C.RS.24.20

D.RS. 24.60

58, v o anfi 1,35, wwgw 12 R mam o g 7
What i the sum of the first 12 terms of an arithmetic progression 1,3, 5.......
A 67
B. 45
G144
D. &4

0.9 Am23=B=Ti%=Cx060aA:B C2-
If 23 ofa=75% of b= b ofc thena:b: cis
A2:3:3
B.3:4:3
C.4:5:6
D.9:8:10

60. v g guarer 7w 3 efton g | e o fem 36 wfte g @ Faa afz sw s T |5 s g fiemm 2, At
Fysr & e oty of) s s g i
A dishonest milk man mixed | Tirre of water for every 3 litres of milk and thus made up 36 litres of milk. ifbe now adds
15 litres of milk to mixture, find the ratio of milk and water in the new mixture;
A12:3
B 14:3
Gop:2
0.9:4

61. 2 = amm 9w oF waa § 25% wewEe # iR 6 wie g ae g s d 0% wewwe f ok g 8 e w10
E e e B Y M e e B A - e e T B

A vessel of capacity 2 litre has 23% aleohol and another vessel of eapacity 6 litre had 40% alcohol, the total liguid of §
litre was poured out in a vessel of capacity 19 litre and thus the rest part.of the vessel was filled with the water, what
is the new concentration of mixture 7

A 9%

B. 49%

C.31%

D.71%

62, v wrmet | faz 550 e #1 gff 79 Fadft & o v ww 45 Fez d 33 i 1 2 w0 2 a0 w2 afa a0 agme
7 37
A train covers & distance of 350 metres in | minute, whereas a bus covers a distance of 33 kms in 45 minutes. The ratio
of their speeds is!
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A4
B.3:
C.3:
D.5:

PO S ¥ i

63, ©F FHEE A A W e qeg 3 30% sttaw g e s # ofn Bl ® ams 0% f gz w B oo st feem ama

B
A shopkeeper marks his goods 30% above his cost price but allows a discount of 10% at the time of sale. His gain is:
A 2%
B. 20%
C. 18%
D 17%

64, v = A i 920 7 B o T o A g2 W F6 F o g o 742,90 w8 w5 e s 3af wewf ge 6
0 1 5% A aed gz o) g B7
An article is listed at Rs. 920. A customer pays Rs. 742.90 for it after getting two successive discounts, [f the rate of first
discount is 15%. the rate of 2nd discount is:
A 3%
B. 5%
C. 8%
D.12%

65, ww = 5t 200 drz & 1 8 e qfersd e b qfem o S Snoaer e 2 o qfeeeed s der s b S il
yieas w10 Bl A 1 Fefifda fiama o da 6 s m s de S @ = 87
A thief is noticed by a policeman from a distance of 200 metres the thief starts running and the policeman chases
him. The thief and the policeman run at the rate of 10 km/hr and 11 km/hr vespectively, What is the distance between
them after 6 minutes?
A 100 = meter
B. 190 dter meter

. 200 iz meter
O, 130 ofr meter

O6. F=zr A 1 UF T TEE T4 # 3 ez w0 § s ez B w3 e ww # Ak s AL B siw CowE o a s
14 595z a0 w8, o et s C ok g Wi w8 e e e 27
Computer a takes 3 minutes (o process an input whike computer b takes 3 minutes. [f computers a, b and ¢ can process an
average of 14 inpuis in one hour. how many minutes does computer ¢ alone take 1o process one input 7
A 4 R minutes
B. 6 firm minutes

C. 1 e minutes
D. 12 fiFe minutes

67. i A i B foere oF T S g e g A S s At e | SR e @ e A,
3 T o g 21 aen) s T A o T A w faee fem e ?
Two workers a and b working together completed a job in 3 days. Ifa had worked twice as efficiently as he actually did,
the work would have been completed in 3 davs. To complete the job alone, a would require?

A 5105 Badays
B. 6 1/4 f& days
C.7172 fea days
0.8 3/4 fmdays
Page 14 of 20



68, v st = 9 St 37 9 o el o 88 9 A o e A uw e, v athm ol v o 39 o e

i o =Far?
One man ar two women or three boys can do a piece of work in 88 davs. One man, one woman and one bov will do it
in?

A 44 7 days

B. 24 & days

. 48 7 days

D. 20 f= days

69, ALLAHABALD vre & st %) Feard fafiys aiiel o syafian Gomn w27
In how many different ways can the letters of the word ALLAHABAD be arranged?
A 37RO
B 1890
G. 7560
D. 2520

F0. A v & 35 Frm =e= wee, Tt w014 7 ofs Bew #, =1 o Rl v & B oww & =57 e & | e

s B = dimm 695 5w o Ben 2 e fem =0 767 ww oy fn $i 2 @ sen mar i | 8% s safEs R mn) s
i B e % ded wTaey 0 A (e 1) = oa?
33 kg ol type a sandal powder, which costs Rs, 614 per kg, was mixed with a certain amount of type b sandal powder, which
costs Rs. 693 per ke Then the mixture was sold at the rate of Rs. 767 per kg and 18% profit was earned. What was the
amount (in kg) of type b sandal powder in the mixture?

A 2 e, KG

B. 8 &%w KG

C.32fwm kG
O 36Fm kG

T\, o= FAw & o a1 5 31 A 8, v 12 S e e |6 S Em | S S E A s A = e 3 e =
frer w3t & e = ?
A gold smith has two qualities of gold. ene of 12 carats and another of 16 carats purity. In what proportion should
he mix both 1o make an ormament of 15 carats purity ¥
Al:3
B.2:
C.3:
B3]

b Lad

T2, v P wry 5 e ol o o s 30 2 B af g T vy o 250 sy oty Fisenen ser ot g by Tt oY s & g &

e & ot vy o foer o (o ) Pl 7
An allov contains copper and tin in the ratio 3 : 2. 17230 gm of copper is added to this alloy then copper in it
becomes double the quantity of tin in it. What is the amount (in gm) of tin in the alloy?

A 230

B 730

G 1000

D. 500
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T3, e sl wre v sagang § ense 8 e 3 15wl F R 104 el srd s st @ 213 e T ane & S
i Tt e e e ]
Rahul and Bharti are partners in a business, Rahul contributes 1/4th capital for 15 months and bharti received 23 of

profit. For how long Bharti money was used.
A R wf months

B. 10 =¥ months
C. 11 ### months
0. 17 wid months

T4, areen, sww sty gfive 3wk s g R e 3102 Rem, seon 3 1/3 e afty 9 ot gl 3 Bl i o
i wn Ei?
Rahul, Arun and Sumit started a business. Rabwl invested 112 part, Arun 13 part and rest of the capital was invested
by Sumit. The ratio of their profits will be 7

TS, @ mdmdl Xosh Y & fm o argur 11 0 12 Refe i oy s 2 0 3 Bl X3 B ol & foro v & B
Feran, o1 Y 3w B St v 3 oo Foean 7
The ratio of investmens of twe partners < and v §5 11 12 and the ratio of thelr profit s 22 30F & invested the money for 8 months,

then the time for which v invested the money is 7
A # i months

B & %% months
. 10 w57 months
0. 1| = months

76, uF itz Zedt wfia @ 30 we e & B s 3ot R andt o wifivs w0 @ 0 @ G a0 B af s 9 oge ded 24

off i 7= AW & ww 30° w1 R g &, 0 9 e s w w?
A tree breaks and falls 1o the ground such that its upper part is still partially attached 1o its stem. At what height did it
hreak. if the ariginal height of the tree was 24 meter and it makes an angle of 30° with the ground?

A 12 meter

B. & meter

C.9 meter

D. 7 meter

T7. v Fifdm gl o sedids =0 30 vk 99 F Seey sare i uw o F e s e s 180 vt ol 5
umEl § s FrE (W e @ am =7

{im a certam sum of money, the difterence between the compound interest for a vear pavable half vearly, and the simple
interest for a vear is Rs. [80. I the rate of interest in both the cases is 10%. then the sum is=7

A Rs. 60000 wmr
B. Rs. 72000 wm
C. R, 62000 wm
D. Rs. 54000 s
78, aft i Fifige ofty o 3% uf =8 ot =1 8 2 297 % Tom werafs = ol svarom sara o v o afw 200 578 &, i ofe =

7

II'the difference between the compound intérest and simple interest on a certain sum at the rate of 3% per annum for
2 years is Rs. 20, then the sum is =7
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A Rs, 2000 w1
B. Rs. 4000 s
C. Rs, 6000 wm
D. Rs. 8000 s

T, A o e ) ang w703 % aepia 3 B 4l 6 4 ang 3R g o 503 En A sl g | e st 27
The ages of Samina and Sulana are in the ratio of 7 - 3 respectively, After 6 vears. the ratio of their ages will be 5: 3.
What is the difference in their ages!

A 69 vears
B. 8 years

C. 10 =f years
D. 12 =i years

80, 3 orer X F1 s Y o Ao srg 7 off7 ool v 8 Z Framg Y i s A gE i wwE w2, X w | 2 e

21 Z i 3o sy T R?
X'sage 3 vears ago was three times the present age of v, At present 2's age is twice the age of v. Alsoz is 12 vears
vounger than x. What is the presentage of 2/

A 157 years

B. 24 7 years

G. 12 i years

D. 18 #i years

81, m= et iy o w72 9 F B e @ FOn
How many rotations will the hour band of a elock complete in 72 hours?
A3
B.6
GC.o
D.12

82, 14 g X 9 iz & =00 % 53 10 24 F fern 63 = 2 Feem g el o steega Sy
How many metres ol carpet 63 cm wide will be required to cover the floor of a room 14 metees by 9 metres 7
A 185 4 metres
B. 200 = metres
C. 210 iz metres
D.220 5= METERS

83, uf & i & afefesdt 1 wam 2 0 3 A 3% Srwei w1 ST w0 E?
The ratio of the circumferences of two coreles s 2 0 3. What is the ratio of their arcas 7
A 2:3
B.4:9
G.9:4
D.3:5

84, v o B Preen | 8 g ) el B ) o S 22 o it g st B gm0 o e B e 37
The area of a circle is increased by 22 sq. Cm if its radius is increased by | cm. The original radius of the circle is
A 3gdem
B 4 #fiem
Page 17 of 20



C. 8 & em
D. 65 em

85. 71 ois% uw ¥ 5= A 1 SoT-Ho SRR TE W As 1w #) &l S G 5 e w0 i B, A 3 e

i s 2t = 77
Two bews are running on two different circular paths with same centre. I their radii are 5 m and 10 m, the
maximum possible distance between them is :

A5 daM

B. 10 & M

C 135 M

D. 20 i M

80, 6 srer w0 3 4 dites < vw B0 | ofvze 25 ft o) el o vt By se it wem g g A s &7
A cistern bm long :zmd 4 m wide contains water up to a depth of 1 m 23 em. The total arca of the wet surface is:
A 494
B. 50 #/M”
C. 53.5 dr/M°
D. 55 @ /M°

87. srwtes =y 2 Indt T OF FAER UEY F Wy # 0 6 i 0t e S § OF e o 0 awar 2, e s 0 B
60 =t 1 30 feme 5 ot = = e = st

Water flows out through a circular pipe whose internal diameter is 2 em, at the rate of 6 metres per second into a cylindrical
tank. the radius of whose base is 60 cm. By how mueh will the level of water rise in 30 minutes 7
A 2 M

B.3d= M
C.4dq=M
D. 59m M

88, w vt a7 w52 w0 40 deft o 29 0 B ey W 2 i B Al e § e g |, il w5 A
(1.5 1 2, 7 @ =1 599 8
The dimensions of an open box are 32 cm = 40 em = 29 ¢m, It thickness is 2 em. If 1 cu.em of metal used in the box
weight 0.3 gm, then the weight of the box is :

A 6832 fn KG
B 7.576 Fm KG
C. 7.76 7 KG
D836 frm KG

89, =1 siw1 =i w5 W # S e 8 8w w6 | § Wiy = w6 i 26 Wi f Al A e -

A two-digit number is such that the product of the digits is 8. When I8 is added 10 the number, then the digits are
reversed, The number is:

Als
B .24

C.42
D &l
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90, & st are dun s @1 S0 F dm & T o d ek St 1 gered B Al deen @t B e o deen @ 18 w6 B e dan

91.

92.

Q3.

94,

95:

96.

w7
A two-digit number is 7 times the sum of its two digits, The number that is formed by reversing its digits is 18 less than
the original number. What is the number?
A
B. 52
C. 62
D72

e gt e @ Bk gi=d v 8 4 6 gl g S8 v 8 10 ol g 27
A number whose fifth part increase by 4 is equal to its fourth part diminished by 10, is
A 240
B 260
G.270
D.280

wmwm s aentEd, 6, 8, 125w |6nPmim s mras R o m 2w =1
The least number which when divided by 4. 6. 8. 12 and 16 leaves remainder of 2 in cach case s =7
A 46
B 48
C. 50
D. 56

g et 12906 i 1481 8 &7 3=97y voyeads (HOF) 478 #1379 avgmm ammgas (LCM) = 27
The HCF of two namber 12906 and 14818 is 478, Their LOM i ¥

A 400086

B 200043

. at0]2%

0 g00172

12, 15, |8 30 27 2 4 waire & i Toreres o = 4 il o il 27
The largest d-digil number exactly divisible by each ol 12, 15, 18 and 27 is?
A 0690
B 9720
G 9930
D 9o61)

e s fatdar & = 1001 Fet 5 910 s = gen fGafe B e # 5 e o # o s 3
The maximum number of students among whom 1001 pens and 910 pencils can be distributed in such a way that each
student gets the same number of pens and same number of peneils is =7

A9

B. 910

C. 1001

D. 191

(00001 5HLO01 5=
A 0175
B. 0.00175
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C.0.0175
D. 0.000175

07. 582994 + 14.5= 172, 29.94 + 1 45 ="
1£2094 + 14.5= 172, then 20.94 + [ 45 =17
A 017
B.L.72
C.17.2
D 172

98. 15X 1.25X05=

A 09575
B. 09275
C.09375
D.0.9755

99. = & 1 v wwre  fow 798 F A arrerem 8w, sl ofw el 2024 % s 5 e ae e e A
1y 7
A canteen requires 798 hananas for a week. Total how many bananas did it reguire for the months of January, February
and March 20247
A 10277
B. 10374
C. 10480
D. 10586

100.3f 5 &z 3w § Ffew € Fma 145785 7o #7715 9z oiw 24 == & Fiwe w7 7017
The cost of § pendants and § chains is Rs. 145785, What would be the cost of 15 pendants and 24 chains ?
A Rs, 325285 =1
B. Rs. 439355 #m
C. Rs. 495825 v
D. Rs. 437355 »m

LR Ly
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ANS

Q.NO

33

54
55
56
57
58
59

&0
61
B2
B3

B4
b5
66
67
BE
69
70
71l
72
73

74
75
76
77
78
79
&0

E1
B2
&3

E4
85
B6
E7
EE
89
20
a1
82

53
24
95
56
&7
88
99
100
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13
14
15
16
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20
21
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24
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a7
]
29
aa
31
az
33
34
35
36
7
38
39

41

42
43

44
45
46
a7

48

44
=0




General AwarenessHIHIT GIld[ERchdl--A

1] India is a Republic which implies one of the following: #Hd Teh
AR g ToEaT diedd Heafeidd & ¥ U@ g

a) The constitution is supreme. gfgus Fwafta 8.

b) The Parliament is supreme. #4c Haley g

c) The head of the state is elected. T AT HE e E'-)IT-|T gl
d) It is independent in making its own policies. ITg 379l Afaar
9 H TEaT g

2]The Parliament can diminish the area of any state as per which of the
following:T8e, fA=faf@a & ¥ frasd 3gar Fdr s &
HAhoT HH H Tohd! &

a)Parliament alone3iehol Tac

b) Parliament on the recommendations of PresidentIrseqdfa &r
Rwifet W §8e

c) By Parliament on the recommendations of the President and views of
the legislature of that state. Wﬁ' Fr Awiet 3R 39 a5 Hr
faufRes & JERt W e gl

d) none of theseSsT H & HIs gl

3] Fundamental Rights provided in the constitution are not
enforceable against which of the following: @feena # wea Hifes
HeR Feafoiaa 3 & Fus fOvey o] 7gr e &1 ¥ &
a)Central Universitieshgid faeafacarera

b) State Universities{Tod ﬁ%ﬁﬁ'c‘@l’l?ﬂl’

¢)Private Universitiesfa=iT fa2afagaTerd d)local bodiesTATART AT




4]Which of the following is not a fundamental right? F=eEa &
¥ Fi9 T@1 Alfore J¥FER A6 22

a)freedom of speech and expressiondT¥UT 3T AT Fd Hr TFdFdT
b) freedom to form associations and unions TATHTLA 3T Ilﬁ'q?l'
g1 T TadAdl

c) freedom to assemble peacefully and with arms%ﬁﬁﬁ?
3R EURT & 9Ty UHA g T TaaAdr
d) none of these 3T H ¥ HIs &l

5] Under which article of the Constitution the following is

guaranteed? dfeu= & g 3FeIToC & ded Aae@a
AE & M3 B

a)a person cannot be punished more than once for the same offencefehdT
cgfed & U & WY & fov vk ¥ 3’f8s ax 3T =78
frar 3 geRar

b) a person cannot be compelled to be a witness against his own self.
frdr safea & @Y & [A%cy 98 949 & forv areg =87
e a1 gehar)

c) a person cannot be convicted for any offence which is not a violation

of lawfrdlT cafFa # Fdr 0 sy & e gndr w@r sgwrar
ST HehdT ST &I FT Sooad 7 &l

d) all of the above ITMFT Tafr

6]Which of the following is true in respect of the ninth schedule? =G

I & e H FArAf@a # @ i @1 FaT T &



a)It contains the power of Rajyva Sabha to make laws for the Schedule

Tribes. SHH TST FAT H HFGRT FAAaal & [T FHAa
g9 ¥ g & TS T

b) It contains the list of Acts/Rules which cannot be declared
unconstitutional even though it violates the Fundamental Rights. SHH

34 FRfAgArETAr & g= & 713 § O smauniEe g1t
81 foham 5T gonar. 9o & 9 Aifow 3fUFRT &1 Ieaua aa
&l

¢)It contains the concurrent listSGH FHAA! Tﬂf-ﬁ' qTHA &

d) none of these 3T H ¥ HIs &l

7] The Fundamental Duties in the constitution were
incorporated vide which amendment? @fau= & #Alfes
Focdl ® fhd T & caRT Tide fohar I/

a)44 b)42 c¢)46 d)none of these S p= e El'ﬁé F-I?T

8] Which of the following is false in respect of the
President of India? IR & {sedlad & JaY H Heafaidd #
T &I T FIT I8 T &7

a)The term of the President is 5 yearsTSg9Ta ST ST 5 99 &7 g1 &
b) The President demits office immediately on the expiry of 5
yearsﬂ@ﬁ5aﬁ3ﬁ'mmmwaﬁ?qﬁmaﬁ#
c) The President can be removed from office by the Parliament.
TSI I HHG GaRT 96 ¥ FEAT ST HehT B

d) The minimum age for becoming the President is 35 years.

ISgafa §94 & fov =g=a8 1Y 35 a¥ gl




9] In Rajya Sabha the maximum number of people who can be elected
by the state legislatures isUs THT H UsT FU=HASAT GART

fAaa 5 a1 d&a aror Safeaar &7 sifSsan aear fhaer
g2

a) 245 b)248 ¢)238 d)no limit SIS AT FET

10] Which state government functionary can take part in the
state legislature proceedings without being its member?
&l T T FIHN & UGS Tod FUHASA FHT TeFd o
foeAT 3THr FREAET H AFT o Fhal &2

a)Advocate General HEITUGSFAT b)Chief SecretaryH{EH gaa

c)Secretary General #EIEAE  d) none of these 34 H F HIs gl
11] The Tungabhadra Project is the joint venture of the

state of Andhra Pradesh and-- EI:?TSET GRS 3Te UGer
TeT 3HR-- & H§gad 3¢aA ¢l

a)Orissa 35197 b)Karnataka FeACH

c)Kerala ¥eT  d)Tamil Nadu T-I'ﬁﬁ?'l?l'@

12] Cuttack is situated on the banks of which river? &hceh g acr &
de X g &

a)Mahanadi #gTel b)Narmada FIﬁE.T

c¢)Krishna SO d)Godavari IMETELT

13] Moradabad in U.P.is famous for which of the following? 3d¥ Wger
# TR RERilE # ¥ R e afey B

a) hosiery BTl b)brassware GTdel & CEE]

c)locks dTer d)leather goods THS & HTHATA




14] The Nanda Devi mountain peak is situated in which state? T ¢drl
gad Rrex few =g # e @

a)Himachal Pradesh f@ATIe W2l b)Uttarakhand 393@s

c¢)Jammu Kashmir & FIHAN  d)West Bengal GI¥gH F39A

15] Which river is called the Dakshin Ganga?feh® &l @l EI&0T 91
FeT AT &2

a) Narmada THeT b)Krishna HsUTT

¢)Godavari INETadr d) Cauvery 1Ay

16] Which state in India has the maximum deposits of Gypsum? #HNJ
# Toms & Af0EHaH 4= 5y 157 F &

a)Maharashtra HgIRI®¢ b)Haryana gTToTT

¢) Gujarat [T d)Rajasthan IFEATA

17] Gobind Sagar Lake is a reservoir of which project? Mfdg PR
e frm of=ar &1 e &2

a) Hirakud w b)Rihand ﬁ'ﬁ'-'c."

¢)Bhakra Nangal $TTEST AT d) Kosi AT

18] Dhauladhar range of mountains are in which state? &TeITeT gad
@ fhH T5T H &2

a)H.P. TT.9T b)JK. S.F c)Rajasthan TFEATT d)M.P. THGT.

19] What is the approximate mean distance of the sun from the earth in
kms? g & §F #1 3Ed g ey # aereer fraer &2
a) 159 600,000 b)1 37 600,000 c)149600000 d)155,000000
20] Which is the shortest day of the year in the northern hemisphere?

38 Moy H 9Y FT 9 o T wlF ar 2



a) 10/12 b) 15/12 ¢)22/12 d)26/12
21] What is the approximate speed of light in kms per second? WehI?T

T AT T TehalldAey ufa @ehs & forar &2
a) 150 000 b)2 00000 ¢)250000 d)3 00000
221What is the approximate diameter in lakhs kms of the sun? 'HE&' T

=gy @ fererdEeT # e fhaer 2

a)l8 b)20 c)l14 d)10
23] Which is called the Red Planet?dlTel 3§ Ex el AT 87

a)Venus ?sh b)Saturn oty c)Jupiter %’F‘Tﬁl’ d)Mars HITS

24] How many verses does the Mahabharata contains? HgTHRT H
forcer ool &2

a) 200000 b) 150000 c) 100000 d) 75000

25] Hiuen-Tsang visited India during the reign of --d=1-c81ET = [FaH
MRS H ST T aNT fhar om

a) Harshavardhana Eﬁﬁé}.ﬁl’ b) Ashoka 37T2lTh

¢)Samudragupta HHG[CA d)none of these 3?115[ g Elﬂé' ar

26] Which of the following was the port city of Indus Valley
Civilisation? H&Tol@ad & ¥ &ia @'ig HTET &I &7 96
AT AT

a)Alamgirpur 3ﬂ?'I?=I1ﬂTFI:T b)Banawali SATTeIl

¢)Lothal Srerer d)Ropar ﬂqg

27] Which Greek Governor was posted by Alexander to look after his
North West India territory? T8@&hey & 39« 39 99T OARd &7

FI @ & fow fBFg g e & fAgea e am



a) Megasthenese HIEYATA  b)Nearchus ICErEape)

c)Ptolemy TIoIHT d)Seleucus Nicator @F“—'EFH faehex

28] What was the name of the wife of Buddha? §c¥ I GeAT T ATH
T AT?

a)Yasodhara IRATERT b)Malati HTeTd!

c¢)Mahamaya HgTHAT d)none of these smfr b=} EF]'%’ Ter

29] Who was Trishala? T3RIeT @ia o

a)wife of MahaviraHglaIX &l Tcal

b)mother of MahaviraHgTaIX chr AT c)mother of Ashoka 372Te T AT
d)mother of Chandragupta Maurya aa?lrrr A &fr AT

30] Who was the Buddhist religious guru of King Ashoka? =T 3721
& sy aifiie 7% F O

a) Mahagupta HE[td  b)Upagupta 393[Cd

¢)Srigupta fbﬁ?l'q d)Sivagupta f‘:’]ﬂ?ﬁ

31] Which muslim invader looted the Somnath temple? & H%—ITI'
HAVIHNT A BIHATT AGL & Fen

a) Mohammed Ghazni H)IBTH?.‘{ TSAAT

b)Mohammed Ghori ﬂﬁm?:.' T c¢)Mohammed Shah mB?:HE ATE
d)Mohammed Akram #IEFHE Hh{H

32] What was the capital of the kingdom of Qutubuddin Aibak?
FAgceld Vash & Uod $T TaTem=r Fa1 oA

=

a)Delhi Geoil b)LahoredBIX  ¢)Agra¥TTRT  d)SialkotTHaTerhIc



33] Which of the following kings was famous for his

economic reforms? Feafai@a # & i I1 TS 39S 3AS
guri & ferw ufdey am

a)lltutmish FeATHL b)Alauddin Khilji 3eT3cila &er=i]
c)Masud Shah HYCS 2ATE d)Razia Sultan Ir==T Hedled

34] Which of the following persons invited Babur to overthrow Ibrahim

Lodhi? R==ei@a # ¥ 8 =g9g o SaigH el & 3@13
thehel & [OIT STEY I JTATIT fohar am

a)Daulat Khan Lodhi @leld @T el b)Miraz Khan #TT @I
¢)Shaukat Khan 2ilehad @ d)Masud Amin HHG HATH
35] Viyjaya Stambha in Chittor was erected by whom? IEGIER:REEE]
T+ fRE® SaRT S99 4T o9

a)Rana Pratap IO 9d9 b)Rana Sangha I0TT Y

c)Rana Kumbha 0T FAT  d)Rana Sangram JTOTT TaTH

36] Who 1s Arzumand Bano better known as? 3-]?:?43' = Rg amF
¥ ufdey &

a) Nur Jahan FBGIETU b)Mumtaz Mahal HHATST HEel

c¢)Gulbadan Begum J[l€cs] §9TH d) none of these SAH T HIS Fal

37] Who was the person who effected major revenue reforms during the
time of Akbar? 3(ehe & HHT H YHW TS FUN fohaad o]

IEQ:
a)Raja Man Singh RajallalT AT f8& b)Raja Todarmal T SISIHA
¢)Mian Asif fAaT 3nfa® d)Sheikh Monudin & maz.ﬁ?r




38] Gopi Krishna is an exponent of which indian classical dance? 34T
0T fFE TRA™ AT g7 F ufaues &

a)Bharatanatyam ${dATCIH b)Kathakali el

c)Kathak h¥eh d)Manipuri ﬂw

39] What was the system in south India in which women attached to

temples performed various dances and were sexually exploited? Zf&yoT
AR # 9 B O craer off Sred A#RR @ o A
faf=a g Tt Of 3R 3aa Il enwor fosar SrEar 9
a)Devadasi ¢aciyd b) Monadasi HIAGIY

c)Sisitvar fBf8caT  d)Swaramaka FaXHRT

40] Which of the following place is famous for its terracotta craft?

A= # ¥ *l7 a1 = 3ua Qe e & for gfigy &
a)Bishnupur ﬁWICIJT b)Kondapalli shisTaeelr
¢)Cholamandal TTASST  d)Raghurajpur TESIX

41] Who was the DGMO of the Indian army who negotiated truce with
Pakistan in operation Sindoor? HRAT JAT & ISATTHT Hid &

=gl HToers gy # uifhea & 19 JeufawA ardar &
oAr?

a)General Dass STeiXel G  b)General Diwedi F=el &fadal
¢)General Ghai STa¥eT 2  d)General Singh =Rl [

42] S-400 missile defence system has been acquired from which

country? UH-400 AEES IET Yumelr foog &or ¥ ureq &#T 9713 87
a)Germany FTHAT b)America 3T
¢)France WTH d)Russia §H




43] Brahmos missile is a collaboration between India and---? SESIH
FaEa arg 3R feas &/ ggger &1 aRona 82
a)America3f®T b)Russia FF c)France WA d)Germany FHAT

44] Atmanirbhar Bharat Rojgar Yojana(ABRY) is mun by which
ministry? AT ARA USFIR AT (ABRY) fohT da0T

CaRT HAToId &7
a) Industry 36}“3! b) Rural DevelopmentITHIUT [dhrd@
¢) Labour and Employment /& 3T U@IR  d)Finance &89

45] Who has written " Elegy written in a Country Churchyard"
" Elegy written in a Country Churchyard" rasr o 82

a)Wordsworth Eiéjﬂﬁ'i{f b)Thomas Gray UTHH I
c)Shakespear AFHTAIX  d)Dickens Zohg

46] Who is the vice-captain of the Indian cricket team which will tour

England in June 2025? Sfa 2025 H 3903 FT GRT Fa aTal
aRArT e &F F1 3u-seaT HiT 82

a)Shubman Gill AdHA e b)Kuldeep Yadav gﬁlﬁﬂ' qlcd
¢)Jasprit Bumrah @I §HAT  d)Rishabh Pant ECERG

47] What is Bitcoin?fecshiss 4T 87

a)animal 9] b)fruit el

c)eryptocurrency TehCelehdd!  d) missile fRAS

48] Water is approximately what % of adult human body weight?7dd&h
AT e & AR H 1T forgar wfdera Ser gar g2

a) 30-40 b)85—90 ¢)60—70 d) 20-30
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49] Which Haridwar based consumer goods company was

co-founded by Acarya Balkrishna? gRcar feua fea
3UHFAT TEG HUAT T HE-FAMIAT AR STeighoor o Hr o
a) Patanjali Id=irel b)Himalaya @A

¢)Green Foods =T e d) none of these 3IH & HIS gl
50] On which street is the Bombay Stock Exchange located? dT&e
Tl UFFHTS [H &I U &g &7

a)DalalgelTd  b)Nariman=iIHT c)Candyhal d)Bearf9aT

11



English Language --A

Read the passage below and then answer questions 51 to 57 which are
based on it.

For far too long the western powers and multilateral agencies have
been greatly wanting in their concerted efforts to censure Pakistan in
sponsoring cross border terrorism. Pakistan has been overtly funding
terrorist organisations, providing infrastructure support and using them
as a tool of military empowerment. Many Security Council Resolutions
castigating Pakistan for its nefarious role have gone unheeded primarily
because of the geo-political interests of the major super-powers like
China which has been an all weather friend of Pakistan. China has
gained control of extensive land of Pakistan to facilitate it exports.
Thus only cosmetic counter terror measures have been taken by
Pakistan. Much of its efforts in this direction are merely an eye wash.

It is unfortunate and disastrous for Pakistan not to concentrate on
economic development, raising agriculture production, controlling sky
rocketing inflation, eradicating mass illiteracy, improving law and order
facilitating foreign investment etc all of which would strengthen
Pakistan and ensure better quality life to its citizenry. In contrast India
has focused on economic empowerment of its citizens, providing world
class education which excites intellectual pursuits, controlling inflation,
better infrastructure development improved law and order condition
and with incentives for foreign investment etc all of which have made
India amongst the fastest growing economies of the world. Pakistan on
the other hand has become a Frankenstein monster. It has

unnecessarily and unjustifiably generated a false existential narrative
blaming India. Its military which has explicitly and implicitly ruled the

12



country since inception has created an anti India paranoia. This seeks
to justify and legitimize the huge budget allocation and regal lifestyle of
the military personnel in the name of security threats from across the
borders. Moreover Pakistan has sought huge international funding
ostensibly to fight internal terrorism which is a by product of its myopic
policies of enriching punjabi muslims most of whom adorn the army.
The rest of the society has remained largely marginalized. Balouchistan
which is the largest province in Pakistan rich in mineral resources has
been unjustly exploited for decades. Whereas it has earned huge
foreign exchange it has continued to remain the poorest and the most
backward of all the provinces in Pakistan. It naturally feels victimized
and discriminated against. This has led to the formation of the
Balouchistan Liberation Army which has been carrying out multiple
military attacks on the installations and military personnel of Pakistan.
Additionally it is now clamouring for complete independence from

Pakistan.

51] What should be the heading for the passage?
a) Pakistan—a failed state.

b) Problems of militancy in Pakistan

c) Pakistan and terrorism

d) Policies of Pakistan

52] What is the most important reason for Pakistan not to heed to
international resolutions?

a) The unconditional support of China

b) The aggressive attitude of the Pakistani army

13



c) the internal problems of Pakistan

d) none of these

53] Why has Pakistan created an anti —India paranoia in the country?
a) It is a harsh reality which enables the country to get huge funds

b) It justifies the huge budget allocation and regal life style to the
military personnel

c) It prepares the population to be vigilant

d) none of these

54] Why is Balouchistan clamouring for independence from Pakistan?
a) It has been unjustly exploited by Pakistan

b) It remains very backward

c) he population is poverty ridden

d) all of the above

55] What is the meaning of clamouring as used in the passage?

al] to request peacefully and silently b) to fight aggressively
c) to demand something in a loud and angry way d) to speak with logic

56] What is the meaning of paranoia as used in the passage?
a) an unwarranted feeling of fear and suspicion
b) a justified reason of fear c¢) a state of high mental alertness

d) none of the above

14



57] What is meant by the Frankenstein monster?

a) a devil incarnate b) a foolish
c) a creation which ruins the creator d) none of these

Fill in the blanks with the most appropriate options.
58] Alok is afflicted ----leprosy.

a)in b)at c)with d)on

59] He has an aptitude ----geometery.

a)in b)with c)at d)for

60] The new officer has taken charge ----the office.
a)of b)in c)with d)to

61] | have access ---all vital information.

a)of b)to c)for d)about

62] There is no respite-----the heat wave.

a)in b)with c)from d)at

63] Ram has made himself indispensable ----the organization.

a)in b)at c)with d)to

64] The shopkeeper is very honest ----his dealings.

a)with b)at c)for d) in

65] The man eater tiger has become a menace ----the village.

alJin b)to c)within d)from

15
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66] The law prohibits ----driving on this lane.

a)to b)from c)at d)towards

67] The child is destined ----bigger achievements.

a)in b)with c)at d)for

68] The officer was apprised ----the facts.

a)of b)with c)at d)iin

69] The forest is infested ----wild animals.

a)with b)in c)for d)to

70] There is no incentive ---work hard in the organization.
a)in b)with c)for d)to

71] The convict ----to the judge of the crime he had committed.
a) told b) expressed c)confessed d) exclaimed.

72] Her -- attitude resolved the dispute.

a) obstinate b) peaceful c) conciliatory d) indifferent
73] Arrogant people are -----in nature.

a) hateful b) aggressive c)condescending d) humble
74] Environment can be saved only by ------.

a) citizens b) people c)conservationists d) experts
75] Ramesh was ----- for his misdeeds.

a) guilty b) contrite c)resentful d) dishonest

16



76] His -—---is poor.

a) honesty b) credibility c) compassion d) none of these
77] He was ----by the high expectations of his seniors.

a) afraid b)daunted c)excited d)challenged

78] The chef used the knife with great ----- :

a) dexterity b) poise c)dexterity calm d) none of these
79] The old fort was in a ----- condition.

a)dilapidated b)worse c)weak d)none of these

80] Ashok jealously is evident from the ----- remarks he makes against
Ram.

a) critical b) adulatory c) dexterity d) disparaging

Given below are some idioms and phrases. You have to choose the
correct option which explains the meaning.

81] a taste of one’s own medicine.

a) receiving the same kind of treatment which one has given to others
b) a bitter medicine c) bad behavior d) none of these

82] a small cog in a machine.

a) a useless item b) a joker c)a novice d)an unimportant person in a
department

83] the icing on the cake

a) cream on top of a cake b) a steep hike in salary

17



c) an additional happy and positive development d) none of these
84] the writing on the wall

a) good development about to happen b) a forewarning of some
unpleasant/bad development c) a concise/precise statement
d) none of these

85] Dutch courage

a) courage to face a moral crisis
b) moral strength given by parents to children
c) courage got in a state of intoxication d) none of these

86] cold comfort

a) poor consolation b)comfort in winters
c) comfort by giving money  d) none of these

In the following questions choose one option which exactly defines the
words given in the question.

87] study of election trends

a) Psephology b) Elctrology c) Siesology d) none of these

88] a person who is strongly against established norms and traditions
a) Apostate b) Iconoclast c) Rebellionist d) none of these

89] a person who has keen interest in food and drinks

a) Connoisseur b) Gourmet c)glutton d) none of these

950] government based on a particular religion

a) Oligarchy b) Plutocracy c) Theocracy d) none of these
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In the following questions the sentences have been divided into various
parts. You have to choose the part on which an error occurs. In case
there is no error choose d.

91] Delhi is further than (a) Chandigarh which is the(b) capital of Haryana.(c) d.
92] She is worried because (a) she does not have some money (b) to
buy a new refrigerator.(c) d.

93] The thieves entered the(a) shrine from the outermost gate (b) and
decamped to the hideout.(c) d.

94] Every member of the (a) family is addicted with drinking (b)and so
is my brother. (c) d.

95] Many sheeps (a) are grazing in (b) the meadows.(c) d

The following questions relate to spelling test. A group of words are
given which can be replaced by one of the words given in the options.
You have to choose the option with the correct spelling.

96] to guestion someone for a long time to get some information.
a) interrogation b) interogation c) interregation d)interrogetion

97] to spend a lot of time examining one’s thoughts ideas feelings etc
a) introspaction b)introspection c) introspestion d) intrespection
98] to receive unmanageable quantity of requests demands etc

a) ennundate b)innundate c)inundate d)enundate

99] unable to resist

a) iressitible b)irrestible c) errisstible d) irresistible

100] a child not old enough to be an adult

a) juvenele b)juvanile c)juvenile d)juvenale
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Answer Key —Paper 2 -A

1] ¢ 18] a 35] ¢

2 ¢ 19] ¢ 36] b
3] ¢ 20] ¢ 37] b
4 ¢ 21] d 38] ¢
5] d 22] ¢ 39] a
6] b 23] d 40] a
71 b 24] ¢ 41] ¢
8] b 25] a 42] d
9] ¢ 26] ¢ 43] b
10) a 27] d 44]
11] b 28] a 45] b
12 a 29] b 46] d
13] b 30] b 47]
14] b 31] a 48] ¢

15] ¢ 32] b 49] a
16] d 33] b 50] a

17] ¢ 34] a



51]
52]
53]
54]
55]
56]
57]
58]
59]
60]
61]
62]
63]
64]
65]
66]

67]

a T T o

68] a
69] a
70] d
71] ¢
72] c
73] c
74]
75] b
76] b

771 b
78] a
79] a
80] d

81l] a

82] d

83] c

84] b

85] ¢

86] a
87] a
88] b
89] b
90] c

91] a

92] b
93] d
94] b

95] a

96]

97] b

98]
99]

100]

C



General AwarenessHIHId SdEhdl—RB

1] On which street is the Bombay Stock Exchange located? ST&d Tl
TFHTS g e W Fad g2

a)DalalgelTd  b)Nariman=iIHT c)Candyhal d)Bearf9aT

2] Which Haridwar based consumer goods company was
co-founded by Acarya Balkrishna? gRear &ua foa
3UAIFAT T&G HUAT I FE-TATTAT AT STAFHS0T = ahr oA
a) Patanjali gg<iter b)Himalaya %?TI?-FJ

¢)Green Foods =T bRl d) none of these 3TH & HIS Fal
3] Water 1s approximately what % of adult human body weight?dd%&h
AT RN & AR HT THT  fohdar Ifaerd STo giar 87
a)30-40 b)85—90 c¢)60—70 d) 20-30

4] What is Bitcoin?fecehlisa 4T &7

a)animal 9[ b)fruit el

¢ Jcryptocurrency forcelseydr  d) missile ﬁhiqﬁ?l'

5] Who is the vice-captain of the Indian cricket team which will tour

England in June 2025? S« 2025 H 333 & ST = aralr
ARG fohee & #T 3U-std @i 87

a)Shubman Gill [dH=T e b)Kuldeep Yadav W qicd
¢)Jasprit Bumrah STHTOT gAY d)Rishabh Pant 9T 9

6] Who has written " Elegy written in a Country Churchyard"
" Elegy written in a Country Churchyard" forg=r fordr 22



a)Wordsworth a_éﬂa"j' b)Thomas Gray ¥THT I
c)Shakespear 9FETUIL  d)Dickens =Fha
7] Atmanirbhar Bharat Rojgar Yojana(ABRY) is run by which ministry?

HTcATAN ST ISR FIST (ABRY) [FH #I0F @
e T 82

a) Industry 33:-‘-'!’!“ b) Rural DevelopmentITHIUT fdshrd

¢) Labour and Employment 578 3T U9 d)Finance &

8] Brahmos missile is a collaboration between India and---? SEAT
fFasa ara AR fFaF da ggaer & aRona §2
a)America3f®T b)Russia FF c)France WA d)Germany FHAT

9] S-400 missile defence system has been acquired from which country?

Tg-400 THAEET T8 JoTMelr &g S & e &7 718 &7
a)Germany FTHAT b)America AT
¢)France WBTH d)Russia §H

10] Who was the DGMO of the Indian army who negotiated truce with
Pakistan in operation Sindoor? HRAT JAT & ISATTHT Hid &

=gl HToers gy # uifhea & 19 JeufawA ardar &
oAr?

a)General Dass STeiXel G  b)General Diwedi F=el &fadal
¢)General Ghai STa¥eT 2  d)General Singh =Rl [

11] Which of the following place is famous for its terracotta craft?

A= & & Fl9 91 T 39 SuHer f@eT & fav gfagy &2
a)Bishnupur ﬁWICIJT b)Kondapalli &isTIealr
¢)Cholamandal TTeTHSH d)Raghurajpur TETSTIY




12] What was the system in south India in which women attached to

temples performed various dances and were sexually exploited? gigor
ARG H 98 Hia °1 cgaedr ff Fwd #@fcy ¥ 3 afgent
e Fcg Siedr A 3R 3ae Al enwor fohar ST an
a)Devadasi ¢aciyd b) Monadasi HIAGIY

c)Sisitvar fBf8caT  d)Swaramaka FaXHRT

13] Gopi Krishna is an exponent of which indian classical dance? MY
F0T fhH AR AT g & ufaugs &2

a)Bharatanatyam 3{dICIH b)Kathakali el

c)Kathak sh¥eh d)Manipuri Hﬁ'ﬂ'ﬁ'

14] Who was the person who effected major revenue reforms during the
time of Akbar? 3fehel & THAT H YHU IS GUN fhaa o[

EDu

a)Raja Man Singh Raja{lslT #7 88 b)Raja Todarmal I=TT EISIHA
c)Mian Asif fAaT A% d)Sheikh Monudin @ A
15] Who is Arzumand Bano better known as? 3-1\_35!:3313' =1 fRg amF
¥ ufdey &

a) Nur Jahan FBGIETU b)Mumtaz Mahal HHATST HEel

c¢)Gulbadan Begum J[l€cs] §9TH d) none of these SAH T HIS Fal
16] Vijaya Stambha in Chittor was erected by whom? IEGIER:REEE]
TaFS fhEsd SanT SamT AT A

a)Rana Pratap TUTT Hd9 b)Rana Sangha YOI g

c)Rana Kumbha 10T $FAT  d)Rana Sangram JTOTT TaATH




17] Which of the following persons invited Babur to overthrow Ibrahim

Lodhi? Fafoead # @ g «afeg F saifeq ol & 3@=
thehed & foIT d1&Y &I WA fHar am

a)Daulat Khan Lodhi Gleid @I oefl  b)Miraz Khan #T TTH
¢)Shaukat Khan effehd @ d)Masud Amin HHE A

18] Which of the following kings was famous for his

economic reforms? AEafai@a # ¥ 9 TT TAT ¥IT A1AH

a)lltutmish Feqaiaer b)Alauddin Khilji 3em3cila &er=i]
¢c)Masud Shah HEG oM d)Razia Sultan AT o

19] What was the capital of the kingdom of Qutubuddin Aibak?
FJgeal Vo F Tod HT A=A F47 o4

a)Delhi f&@olT b)LahoredT@IR  c)AgradTIRT  d)Sialkotf@aTorRIT
20] Which muslim invader looted the Somnath temple? Ea:] sgﬁ?m
HTHAUTRRT o AT AfGL Hl e

a) Mohammed Ghazni ?H)I%?-Ti?" ISAAT

b)Mohammed Ghori H)IBTH'Q" T c)Mohammed Shah EFﬂE?:FlE A8
d)Mohammed Akram IFI’IFRE’ HhI{H

21] Who was the Buddhist religious guru of King Ashoka? IST 3720
% sty aifdie % B W

a) Mahagupta HEI[Cd  b)Upagupta 39

c)Srigupta aﬁ:gq—r d)Sivagupta ﬁﬁ?l'lﬂ'

22] Who was Trishala? T3emer i o



a)wife of MahaviraHglaIl @l JeaAl

b)mother of MahaviraHgTaI{ T AT c)mother of Ashoka 3720 HT AT
d)mother of Chandragupta Maurya EIE‘?IL_-.-[ AT fr AT

23] What was the name of the wife of Buddha? §c¥ HI GeAT T ATH
T 417

a)Yasodhara IRATERT b)Malati HTeld!

c)Mahamaya HgTHTAT d)none of these 3?331' o El'flé ?-I'Eﬁ'

24] Which Greek Governor was posted by Alexander to look after his
North West India territory? Tehey o 9= 3a¢ gfRgHT 9RT &9

FI @A & fov g AT a1 @ Agea fear an
a) Megasthenese HIELATSA  b)Nearchus IEREEE:
c)Ptolemy CTotHT d)Seleucus Nicator m Ao

25] Which of the following was the port city of Indus Valley
Civilisation? A= @a # ¥ &9 1:@'?-_; HIET ¢IdT &1 S68
e 41

a)Alamgirpur 3ﬂ?~|?:|?ﬂ'\"l1¢ b)Banawali SATTeI

¢)Lothal &rerer d)Ropar IS

26] Hiuen-Tsang visited India during the reign of - gad-cgeT a FaEs
AMTAFTT H IR & ST AT o1?

a) Harshavardhana aﬂaé;mr b) Ashoka 372

c¢)Samudragupta HHGICA d)none of these 3AH & HIS gl

=

27] How many verses does the Mahabharata contains? HglHANd A
foraeT edls 82
a) 200000 b) 150000 c¢) 100000 d) 75000



28] Which is called the Red Planet?elTel g o T J1aT 87
a)Venus ¥sh b)Saturn oty ¢ )Jupiter Q}'F‘Tﬁl’ d)Mars HITT
29]What is the approximate diameter in lakhs kms of the sun? 'HE&' T
g o feheltder # Fersnr fhaar &2

a)l8 b)20 c¢)l14 d)10
30] What is the approximate speed of light in kims per second? WehI?l

$T 71t 9T TohetATeY uiad @92 # fohaer &2
a) 150 000 b)2 00000 c) 250000 d)3 00 000

31] Which is the shortest day of the year in the northern hemisphere?
3O AT A IY H FEY OlT GA HiA AT 82

a) 10/12 b) 15/12 ¢)22/12 d)26/12

32] What is the approximate mean distance of the sun from the earth in
kms? gt & gF @1 3Ea g e F o fhaer 2
a) 1 59 600,000 b)137600,000 c)149600000 d)155.,000000
33] Dhauladhar range of mountains are in which state? eTeT gad
@ fhE T57 # &

a)HP. Tg.9f b)JK. S.&F c)Rajasthan TFEATH d)M.P. TH.GT.

34] Gobind Sagar Lake is a reservoir of which project? Mide PR
sirer fovg afEI==T &1 Semnee 82

a) Hirakud §R1%s b)Rihand NET

¢)Bhakra Nangal $TT@3T ATl d) Kosi AT

35] Which state in India has the maximum deposits of Gypsum? #HNd
# Sews &1 Afgsar =) Fe Usg #



a)Maharashtra #ERISC b)Haryana giITOT

¢) Gujarat [T d)Rajasthan ISEATA

36] Which river is called the Dakshin Ganga?feh® eI &l EI&UT 19T
el AT &7

a) Narmada HeT b)Krishna H®0TT

¢)Godavari INETadr d) Cauvery 1Ay

37] The Nanda Devi mountain peak is situated in which state? eT &dr
qad ey e sw # a2

a)Himachal Pradesh f@ATIe W2l b)Uttarakhand 393@s

¢)Jammu Kashmir S FIHT  d)West Bengal GIegH §3MA

38] Moradabad in U.P.is famous for which of the following? 3T 9&er
# IReETE T & O e e afey &

a) hosiery W b)brassware Gidol & FdeT

¢)locks dTel d)leather goods gas & GiHEA

39] Cuttack is situated on the banks of which river? e &g sEr &
de W g &

a)Mahanadi AgTIer b)Narmada u'-l?flE.T

c)Krishna HSUTT d)Godavari INGrar

40] The Tungabhadra Project is the joint venture of the
state of Andhra Pradesh and-- H:?Tﬁan qREATSAT 3TeT Ueer
TsT 3HR-- &1 TFeFd 3¢aH g

a)Orissa 331AT b)Karnataka FeAlCH

c¢)Kerala ¥al  d)Tamil Nadu ?-Iﬁfl?vl?l'lg



41] Which state government functionary can take part in the

state legislature proceedings without being its member?

&l T T FIHN & UGS Tod FUHASA FHT TeFd o
foeAT 3THr FREAET H AFT o Fhal &2

a)Advocate General HEITUGeFdT b)Chief SecretaryHEd gaa
c¢)Secretary General AEE™E  d) none of these S p= e Hﬁ%’ ER

42] In Rajya Sabha the maximum number of people who can be elected
by the state legislatures isUs §HT H Tsd TUHASH GANI

fFaita T o1 g9 are SgiFaar i aftsas g o
g7

a)245 b)248 «¢)238 d)no limit IS HHAT TET

43] Which of the following is false in respect of the
President of India? $IRT & Tsgufd & Jay # Aeafaf@a #
¥ Pl T FIT T 82

a)The term of the President is 5 years'x"l"ﬂ'cﬁ-'l' T FHTUHTST 5 I T grar %’

b) The President demits office immediately on the expiry of 5
yearsﬂ@ﬁ5aﬁﬁmmmwajﬁqﬁmaﬁg
c) The President can be removed from office by the Parliament.
TSCUTd & HHG GaNT U ¥ §erdl ST Hehell 2l

d) The minimum age for becoming the President is 35 years.

Iegafa a9 & o =508 3y 35 av gl

44] The Fundamental Duties in the constitution were
incorporated vide which amendment? @fau= & #Alfes
FHoedl @ hE TS & carT afAe fohar aram




a)44 b)42 c¢)46 d)noneofthese 34 H & El-ﬂ'%’ ER

45]Which of the following is true in respect of the ninth schedule? Atdr
FIgdl & Hey # AeAff@a # @ Sl @1 Sy Jer @2

a)It contains the power of Rajya Sabha to make laws for the Schedule
Tribes. mmmﬁa@ﬁaaﬂaﬁﬁ#ﬁvaﬂﬂg
S @7 ofFd & 7F g

b) It contains the list of Acts/Rules which cannot be declared
unconstitutional even though it violates the Fundamental Rights. E'Fm'

3 FAfATANATAT H g1l & 719§ e srmdurees giftg
81 forar o1 goan 9o & § #ifes 3fUsRT &1 Ieaga F:3
gl

¢ )It contains the concurrent liS’l:S'Hﬁ' AT HﬁT SEE] g

d) none of these 3T H & &I el

46] Under which article of the Constitution the following is
guaranteed? HGUT & [FH IFqeoe & ded AFfei@d @I
TRE & 715 &

a)a person cannot be punished more than once for the same offenceferdr
=fed 1 T & HWY & v s ¥ 34fde R gfza a8
forar ST gehar

b) a person cannot be compelled to be a witness against his own self.
&l Sgfea & @Y & A%ey 9 a9 & U sy A8
T & @




c) a person cannot be convicted for any offence which is not a violation

of lawfrdT cafda I fFdr W 3oy & farw andr =& sgan
ST Hehdl AT Flef &1 Soodd o &l

d) all of the above 3UTFd GHT

47]1Which of the following is not a fundamental right? =T &
& Fia T@T Alfcrs AFER A8T 82

a)freedom of speech and expressiondTSUT 3T yfeg@a $r Taaan
b) freedom to form associations and unionsTATTTLH 3T lljal?l?-f
ST T T

c) freedom to assemble peacefully and with armsﬁl‘iﬁ:’l‘qﬁiﬁ
AR EFFERT & @y A g f TEaFAr

d) none of these 3T H & &I el

48] Fundamental Rights provided in the constitution are not
enforceable against which of the following: & & 9= HAifo=w
FFR f=fofla d @ FFas ey @ =8 e =1 @ &
a)Central Universitiesshgld faeafacarera

b) State Universities{lsd ﬁsaﬁammr

¢)Private UniversitiesTa=iT Ta2afagaTerd d)local bodiesTTAT AT

49]The Parliament can diminish the area of any state as per which of the
following:@de, A=faf@a # @ fFos HJHN fordT T=T T
TP FH FL Fhd! &

a)Parliament alone3Tehol gac

b) Parliament on the recommendations of Presidentﬂ@ﬁ &1
fawiet ov dug
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c¢) By Parliament on the recommendations of the President and views of

the legislature of that state. Is¢9ia $hr BHIReAT 3R 39 U= Hr
fau@sr & fGaRt W dde gani|

d) none of theseSF H & HIs Al
50] India is a Republic which implies one of the following: #Nd Ush

IRTST ¢ SF@eHT aeqy F=afel@a 7 @ s ¢

a) The constitution is supreme. gfau wafea &

b) The Parliament is supreme. HHE Hafed g.

¢) The head of the state is elected. I &l HHE IECHRE] EﬁﬁT gl
d) It is independent in making its own policies. I§ 39T AT
g4 # TEdT gl
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English Language --B

The following questions relate to spelling test. A group of words are
given which can be replaced by one of the words given in the options.
You have to choose the option with the correct spelling.

51] to question someone for a long time to get some information.

a) interrogation b) interogation c) interregation d) interrogetion
52] to spend a lot of time examining one’s thoughts ideas feelings etc
a) introspaction b)introspection c) introspestion d) intrespection
53] to receive unmanageable quantity of requests demands etc

a) ennundate b)innundate c)inundate d)enundate

54] unable to resist

a) iressitible b)irrestible c) errisstible d) irresistible

55] a child not old enough to be an adult

a) juvenele b)juvanile c)juvenile d)juvenale

In the following questions the sentences have been divided into various
parts. You have to choose the part on which an error occurs. In case
there is no error choose d.

56] Delhi is further than (a) Chandigarh which is the(b) capital of
Haryana.(c) d.

57] She is worried because (a) she does not have some money (b) to
buy a new refrigerator.(c) d.

58] The thieves entered the(a) shrine from the outermost gate (b) and
decamped to the hideout.(c) d.
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59] Every member of the (a) family is addicted with drinking (b)and so
is my brother. (c) d.
60] Many sheeps (a) are grazing in (b) the meadows.(c) d

In the following questions choose one option which exactly defines the
words given in the question.

b1] study of election trends

a) Psephology b) Elctrology c) Siesology d) none of these

62] a person who is strongly against established norms and traditions
a) Apostate b) Iconoclast c) Rebellionist d) none of these

63] a person who has keen interest in food and drinks

a) Connoisseur b) Gourmet c)glutton d) none of these

64] government based on a particular religion

a) Oligarchy b) Plutocracy c) Theocracy d) none of these

Given below are some idioms and phrases. You have to choose the
correct option which explains the meaning.

65] a taste of one’s own medicine.

a) receiving the same kind of treatment which one has given to others
b) a bitter medicine c) bad behavior d) none of these

66] a small cog in a machine.

a) a useless item b) a joker
c) a novice d)an unimportant person in a department
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67] the icing on the cake

a) cream on top of a cake b) a steep hike in salary

c) an additional happy and positive development  d) none of these
68] the writing on the wall

a) good development about to happen b) a forewarning of some
unpleasant/bad development c) a concise/precise statement
d) none of these

69] Dutch courage

a) courage to face a moral crisis
b) moral strength given by parents to children
c) courage got in a state of intoxication d) none of these

70] cold comfort
a) poor consolation b) comfort in winters
c) comfort by giving money  d) none of these

Fill in the blanks with the most appropriate options.
71] Alok is afflicted ----leprosy.

a)in b)at c)with d)on

72] He has an aptitude --—--geometery.

a)in b)with c)at d)for

73] The new officer has taken charge ----the office.
a)of b)in c)with d)to

74] | have access ---all vital information.
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a)of b)to c)for d)about

75] There is no respite-----the heat wave.

a)in b)with c)from d)at

76] Ram has made himself indispensable ----the organization.
a)in b)at c)with d)to

77] The shopkeeper is very honest ----his dealings.

a)with b)at c)for d) in

78] The man eater tiger has become a menace --—-the village.
a)in b)to c)within d)from

79] The law prohibits ----driving on this lane.

aJto b)from c)at d)towards

80] The child is destined ----bigger achievements.

a)in b)with c)at d)for

81] The officer was apprised ----the facts.

a)of b)with c)at d)iin

82] The forest is infested ----wild animals.

a)with b)in c)for d)to

83] There is no incentive ---work hard in the organization.
a)in b)with c)for d)to

84] The convict ----to the judge of the crime he had committed.

15



a) told b) expressed c)confessed d)exclaimed.

85] Her --- attitude resolved the dispute.

a) obstinate b) peaceful c) conciliatory d) indifferent
86] Arrogant people are ----- in nature.

a) hateful b) aggressive c) condescending d) humble
87] Environment can be saved only by --—---.

a) citizens b) people c¢) conservationists d) experts
88] Ramesh was --—-- for his misdeeds.

a) guilty b) contrite c) resentful d) dishonest

89] His -----is poor.

a) honesty b) credibility c) compassion d) none of these
90] He was ----by the high expectations of his seniors.

a) afraid b) daunted c)excited d) challenged

91] The chef used the knife with great -----.

a) dexterity b) poise c)dexterity calm d) none of these
92] The old fort was in a ----- condition.

a)dilapidated b)worse c)weak d) none of these

93] Ashok jealously is evident from the -----remarks he makes against
Ram.

a) critical b) adulatory c) dexterity d) disparaging
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Read the passage below and then answer questions 94 to 100 which
are based on it.

For far too long the western powers and multilateral agencies have
been greatly wanting in their concerted efforts to censure Pakistan in
sponsoring cross border terrorism. Pakistan has been overtly funding
terrorist organisations, providing infrastructure support and using them
as a tool of military empowerment. Many Security Council Resolutions
castigating Pakistan for its nefarious role have gone unheeded primarily
because of the geo-political interests of the major super-powers like
China which has been an all weather friend of Pakistan. China has
gained control of extensive land of Pakistan to facilitate it exports.
Thus only cosmetic counter terror measures have been taken by
Pakistan. Much of its efforts in this direction are merely an eye wash.

It is unfortunate and disastrous for Pakistan not to concentrate on
economic development, raising agriculture production, controlling sky
rocketing inflation, eradicating mass illiteracy, improving law and order
facilitating foreign investment etc all of which would strengthen
Pakistan and ensure better quality life to its citizenry. In contrast India
has focused on economic empowerment of its citizens, providing world
class education which excites intellectual pursuits, controlling inflation,
better infrastructure development improved law and order condition
and with incentives for foreign investment etc all of which have made
India amongst the fastest growing economies of the world. Pakistan on
the other hand has become a Frankenstein monster. It has

unnecessarily and unjustifiably generated a false existential narrative
blaming India. Its military which has explicitly and implicitly ruled the

country since inception has created an anti India paranoia. This seeks
to justify and legitimize the huge budget allocation and regal lifestyle of
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the military personnel in the name of security threats from across the
borders. Moreover Pakistan has sought huge international funding
ostensibly to fight internal terrorism which is a by product of its myopic
policies of enriching punjabi muslims most of whom adorn the army.
The rest of the society has remained largely marginalized. Balouchistan
which is the largest province in Pakistan rich in mineral resources has
been unjustly exploited for decades. Whereas it has earned huge
foreign exchange it has continued to remain the poorest and the most
backward of all the provinces in Pakistan. It naturally feels victimized
and discriminated against. This has led to the formation of the
Balouchistan Liberation Army which has been carrying out multiple
military attacks on the installations and military personnel of Pakistan.
Additionally it is now clamouring for complete independence from

Pakistan.

94] What should be the heading for the passage?
a) Pakistan—a failed state.

b) Problems of militancy in Pakistan

c) Pakistan and terrorism

d) Policies of Pakistan

95] What is the most important reason for Pakistan not to heed to
international resolutions?

a) The unconditional support of China
b) The aggressive attitude of the Pakistani army

c) the internal problems of Pakistan
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d) none of these
96] Why has Pakistan created an anti —India paranoia in the country?
a) It is a harsh reality which enables the country to get huge funds

b) It justifies the huge budget allocation and regal life style to the
military personnel

c) It prepares the population to be vigilant
d) none of these
97] Why is Balouchistan clamouring for independence from Pakistan?

a) It has been unjustly exploited by Pakistan
b)It remains very backward c)the population is poverty ridden

d) all of the above
98] What is the meaning of clamouring as used in the passage?

al] to request peacefully and silently b) to fight aggressively
c) to demand something in a loud and angry way d) to speak with logic

99] What is the meaning of paranoia as used in the passage?

a) an unwarranted feeling of fear and suspicion

b) a justified reason of fear c) a state of high mental alertness
d) none of the above

100] What is meant by the Frankenstein monster?

a) a devil incarnate b) a foolish policy
c) a creation which ruins the creator d) none of these
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10]
11]
12]
13]
14]
15]
16]

17]

Answer Key Paper 2 --B

d

d

18] b

19] b

20] a

21] b

22]
23]
24]
25]

26
27]
28]
29]
30]
31]
32]
33]

34]

b
a
d
C
a
C
d
C

d

35] d
36] c
37] b

38] b

39] a

40] b

41] a

42]
43]
44]
45]
46]
47]
48]
49]
50]

C
b
b
b
d
c
C
C

c



51]
52]
53]
54]
55]
56]
57]
58]
59]
60]
61]
62]
63]
64]
65]
66]

67]

68] b 85] ¢
69] 86] c
70] a 87] ¢
71] ¢ 88] b
72] d 89] b
73] a 90] b
74] b 91] a
75] <« 92] a
76] d 93] d
77] d 94] a
78] b 95] a
79] b 96] b
80] d 97] d
8l] a 98] c
82] a 99] a
83] d 100] «c
84] <



General Awareness ---C

1] India is a Republic which implies one of the following: #d Tsh
ARST ¢ EEr acay Al # ¥ U

a) The constitution is supreme. gfau Fafzg g

b) The Parliament is supreme. HHE T B.

¢) The head of the state is elected. I =T qqE IECHER] m gl
d) It is independent in making its own policies. ITE 3T=AT ATIAT
g4 H T&d9 gl

2] On which street is the Bombay Stock Exchange located? dl&a FTlh
TFOUS g e W &g 87

a)DalalgelTel  b)Nariman=l{IHT c)Candyhar d)BearfdaT

3]The Parliament can diminish the area of any state as per which of the
following HHe AFATI@T # § fhHs HTER TheT T5T
ETHT HH HY Tohdl o:

a)Parliament alone3/hol TG

b) Parliament on the recommendations of Presidentﬂ@ﬁ &r
fRmiftet o gug

c) By Parliament on the recommendations of the President and views of
the legislature of that state. JSgUld @l [AHIRLAT AR 37 ToF Hr
fauf@er & @9l W gue gan|

d) none of theseS p= e El'ﬂé' el




4] Which Haridwar based consumer goods company was
co-founded by Acarya Balkrishna? gRcar feua fea
3UAIFAT T& HUAT I FE-TATTAT AT STAHS0T = ahr oA
a) Patanjali Id=irel b)Himalaya @A

¢)Green Foods =T e d) none of these 3IH & HIS gl

5] Fundamental Rights provided in the constitution are not
enforceable against which of the following: @feens & yea Ao
HRIER PafeRe §  Reod Regy g 78 fhe o1 o &
a)Central Universitiesshard ﬁﬂﬁﬁﬂ:ﬂ'l?»l’«ﬂ'

b) State Universities{Tod ﬁaaﬁmmr

¢)Private Universitiesfai=ir ﬁ'@ﬂﬁﬂ:ﬂ'ﬂ'ﬂ d)local bodiesTITAT AT
6] Water is approximately what % of adult human body weight?dd%h
AT T F AR FH A7 fhgar afdera o giar g2

a) 30-40 b)85—90 c¢)60—70 d) 20-30

71Which of the following is not a fundamental right? =T &7
¥ Fia @1 Fifes JfgFER T8 82

a)freedom of speech and expressionsT¥UOT 3T JfeTEa Fr T@aFan
b) freedom to form associations and unionsTITTTL 3 Eﬂﬁ'ﬂ?—f
ST T T

c) freedom to assemble peacefully and with armsﬂl‘iﬁ'qﬁiﬁ
AR gRNIRT & Ty e g T T@aEar

d) none of these 3T & & &I Fel

8] What is Bitcoin?TaeehissT FIT &7




a)animal 93] b)fruit Hel
¢ )cryptocurrency fpceleydr  d) missile ﬁhirna?»r

9] Under which article of the Constitution the following is
guaranteed? dfau & fora 3eIeoe & ded =g &
A & 75 B2

a)a person cannot be punished more than once for the same offenceferdT
cgfad @ Tk g AW & v vh & 310w e ST g
foram s wehar

b) a person cannot be compelled to be a witness against his own self.
el safea & T@T & Gvcy 19E a9+ & v g Fg7
forar =T T

c) a person cannot be convicted for any offence which is not a violation

of lawfordT =afaa & fFdT 0 3y & v andfr & sexar
ST THAT AT FIA HT 3eae o &
d) all of the above 3UqFg HafT

10] Who is the vice-captain of the Indian cricket team which will tour

England in June 2025? {1 2025 H 370i3 FT GRT = aralr
AT fRshe €1 & 3T-FTd HiT 82

a)Shubman Gill dH e b)Kuldeep Yadav Tq:‘ﬂﬁ'q qlcd
c)Jasprit Bumrah SETYT §HAI  d)Rishabh Pant ILERG

11]Which of the following is true in respect of the ninth schedule? Aldr

HIHET & oY H FArAf@a # @ i @1 Fad T &



a)lt contains the power of Rajyva Sabha to make laws for the Schedule

Tribes. SHH TST FAT H HFGRT FAAaal & [T FHAa
g9 ¥ g & TS T

b) It contains the list of Acts/Rules which cannot be declared
unconstitutional even though it violates the Fundamental Rights. SHH

34 FRfAgArETAr & g= & 713 § O smauniEe g1t
81 foham 5T gonar. 9o & 9 Aifow 3fUFRT &1 Ieaua aa
&l

¢)It contains the concurrent listSHH FHAA! E\?-ﬁ' qTHA &

d) none of these 3T H ¥ HIs &l

12] Who has written " Elegy written in a Country Churchyard"
" Elegy written in a Country Churchyard" Tor@=s or@r &7

a)Wordsworth E’é’ﬂﬁe& b)Thomas Gray U1HT I
c)Shakespear FHTIX  d)Dickens FFHE

13] The Fundamental Duties in the constitution were
incorporated vide which amendment? #fdu= & #Alfos
FHaedt H fhy T & garT ofEe T

a)44 b)42 c¢)46 d)none of these 3T H & HIS Fer

14] Atmanirbhar Bharat Rojgar Yojana(ABRY) is run by which
ministry? 3TcHTASR RT USRIl (ABRY) ffvg #am9

a) Industry 3T b) Rural DevelopmentITHIUT [@hrd
¢) Labour and Employment 37 31X USPTR  d)Finance o




15] Which of the following is false in respect of the

President of India? $TRd & USgUid & a9 H [AedAtoidd &

¥ Pl § HAT HEA &7
a)The term of the President is 5 yearsqrsgqfa &7 FIHTS 5 Y & FAT &

b) The President demits office immediately on the expiry of 5

yearsTSgaTd 5 a9 &I HAfY FATT g W I T8 OIS & &
c¢) The President can be removed from office by the Parliament.

ISeUTd Hf THG GaNT U ¥ gCAT AT HohdT gl

d) The minimum age for becoming the President is 35 years.

eeufd g9 & v =g/ 31y 35 av gl

16] Brahmos missile is a collaboration between India and---? A
Frase ara 3R Fas & ggaer &1 aRome 82
a)America3f®T b)Russia FF c)France WA d)Germany FHAT

17] In Rajya Sabha the maximum number of people who can be elected
by the state legislatures isUsd THAT H Tod TUHASH GANT

aia o a1 "o aror Sgfaqaar @ ifaeds a&ar fhaer
g2

a)245 b)248 ¢)238 d)no limit IS AT F&r

18] S-400 missile defence system has been acquired from which
country? UH-400 THAEES I&T qumelr fovg &or @ ureq &7 712 &7
a)Germany FTHAT b)America AT

¢)France WTH d)Russia ¥H

19] Which state government functionary can take part in the

state legislature proceedings without being its member?



Sl TT 5T TR FT TEOHRT 5T AUEAST FT & a4
fSaT 3T FAAET H ART o Tohdl 87

a)Advocate General HEITUGeFdT b)Chief SecretaryHEd gaa
c¢)Secretary General AEE™E  d) none of these S p= e Hﬂ%’ ER

20] Who was the DGMO of the Indian army who negotiated truce with
Pakistan in operation Sindoor? HRAIT AT & SISATTHN Hid &

for=ei=r 3ifovers figy # urfhearsT & |y JeufawA arar #
o

a)General Dass Slei{el ¥  b)General Diwedi STl a:mﬂ
¢)General Ghai ST{ol 5  d)General Singh J=Ral &

21] The Tungabhadra Project is the joint venture of the
state of Andhra Pradesh and-- H:?TSJET qiATSTAT 37T Teor
U5 AR &1 §IFd 3¢TA B
a)Orissa 3sIGT b)Karnataka FACH
¢)Kerala &{ef  d)Tamil Nadu RIEEGIE]

=

22] Which of the following place is famous for its terracotta craft?

B # @ S G T A9 T ReT & v sy &
a)Bishnupur ﬁ"‘?UIlI{ b)Kondapalli HISTTeoll

¢)Cholamandal TrTHSS d)Raghurajpur YEITSTYY

23] Cuttack is situated on the banks of which river? &hceh fog 81 &
gc W g

a)Mahanadi #gTel b)Narmada FIﬁE.T

¢)Krishna %'SU'H d)Godavari ITECTaY



24] What was the system in south India in which women attached to

temples performed various dances and were sexually exploited? gigor
aRE # 9% Fi @ cEe o Swd #Rx @ 92 Afer
e Fcg Siedr A 3R 3ae Al enwor fohar ST an
a)Devadasi ¢aciyd b) Monadasi HIAGIY

c)Sisitvar fBf8caT  d)Swaramaka FaXHRT

25] Moradabad in U.P.is famous for which of the following? 393 We2l
3 IR et @ fead fav ey ¥

a) hosiery &Il b)brassware Udel & CRE]

c)locks dTol d)leather goods THS & HTHATA

26] Gopi Knishna is an exponent of which indian classical dance? T
FouT fFE AR AT g7 & gfaues

a)Bharatanatyam 3{d-IIcId b)Kathakali el

c)Kathak &dsh d)Manipuri Hﬁ'ﬂ'ﬁ'

27] The Nanda Devi mountain peak is situated in which state? ARG
gad frex fem vog # g &

a)Himachal Pradesh%’ﬂﬁlﬁ Ucel b)Uttarakhand EREIECE]

c¢)Jammu Kashmir ST&H HHR  d)West Bengal GTegH 9T

28] Who was the person who effected major revenue reforms during the
time of Akbar? 3ehe & HHT H YHW TS GUN fohaad o]

IEQ:
a)Raja Man Singh RajallalT AT f8& b)Raja Todarmal T SISIHA
¢)Mian Asif fAaT 3nfa® d)Sheikh Monudin & maz.ﬁ?r




29] Which river is called the Dakshin Ganga?feh® HEr I Si&UT I
el SATdT 82

a) Narmada HeT b)Krishna H®0TT

¢)Godavari INETadr d) Cauvery 1Ay

30] Who is Arzumand Bano better known as? 343_&.?:1?{ a9 foRg A1
¥ ity &

a) Nur Jahan c_ﬂGI?TU b)Mumtaz Mahal HHAATS Hgd

¢)Gulbadan Begum J[l€ca] 931 d) none of these 38 A HiIs gl
31] Which state in India has the maximum deposits of Gypsum? #HNI

H oud &1 AfUwar #13R1 fE UsT # &2

a)Maharashtra HgIRI®¢ b)Haryana gTToTT

¢) Gujarat [T d)Rajasthan IFEATA

32] Vijaya Stambha in Chittor was erected by whom? f@5is & fa=w
TIFH e ganrT S9ar™r 147 A,

a)Rana Pratap TTOTT 9dTH b)Rana Sangha IOTT T

¢)Rana Kumbha 10T $FAT  d)Rana Sangram 10T gaTH

33] Gobind Sagar Lake is a reservoir of which project? IMfa¢ WX
sirar Torg aR=I=T=T &7 Fane 87

a) Hirakud ﬁTITiE b)Rihand ﬁ?‘c\"

¢)Bhakra Nangal $TT@ST AFTH  d) Kosi &hidT




34] Which of the following persons invited Babur to overthrow Ibrahim

Lodhi? Fafoead # @ g «afeg F saifeq ol & 3@=
thehed & foIT d1&Y &I WA fHar am

a)Daulat Khan Lodhi Gleid @I oefl  b)Miraz Khan #T TTH
¢)Shaukat Khan effehd @ d)Masud Amin HHE A
35] Dhauladhar range of mountains are in which state? €T gad
@l vy T57 7 &

a)HP. T 9T b)JK. S.&F c)Rajasthan TSEATH d)M.P. TH G

36] Which of the following kings was famous for his

economic reforms? F@afaf@a # & Fia a1 = 3= nfds
guRl & fow ufdgy an

a)lltutmish FeqdTHer b)Alauddin Khilji 3am3cdre @ar=ir
c¢)Masud Shah HYE AT  d)Razia Sultan = e

37] What is the approximate mean distance of the sun from the earth in
kms? gt ¥ §F #r g gl Ferer & amer e
a) 159 600,000 b)137600,000 c)l149600000 d)155.000000

38] What was the capital of the kingdom of Qutubuddin Aibak?
Fdgeal Vad & Usd @l JFUT=r 741 AP

e i -

a)Delhi f&eall b)LahoredT@IR  ¢)Agra3TaRT  d)Sialkotf&TorRIE

39] Which is the shortest day of the year in the northern hemisphere?
3T MY A Y HT GEY OIET 6A i AT &2

a) 10/12 b)15/12 <¢)22/12 d)26/12

40] Which muslim invader looted the Somnath temple? & H%—ITI'

HATHAUGIN F HIHAATT AIGL &l e



a) Mohammed Ghazni 'rF!’IBm'c," ITAAT

b)Mohammed Ghori FnETﬂE IMRT ¢)Mohammed Shah FﬂBFHE.' AB
d)Mohammed Akram Iﬁma' Hh{H

41] What 1s the approximate speed of light in kms per second? WehI?l
& 1t ersrer fhaitdAex ufa d%s & Faar &2

a) 150 000 b)2 00000 c)250000 d)3 00000
42] Who was the Buddhist religious guru of King Ashoka? 4T 3 Mk

& sley ulfdie % @i 27

a) Mahagupta #gI’[*d  b)Upagupta 39[Cd
c)Srigupta %ﬁ?}_rf d)Sivagupta ﬁlﬁ?lrrl'

43]What is the approximate diameter in lakhs kms of the sun? Hﬁ Cal
Ty o fRellHeT # oareT foha=r g2

a)l8 b)20 c¢)14 d)10
44] Who was Trishala? Temar sl o

a)wife of MahaviraHgIaIX @l Teal

b)mother of MahaviraHgTaIX hl AT ¢)mother of Ashoka arens T AT
d)mother of Chandragupta Maurya ?-IZ‘F'ILT-I' AT & A

45] Which 1s called the Red Planet?ellel I8 g el ST 87
a)Venus 2[sh b)Saturn iG] c¢)Jupiter EE'FCIﬁ d)Mars HIToT

46] What was the name of the wife of Buddha? §c¥ I Tl T ATH
T AT

a)Yasodhara IJILTERT b)Malati HTed!

c)Mahamaya HgIHTAT d)none of these SAH & HIS Aal
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47] How many verses does the Mahabharata contains? HgIHRT H
[ELCEECICE S
a) 200000 b) 150000 c) 100000 d) 75000

48] Which Greek Governor was posted by Alexander to look after his
North West India territory? T8t & U=l 39¢ URTHAT ARd &7

$T cwere & fav fFg et et & Agea o an

a) Megasthenese AIEYAIS  b)Nearchus Ha@d

¢)Ptolemy CTTHT d)Seleucus Nicator TQW AeheT
49] Hiuen-Tsang visited India during the reign of --d=1-cH1ET = [FaH
MRS H ST T aNT fhar om

a) Harshavardhana B"ﬁﬁé}lﬂ b) Ashoka 379l

¢)Samudragupta HHG[CA d)none of these 3?115[ g Elﬂé' ar

50] Which of the following was the port city of Indus Valley
Civilisation? H&Tol@ad & ¥ &ia @'ig HTET &I &7 96
AT AT

a)Alamgirpur 3ﬂ?'I?=I1ﬂTFI:T b)Banawali SATTeIl

¢)Lothal Sraer d)Ropar ﬂqg
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English Language ---C

In the following questions the sentences have been divided into various
parts. You have to choose the part on which an error occurs. In case
there is no error choose d.

51] Delhi is further than (a) Chandigarh which is the(b) capital of
Haryana.(c) d.

52] She is worried because (a) she does not have some money (b) to
buy a new refrigerator.(c) d.

53] The thieves entered the(a) shrine from the outermost gate (b) and
decamped to the hideout.(c) d.

54] Every member of the (a) family is addicted with drinking (b)and so
is my brother. (c) d.

55] Many sheeps (a) are grazing in (b) the meadows.(c) d

The following questions relate to spelling test. A group of words are
given which can be replaced by one of the words given in the options.
You have to choose the option with the correct spelling.

56] to question someone for a long time to get some information.

a) interrogation b) interogation c)interregation d)interrogetion
57] to spend a lot of time examining one’s thoughts ideas feelings etc
a) introspaction b)introspection c) introspestion d) intrespection
58] to receive unmanageable quantity of requests demands etc

a) ennundate b)innundate c)inundate d)enundate

59] unable to resist
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a) iressitible b)irrestible c) errisstible d) irresistible
60] a child not old enough to be an adult
a) juvenele b)juvanile c)juvenile d)juvenale

Read the passage below and then answer questions 61 to 67 which are
based on it.

For far too long the western powers and multilateral agencies have
been greatly wanting in their concerted efforts to censure Pakistan in
sponsoring cross border terrorism. Pakistan has been overtly funding
terrorist organisations, providing infrastructure support and using them
as a tool of military empowerment. Many Security Council Resolutions
castigating Pakistan for its nefarious role have gone unheeded primarily
because of the geo-political interests of the major super-powers like
China which has been an all weather friend of Pakistan. China has
gained control of extensive land of Pakistan to facilitate it exports.
Thus only cosmetic counter terror measures have been taken by
Pakistan. Much of its efforts in this direction are merely an eye wash.

It is unfortunate and disastrous for Pakistan not to concentrate on
economic development, raising agriculture production, controlling sky
rocketing inflation, eradicating mass illiteracy, improving law and order
facilitating foreign investment etc all of which would strengthen
Pakistan and ensure better quality life to its citizenry. In contrast India
has focused on economic empowerment of its citizens, providing world
class education which excites intellectual pursuits, controlling inflation,
better infrastructure development improved law and order condition
and with incentives for foreign investment etc all of which have made

India amongst the fastest growing economies of the world. Pakistan on
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the other hand has become a Frankenstein monster. It has

unnecessarily and unjustifiably generated a false existential narrative
blaming India. Its military which has explicitly and implicitly ruled the
country since inception has created an anti India paranoia. This seeks
to justify and legitimize the huge budget allocation and regal lifestyle of
the military personnel in the name of security threats from across the
borders. Moreover Pakistan has sought huge international funding
ostensibly to fight internal terrorism which is a by product of its myopic
policies of enriching punjabi muslims most of whom adorn the army.
The rest of the society has remained largely marginalized. Balouchistan
which is the largest province in Pakistan rich in mineral resources has
been unjustly exploited for decades. Whereas it has earned huge
foreign exchange it has continued to remain the poorest and the most
backward of all the provinces in Pakistan. It naturally feels victimized
and discriminated against. This has led to the formation of the
Balouchistan Liberation Army which has been carrying out multiple
military attacks on the installations and military personnel of Pakistan.
Additionally it is now clamouring for complete independence from

Pakistan.

61] What should be the heading for the passage?

a) Pakistan—a failed state.

b) Problems of militancy in Pakistan

c) Pakistan and terrorism

d) Policies of Pakistan

62] What is the most important reason for Pakistan not to heed to

international resolutions?
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a) The unconditional support of China

b) The aggressive attitude of the Pakistani army

c) the internal problems of Pakistan

d) none of these

63] Why has Pakistan created an anti —India paranoia in the country?
a) It is a harsh reality which enables the country to get huge funds

b) It justifies the huge budget allocation and regal life style to the
military personnel

c) It prepares the population to be vigilant

d) none of these

64] Why is Balouchistan clamouring for independence from Pakistan?
a) It has been unjustly exploited by Pakistan

b) It remains very backward

c) he population is poverty ridden

d) all of the above

65] What is the meaning of clamouring as used in the passage?

a] to request peacefully and silently b) to fight aggressively
c) to demand something in a loud and angry way d) to speak with logic

66] What is the meaning of paranoia as used in the passage?

a) an unwarranted feeling of fear and suspicion
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b) a justified reason of fear c) a state of high mental alertness
d) none of the above

67] What is meant by the Frankenstein monster?

a) a devil incarnate b) a foolish policy
c) a creation which ruins the creator d) none of these

In the following questions choose one option which exactly defines the
words given in the question.

68] study of election trends

a) Psephology b) Elctrology c) Siesology d) none of these

69] a person who is strongly against established norms and traditions
a) Apostate b) Iconoclast c) Rebellionist d) none of these

70] a person who has keen interest in food and drinks

a) Connoisseur b) Gourmet c)glutton d)none of these

71] government based on a particular religion

a) Oligarchy b) Plutocracy c) Theocracy d) none of these

Given below are some idioms and phrases. You have to choose the
correct option which explains the meaning.

72] a taste of one’s own medicine.
a) receiving the same kind of treatment which one has given to others
b) a bitter medicine c) bad behavior d) none of these

73] a small cog in a machine.
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a) a useless item b) a joker c)a novice d)an unimportant person in a
department

74] the icing on the cake

a) cream on top of a cake b) a steep hike in salary

c) an additional happy and positive development d) none of these
75] the writing on the wall

a) good development about to happen b) a forewarning of some
unpleasant/bad development c) a concise/precise statement
d) none of these

76] Dutch courage

a) courage to face a moral crisis
b) moral strength given by parents to children
c) courage got in a state of intoxication d) none of these

77] cold comfort

a) poor consolation b) comfort in winters
c) comfort by giving money  d) none of these

Fill in the blanks with the most appropriate options.
78] Alok is afflicted ----leprosy.

a)in b)at c)with d)on

79] He has an aptitude ----geometery.

a)in b)with c)at d)for

80] The new officer has taken charge ----the office.
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a)of b)in c)with d)to

81] | have access ---all vital information.

a)of b)to c)for d)about

82] There is no respite-----the heat wave.

a)in b)with c)from d)at

83] Ram has made himself indispensable ----the organization.
a)in b)at c)with d)to

84] The shopkeeper is very honest ----his dealings.

a)with b)at c)for d) in

85] The man eater tiger has become a menace ----the village.
alJin b)to c)within d)from

86] The law prohibits ----driving on this lane.

a)to b)from c)at d)towards

87] The child is destined ----bigger achievements.

a)in b)with c)at d)for

88] The officer was apprised ----the facts.

a)of b)with c)at d)iin

89] The forest is infested ----wild animals.

a)with b)in c)for d)to

90] There is no incentive ---work hard in the organization.
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a)in b)with c)for d)to

91] The convict ----to the judge of the crime he had committed.
a) told b) expressed c)confessed d)exclaimed.

92] Her --- attitude resolved the dispute.

a) obstinate b) peaceful c) conciliatory d) indifferent
93] Arrogant people are ----- in nature.

a) hateful b) aggressive c)condescending d) humble
94] Environment can be saved only by ——---- :

a) citizens b) people c) conservationists d) experts

95] Ramesh was ----- for his misdeeds.

a) guilty b) contrite c) resentful d) dishonest

96] His -----is poor.

a) honesty b) credibility c) compassion d) none of these
97] He was ----by the high expectations of his seniors.

a) afraid b) daunted c) excited d) challenged

98] The chef used the knife with great -----.

a) dexterity b) poise c) dexterity calm d) none of these
99] The old fort was in a ---—--condition.

a)dilapidated b)worse c¢)weak d)none of these
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100] Ashok jealously is evident from the -----remarks he makes against
Ram.

a) critical b) adulatory c) dexterity d) disparaging
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10]
11]
12]
13]
14]
15]
16]

17]

Answer Key Paper 2-C

18] d 35] a
19] a 36) b
20] «c 37] C
21] b 38] b
22] a 39] C
23] a 40] a
24] a 41] d
25] b 42] b
26] ¢ 43] ¢

271 b 44] b

28] b 45]

29] ¢ 46] a
30] b 47] ¢
31] d 48] d

32] ¢ 49] a
33] ¢ 50] C

34] a



51]
52]
53]
54]
55]
56]
57]
58]
59]
60]
61]
62]
63]
64]
65]
66]

67]

o o o

68]
69]
70]
71]

72]
73]
74]
75]
76]

77
78]

79]
80]
81]
82]
83]

84]

85] b
86] b
87] d
88] a
89] a
90] d
91] c
92] c
93] c
94] c

95] b

96] b

97]
98]
99]

100]

d



General AwarenessdlHIH Sllddchdl—D

1] On which street is the Bombay Stock Exchange located? SiFd Tclah
TFHdS fhd e W g

a)DalalgelTel  b)Narimana{IA= c¢)Candysha! d)Bearfadax

2] India is a Republic which implies one of the following: HNd Tsh
ARST ¢ EEr acay Al # ¥ U

a) The constitution is supreme. gfau maftg g

b) The Parliament is supreme. HHE T B.

c¢) The head of the state is elected. IS T HHE IECHER] EBIT-IT gl
d) It is independent in making its own policies. Ig 3T=AT ATIAT
g4 H T&d9 gl

3] Which Haridwar based consumer goods company was
co-founded by Acarya Balkrishna? gRe@r Fua fow
3UHTFAT I FHIAT HT FE-TAIAT 3T STerHsor F & o
a) Patanjali Id=irel b)Himalaya @A

¢)Green Foods =T Bsd d) none of these $?Fﬁl' g El'ﬁé' gl

4]The Parliament can diminish the area of any state as per which of the
following:HHe A=Aaf@a & ¥ Fgsd 3gar R T=T &
ETHT HH HY Tohdl o:

a)Parliament alone3ehol HHG

b) Parliament on the recommendations of PresideutTl‘EQﬁ Ea)

Aroifent @ @Ee



c¢) By Parliament on the recommendations of the President and views of

the legislature of that state. Is¢9ia $hr BHIReAT 3R 39 U= Hr
fau@sr & fGaRt W dde gani|

d) none of theseSF H & HIs Al
5] Water is approximately what % of adult human body weight?d3d&h

AT RN & AN HT oFTHT  fohd=T Ufaerd ol giar 87

a) 30-40 b)85—90 c¢)60—70 d) 20-30

6] Fundamental Rights provided in the constitution are not
enforceable against which of the following: @i # vea #ifo=
HRER Reforaa & ¥ feod Regy o 78 fhe o1 @ &
a)Central Universitiesshg g Fﬂ'ﬂaﬁ@'ﬁ'ﬂ'

b) State Universitiestrsg Tdedfdcared

¢)Private UniversitiesTa=il %ﬁaﬁa@m d)local bodiesEATAT AeT
7] What is Bitcoin?Taeahisl FIT g7

a)animal Al b)fruit el

¢ Jeryptocurrency forceipddr  d) missile ﬁzl?ﬂ?.?—r

8]Which of the following is not a fundamental right? fA==f@a &
¥ Fi9 71 Alfers Jf¥OFR F86 82

a)freedom of speech and expressiondTSOT 3T 31fHegfFa T Tga3ar
b) freedom to form associations and unionsTHIHTL 3R AT
AT T T

c) freedom to assemble peacefully and with arms%ﬁﬁqﬁﬂi
IR AART F TY THT g H TadAAT

d) none of these S p= = Hﬁ? el




9] Who is the vice-captain of the Indian cricket team which will tour

England in June 20257 S 2025 H STolS T ST A drell
ARG fohde &F #1 3U-FHed @i 82

a)Shubman Gill JdHA T b)Kuldeep Yadav iﬁlﬁﬂ' qicd
¢)Jasprit Bumrah JETHd §HAU  d)Rishabh Pant Rwsr 09

10] Under which article of the Constitution the following is
guaranteed? dfaur & g 3Ieoe & ded =g #
TE & 718

a)a person cannot be punished more than once for the same offenceferdT
cafdd # TF & I & AT v ¥ 3w IR ST g
e a1 gehar

b) a person cannot be compelled to be a witness against his own self.
fordr safea &1 T & A%y 19’ 9 & v areg a8
e ST geharl

c) a person cannot be convicted for any offence which is not a violation

of lawfordT =afaa & fFdT 0 3y & v andfr & sexar
ST THAT AT FI HT 3eae = &
d) all of the above 3UqFg HafT

11] Who has written " Elegy written in a Country Churchyard"
" Elegy written in a Country Churchyard" forg=r fordT 872

a)Wordsworth aéﬁaz? b)Thomas Gray UTHH I

c)Shakespear ¥FHMIX  d)Dickens Z&a

12]Which of the following is true in respect of the ninth schedule? idT
FIHE! F HOY H AT # ¥ ST 7@ Hyd '@



a)It contains the power of Rajyva Sabha to make laws for the Schedule

Tribes. SHH TST FAT H HFGRT FAAaal & [T FHAa
g9 ¥ g & TS T

b) It contains the list of Acts/Rules which cannot be declared
unconstitutional even though it violates the Fundamental Rights. SHH

34 FRfAgArETAr & g= & 713 § O smauniEe g1t
81 foham 5T gonar. 9o & 9 Aifow 3fUFRT &1 Ieaua aa
gl

¢)It contains the concurrent listSHH FHAA! E\?-ﬁ' qTHA &

d) none of these 3T H ¥ HIs &l

13] Atmanirbhar Bharat Rojgar Yojana(ABRY) is run by which
ministry? HTcHTAT SRA VIR IIS=T (ABRY) fofe #3009

a) Industry 3?.'\:-51>I?T b) Rural DevelopmentITHIOT fashrd

¢) Labour and Employment #F 3 US#T  d)Finance T&ad

14] The Fundamental Duties in the constitution were
incorporated vide which amendment? @fau= & #Alfcs
Focdl ® fhd T & caRT Tide fohar I/

a)44 b)42 c¢)46 d)none of these S p= e El'ﬁé F-I?T

15] Brahmos missile is a collaboration between India and---? SEATH
Fase ara 3R Fed o ggaer & aRome
a)America3fARFT b)Russia FF c)France BT d)Germany FHAT




16] Which of the following is false in respect of the

President of India? $TRd & USgUid & a9 H [AedAtoidd &

¥ Pl § HAT HEA &7
a)The term of the President is 5 yearsqrsgqfa &7 FIHTS 5 Y & FAT &

b) The President demits office immediately on the expiry of 5

yearsTSgaTd 5 a9 &I HAfY FATT g W I T8 OIS & &
c¢) The President can be removed from office by the Parliament.

ISeUTd Hf THG GaNT U ¥ gCAT AT HohdT gl

d) The minimum age for becoming the President is 35 years.

eeufd g9 & v =g/ 31y 35 av gl

17] S-400 missile defence system has been acquired from which
country? TH-400 TA@EESH & yumelr fg &or & ureq &1 718 82
a)Germany FHAT b)America AT

¢)France SATH d)Russia &5

18] In Rajya Sabha the maximum number of people who can be elected
by the state legislatures isUsd THAT H Tod TUHASH GANT

e 5 a1 aoa arer SfFaal & ifdeds gEar eaer
g?

a)245 b)248 ¢)238 d)no limit IS AT F&r

19] Who was the DGMO of the Indian army who negotiated truce with
Pakistan in operation Sindoor? &RAIT HAT & SIATTH HiT &
Sl sover gy & urfeheae & a9 geufaus arar #r
o




a)General Dass J«a{cl GIH b)General Diwedi JdA{oT Qﬁaﬁ'
c)General Ghai S«{el ‘cTé d)General Singh S{el g

20] Which state government functionary can take part in the

state legislature proceedings without being its member?

&l T T FIHN & UGS Tod FUHASA FHT TeFd o
foeAT 3THr FREAET H AFT o Fhal &2

a)Advocate General HEITUGeFdT b)Chief SecretaryHEH ga
c¢)Secretary General AEE™E  d) none of these S p= e Hﬂ%’ ER

21] Which of the following place 1s famous for its terracotta craft?

Rt & @ Fi G T O T RieT & A sfiey
a)Bishnupur ﬁ"‘?ﬂl‘qa'{ b)Kondapalli HISTTeoll
¢)Cholamandal TrTHSS d)Raghurajpur TERTSTIY

22] The Tungabhadra Project is the joint venture of the
state of Andhra Pradesh and-- H:?TSJET qiATSTAT 37T Teor
U5 AR &1 §IFd 3¢TA B

a)Orissa 33MdT b)Karnataka FACH

¢)Kerala &{ef  d)Tamil Nadu H’Eﬁ?ﬁ-ﬂg

23] What was the system in south India in which women attached to

temples performed various dances and were sexually exploited? Zf&oT
AR H 98 &9 d =gaear df Faa Afey & 351 Afgare
fafeea g FTdr ot 3R 3ae I awor fohar Smar an
a)Devadasi ¢dGI¥ b) Monadasi HAGIH

c)Sisitvar f8T8AX  d)Swaramaka TIIHST



24] Cuttack is situated on the banks of which river? ohceh g acr &
de oX feua &

a)Mahanadi #gTI¢l b)Narmada a_-lﬁE.T

¢)Krishna HSUTT d)Godavari INETELr

25] Gopi Krishna is an exponent of which indian classical dance? 3TTdT
F0T fhE ARAT AT T F ufaues €

a)Bharatanatyam ${d«cgd b)Kathakali el

c)Kathak h¥eh d)Manipuri ﬂﬁTTff

26] Moradabad in U.P.is famous for which of the following? 34T G2l
A IREETE T § O e e afey &

a) hosiery W b)brassware Gidol & FdeT

¢)locks dTel d)leather goods gas & GiHEA

27] Who was the person who effected major revenue reforms during the
time of Akbar? 3HSX & FAF H YHT T FUR fFaa am
Eu

a)Raja Man Singh RajallslT #TT f8@8 b)Raja Todarmal TST SISTHT
¢)Mian Asif AT 3fA® d)Sheikh Monudin 2@ HI
28] The Nanda Devi mountain peak is situated in which state? =eT &dr
gad frex foem o7 A e @

a)Himachal Pradesh T@ATIS WSl b)Uttarakhand 390ES

¢)Jammu Kashmir SFH FHR  d)West Bengal giRgH e

29] Who is Arzumand Bano better known as? 31??:!3' g TR A
¥ ufdey &

a) Nur Jahan Fj:-{GIBTU b)Mumtaz Mahal HHAdTST Hgel




¢)Gulbadan Begum J[eldcel 99717 d) none of these S4H ¥ El'ﬁ'é' el
30] Which river is called the Dakshin Ganga?ﬁw_\q' AT &I EeuT I3
el ST 87

a) Narmada =THeT b)Krishna 0T

¢)Godavari MG d) Cauvery &HTar

31] Vijaya Stambha in Chittor was erected by whom? IEGIER:BEEE]
EaFA fohEs garT S9am™r a7 A

a)Rana Pratap TIOTT Hd9 b)Rana Sangha IO T

c)Rana Kumbha 0T $FAT  d)Rana Sangram JT0TT qaTH

32] Which state in India has the maximum deposits of Gypsum? #HNd
# SowF & AfOFaH 83K Fg T 7

a)Maharashtra H8{I®¢ b)Haryana gTToT

c) Gujarat [T d)Rajasthan JTSTEUTA

33] Which of the following persons invited Babur to overthrow Ibrahim

Lodhi? Am=afaf@a # @ fow ==feg 7 saifgw el & 3@
el & foIT SET FF 3AETET A am

a)Daulat Khan Lodhi Ziad @ el b)Miraz Khan #I< T
¢)Shaukat Khan efeha @1 d)Masud Amin HHG AT
34] Gobind Sagar Lake is a reservoir of which project? Mfdeg PR
sfrar forg afiEi=aT &1 ST &7

a) Hirakud gRT$s b)Rihand &g

c¢)Bhakra Nangal $TT@3T Aol d) Kosi AT




35] Which of the following kings was famous for his

economic reforms? Feafai@a # & i I1 TS 39S 3AS
guri & ferw ufdey am

a)lltutmish FeATHL b)Alauddin Khilji 3eT3cila &er=i]
c)Masud Shah HHE AE  d)Razia Sultan o godl

36] Dhauladhar range of mountains are in which state? e gag
FGT e 57 7 &2

a)HP. T9.9l b)JK. I.% c)Rajasthan TIEATH d)M.P. TH.UT.

37] What was the capital of the kingdom of Qutubuddin Aibak?
Hdgeal Useh & Uod @l ToTdm=r &1 A1

a)Delhi f&&elT b)LahoredBIX  ¢)Agra3FRT d)SialkotfRAToRIE

38] What is the approximate mean distance of the sun from the earth in
kms? 92T & F & HEa g ey & s fhaer &2
a) 1 59 600.000 b)1 37 600,000 c)149600000 d)155,000000
39] Which muslim invader looted the Somnath temple? Ea:] sgﬁ?m
HTHAUTRRT o AT AfGL Hl e

a) Mohammed Ghazni ﬁ'l%?-_ﬂ?" ISAAT
b)Mohammed Ghori H)IBTH?.‘I IRT ¢ )Mohammed Shah EFﬂBFFlE A8
d)Mohammed Akram IFI’IFRE’ HhI{H

40] Which is the shortest day of the year in the northern hemisphere?

3 Mo A IY FH FEH OleT G HiA T 82

a) 10/12 b) 15/12 «¢)22/12 d)26/12

41] Who was the Buddhist religious guru of King Ashoka? 4T 3 e
& shqy uifd® 7% B O




a) Mahagupta HEI?[*d b)Upagupta 397[Cd
c)Srigupta ":ﬁ?lrrf d)Sivagupta f@lT:I?I‘FI'

42] What is the approximate speed of light in kms per second? WehI?l
&1 1fa SETerar fehaltaTeY ufa @ & fRa=r &2

a) 150 000 b)2 00000 ¢)250000 d)3 00000

43] Who was Trishala? TR @ia o

a)wife of Mahavira#gIaI{ &l Tl

b)mother of MahaviraHgTaIX chr AT c)mother of Ashoka 372Te T AT
d)mother of Chandragupta Maurya EIBF'IW—[ A fir AT

441What is the approximate diameter in lakhs kms of the sun? '\Tﬁ' T
AT o el & orear fohaar €2

a)l8 b)20 c¢)14 d)10
45] Which is called the Red Planet?elTel 3§ g el 1T 8?2

a)Venus Yeh b)Saturn orfr ¢ )Jupiter Q_%TCIﬁf d)Mars HITT
46] Which is called the Red Planet?elTel 3§ g el 1T 8?2
a)Venus Yeh b)Saturn orfr ¢ )Jupiter Q_%?FCI% d)Mars HITT

47] Which Greek Governor was posted by Alexander to look after his
North West India territory? T8@&hey & 39« 39 99T OARd &7

FI @ & forw foFg T e & fAgea e am

a) Megasthenese BIETAIS  b)Nearchus AI=d

¢c)Ptolemy CTolAT d)Seleucus Nicator @Fﬂjh_\q fAeheT
48] How many verses does the Mahabharata contains? HgTsRa #
foraer ealte &2

a) 200000 b) 150000 c) 100000 d) 75000

10



49] Which of the following was the port city of Indus Valley
Civilisation? =i @a # ¥ &9 F@?{ HTer T &l S6eTg
AL A1?

a)Alamgirpur BHWW b)Banawali =Tdeil

¢)Lothal SrereT d)Ropar K

50] Hiuen-Tsang visited India during the reign of --gd=-c@19T # T&hash
MDA H HNA T GRT ohaT &M

a) Harshavardhana B"ﬁﬁé}lﬂ b) Ashoka B EIED

¢)Samudragupta HHGId d)none of these EFFJEI' 2} H'ﬁé' Tar
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English Language --D
Fill in the blanks with the most appropriate option.
51] Alok is afflicted ----leprosy.
a)in b)at c)with d)on
52] He has an aptitude ----geometery.
a)in b)with c)at d)for
53] The new officer has taken charge ----the office.
a)of b)in c)with d)to
54] | have access ---all vital information.
a)of b)to c)for d)about
55] There is no respite-----the heat wave.
a)in b)with c)from d)at
56] Ram has made himself indispensable ----the organization.
a)in b)at c)with d)to
57] The shopkeeper is very honest ----his dealings.
a)with b)at c¢)for d) in
58] The man eater tiger has become a menace -—-the village.
a)in b)to c)within d)from
59] The law prohibits ----driving on this lane.

a)to b)from c)at d)towards
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60] The child is destined ----bigger achievements.

a)in b)with c)at d)for

61] The officer was apprised ----the facts.

a)of b)with c)at d)iin

62] The forest is infested ----wild animals.

a)with b)in c¢)for d)to

63] There is no incentive ---work hard in the organization.
a)in b)with c)for d)to

64] The convict ----to the judge of the crime he had committed.
a) told b) expressed c)confessed d) exclaimed.

65] Her --- attitude resolved the dispute.

a) obstinate b) peaceful c) conciliatory d) indifferent
b66] Arrogant people are -----in nature.

a) hateful b) aggressive c)condescending d) humble
67] Environment can be saved only by -----.

a) citizens b) people c) conservationists d) experts
68] Ramesh was ----- for his misdeeds.

a) guilty b) contrite c)resentful d) dishonest

69] His ----—-is poor.

a) honesty b) credibility c) compassion d) none of these
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70] He was —---by the high expectations of his seniors.

a) afraid b) daunted c)excited d) challenged

71] The chef used the knife with great -----.

a) dexterity b) poise c)dexterity calm d) none of these
72] The old fort was in a ----- condition.

a)dilapidated b)worse c)weak d) none of these

73] Ashok jealously is evident from the -----remarks he makes against
Ram.

a) critical b) adulatory c)dexterity d) disparaging

The following questions relate to spelling test. A group of words are
given which can be replaced by one of the words given in the options.
You have to choose the option with the correct spelling.

74] to question someone for a long time to get some information.

a) interrogation b) interogation c)interregation d)interrogetion
75] to spend a lot of time examining one’s thoughts ideas feelings etc
a) introspaction b)introspection c) introspestion d) intrespection
76] to receive unmanageable quantity of requests demands etc

a) ennundate b)innundate c)inundate d)enundate

77] unable to resist

a) iressitible b) irrestible c) errisstible d) irresistible

78] a child not old enough to be an adult
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a) juvenele b)juvanile c)juvenile d)juvenale

In the following questions the sentences have been divided into various
parts. You have to choose the part on which an error occurs. In case
there is no error choose d.

79] Delhi is further than (a) Chandigarh which is the(b) capital of
Haryana.(c) d.

80] She is worried because (a) she does not have some money (b) to
buy a new refrigerator.(c) d.

81] The thieves entered the(a) shrine from the outermost gate (b) and
decamped to the hideout.(c) d.

82] Every member of the (a) family is addicted with drinking (b)and so
is my brother. (c) d.

83] Many sheeps (a) are grazing in (b) the meadows.(c) d

Read the passage below and then answer questions 84 to 90 which are
based on it.

For far too long the western powers and multilateral agencies have
been greatly wanting in their concerted efforts to censure Pakistan in
sponsoring cross border terrorism. Pakistan has been overtly funding
terrorist organisations, providing infrastructure support and using them
as a tool of military empowerment. Many Security Council Resolutions
castigating Pakistan for its nefarious role have gone unheeded primarily
because of the geo-political interests of the major super-powers like
China which has been an all weather friend of Pakistan. China has
gained control of extensive land of Pakistan to facilitate it exports.
Thus only cosmetic counter terror measures have been taken by
Pakistan. Much of its efforts in this direction are merely an eye wash.
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It is unfortunate and disastrous for Pakistan not to concentrate on
economic development, raising agriculture production, controlling sky
rocketing inflation, eradicating mass illiteracy, improving law and order
facilitating foreign investment etc all of which would strengthen
Pakistan and ensure better quality life to its citizenry. In contrast India
has focused on economic empowerment of its citizens, providing world
class education which excites intellectual pursuits, controlling inflation,
better infrastructure development improved law and order condition
and with incentives for foreign investment etc all of which have made
India amongst the fastest growing economies of the world. Pakistan on
the other hand has become a Frankenstein monster. It has

unnecessarily and unjustifiably generated a false existential narrative
blaming India. Its military which has explicitly and implicitly ruled the
country since inception has created an anti India paranoia. This seeks
to justify and legitimize the huge budget allocation and regal lifestyle of
the military personnel in the name of security threats from across the
borders. Moreover Pakistan has sought huge international funding
ostensibly to fight internal terrorism which is a by product of its myopic
policies of enriching punjabi muslims most of whom adorn the army.
The rest of the society has remained largely marginalized. Balouchistan
which is the largest province in Pakistan rich in mineral resources has
been unjustly exploited for decades. Whereas it has earned huge
foreign exchange it has continued to remain the poorest and the most
backward of all the provinces in Pakistan. It naturally feels victimized
and discriminated against. This has led to the formation of the
Balouchistan Liberation Army which has been carrying out multiple
military attacks on the installations and military personnel of Pakistan.
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Additionally it is now clamouring for complete independence from

Pakistan.

84] What should be the heading for the passage?
a) Pakistan—a failed state.

b) Problems of militancy in Pakistan

c) Pakistan and terrorism

d) Policies of Pakistan

85] What is the most important reason for Pakistan not to heed to
international resolutions?

a) The unconditional support of China

b) The aggressive attitude of the Pakistani army

c) the internal problems of Pakistan

d) none of these

86] Why has Pakistan created an anti —India paranoia in the country?
a) It is a harsh reality which enables the country to get huge funds

b) It justifies the huge budget allocation and regal life style to the
military personnel

c) It prepares the population to be vigilant
d) none of these
87] Why is Balouchistan clamouring for independence from Pakistan?

a) It has been unjustly exploited by Pakistan
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b) It remains very backward

c) he population is poverty ridden

d) all of the above

88] What is the meaning of clamouring as used in the passage?

al] to request peacefully and silently b) to fight aggressively
c) to demand something in a loud and angry way d) to speak with logic

89] What is the meaning of paranoia as used in the passage?

a) an unwarranted feeling of fear and suspicion

b) a justified reason of fear c) a state of high mental alertness
d) none of the above

90] What is meant by the Frankenstein monster?

a) a devil incarnate b) a foolish policy
c) a creation which ruins the creator d) none of these

Given below are some idioms and phrases. You have to choose the
correct option which explains the meaning.

91] a taste of one’s own medicine.

a) receiving the same kind of treatment which one has given to others
b) a bitter medicine c) bad behavior d) none of these

92] a small cog in a machine.

a) a useless item b) a joker c)a novice d)an unimportant personina
department
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93] the icing on the cake

a) cream on top of a cake b) a steep hike in salary

c) an additional happy and positive development  d) none of these
94] the writing on the wall

a) good development about to happen b) a forewarning of some
unpleasant/bad development c) a concise/precise statement
d) none of these

95] Dutch courage

a) courage to face a moral crisis
b) moral strength given by parents to children
c) courage got in a state of intoxication d) none of these

96] cold comfort

a) poor consolation b) comfort in winters
c) comfort by giving money  d) none of these

In the following questions choose one option which exactly defines the
words given in the question.

97] study of election trends

a) Psephology b) Elctrology c) Siesology d) none of these

98] a person who is strongly against established norms and traditions
a) Apostate b) Iconoclast c) Rebellionist d) none of these

99] a person who has keen interest in food and drinks

a) Connoisseur b) Gourmet c)glutton d) none of these
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100] government based on a particular religion

a) Oligarchy b) Plutocracy c) Theocracy d) none of these
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Answer Key —Paper 2 -D

1]
2]
3]
4]

5]

10]
11]
12]
13]
14]
15]
16]

17]

d

G

d

18] ¢

19]

20]

C

d

21] a

22]
23]
24]
25]
26]
27]
28]
29]
30]
31]
32]
33]

34]

b
a
a

Cc

b
b
b
b
C
C
d
a

Cc

35] b

36] a

37] b

38] ¢

39] a

40]
41]
42]

43]
44]
45]
46]
47]
48]
49]

50]

C

b

d
b

C
C

d



51]
52]
53]
54]
55]
56]
57]
58]
59]
60]
61]
62]
63]
64]
65]
66]

67]

68]
69]
70]
71]
72]
73]
74]
75]
76]
77]
78]
79]
80]
81]
82]
83]

84]

d

85] a
86] b

87] d

88] ¢

89] a

90]
91]
92]
93]
94]
95]
96]
97]
98]
99]

100]

Cc






